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- Mol 2 30,000& «12& 360
-SHINEEE 2 100,000& *23| 200
—20IHHIAIAE 120,000 * 128 1,440
B S 22 J|gt =4 3,589,519 3,132,975 456,544
= 862,500
J| 595,500
= 2,131,519
sgtstsiedy 609, 540 737,296 N127,756
201 B2 IH| 510,257 533,076 N22,819
02 =329l 510,257 533,076 N22,819
O332=2 % HMA 344,269
—-gJ|E8 = 286,095
-S| AI=E 58,064
—AgE) AY D FMEES
321,470,000& x0.034% 110
OAIE&HI X Y] 165,988
—AMEBRHSNES
440,000, 000& *2.27% 9,988
-8/ FH| 1,250& 180 Al 2+*240L 54,000
- DR =INE=Et ] 6,800,000,000& *1.5% 102,000
206 M= 2,000 2,000 0
01 =4l 2,000 2,000 0
OadtetslissdIIESS 2,000
405 KH&HFSH] 97,283 202,220 104,937
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HE: A% (1S I8 25
o BE OIS A OlY EY Rk
_ _ _ Muo
K- Z3 . S2(3H) - MPAY - B Y= Ao Sl ko HRs2
01 MMUSEFSY] 97,283 202,220 £ 104,937
OAYEIISBEE 89,943
OFBUAYTE 22 HY| 7,340
-gleE sA 3,700,000& * 14 3,700
- gl 250, 000& *4J4 1,000
-¢Zets 150,000 * 114 1,650
-2nY 135, 000& *4H 540
~EUE MAAMI| oI
450,000& 1K 450
AFHE B2 63,979 14,479 49,500
201 L2yl 9,055 9,555 A500
02 =294l 9,055 9,555 A500
OZRENED 29 9,055
— A& &Hl |4l 9,055
AERAX 2,200,000& * 104 A& 2,200
CHER AA BH X
114,244,000 & *6% 6,855
206 TEbl 3,924 3,924 0
01 MZ 4l 3,924 3,924 0
OSSHANE 2YLNSE 3,924
—AEEYLES 7,700&x3001 122 2,772
— A A M 202 M = R
5,000 x6o =123 360
— AT A A 02 0101 9l 0]
11,000& 6« 12& 792
401 AEHIL20 50,000 0 50,000
01 A&l 50,000 0 50,000
OoEAER 2l2ed 50,000
405 XH&HF SHI 1,000 1,000 0
01 TMUSEFSY] 1,000 1,000 0
OUFAEZ SHSE 1,000
SHHEME X 300,000 0 300,000
2 150,000
= 150,000
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405 KHaHE S| 300,000 0 300,000
=2 150,000
= 150,000
01 M ESHSHI 300,000 0 300,000
O0lstENE &7 300,000,000 = 1CH 300,000
= 150,000
< 150,000
M9 HH &= 1,085,000 738,300 346,700
= 542,500
& 542,500
405 KHaHFE S| 1,085,000 738,300 346,700
= 542,500
= 542,500
01 =S HSHI 1,085,000 738,300 346,700
O11972 T &l &= At 1,085,000
= 542,500
& 542,500
T Y 1,191,000 344,000 847,000
| 595,500
& 595,500
405 XH&HFESHI 1,191,000 344,000 847,000
J| 595,500
= 595,500
01 T =ESHSHI 1,191,000 344,000 847,000
Oo+72x s 289d=2Zl 1,191,000
J| 595,500
& 595,500
HEIAZBIREF=AHTHIEZ 140,000 70,000 70,000
= 70,000
& 70,000
405 XH&HFSHI 140,000 70,000 70,000
= 70,000
& 70,000
01 T =ESHSHI 140,000 70,000 70,000
OUHIAEH & S=A2EH 22 140,000
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SN @SRED
=L EPT I T
o BE OIS A OlY EY (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
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HRY S3ds Xt NH 25 200,000 1,200,000 21,000,000
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= 100,000
405 THHHE SHI 200,000 1,200,000 21,000,000
= 100,000
< 100,000
01 TR EEFHSHI 200,000 1,200,000 21,000,000
QW SsdZXteE Xd 2t 200,000
= 100,000
== 100,000
HE AL (ESAZ 1) 160,844 124,200 36,644
Jl=3&Hl 160, 844 124,200 36,644
Jle=3| 160,844 124,200 36,644
201 L3 49,244 38,700 10,544
01 AtR2teltl 49,244 38,700 10,544
OJl2+2H| 21,944
OJI2=&Hl 27,300
202 Oddl 98,800 85,500 13,300
01 SLHAHbI 98,800 85,500 13,300
OJ1=20H| 98,800
405 XH&HFE S| 12,800 0 12,800
01 Xt =SFHSHI 12,800 0 12,800
OgsEY 10,800
-ANEEFRH 1,200, 000& *5CH 6,000
- AMNERE ZelHI| 1,000, 000%3CH 3,000
- BAEED| 600
—&te2=0| 400,000& »2H 800
- A3 400
OLECIoHM X & 2t 2,000
— HEE D) 2,000
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ool BRSS! (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ETFSREALYA 12,248,678 11,535,023 713,655
= 49,755
& 12,198,923
SEAYN AgeiAs 1,972,400 1,774,257 198, 143
= 49,155
= 1,928,245
s¥lis&s 1,707,740 1,513,827 193,913
= 49,155
& 1,658,585
L2 EALEH R 2 580,308 474,567 105,741
201 Let3| 544,891 443,327 101,564
01 At 2teld] 880 800 80
o=z 880
-UWSelHXSN Xt 440,000 *23l 880
02 22224l 544,011 442,527 101,484
0232232 & HA 323,198
—NAEI HIIEAM 120,000 *74CH 8,880
- S&IEA =2 3,226
- HIIH A 63,0003 »22= 1,386
- AP A 40,0003 x22= 880
- HE Y SO AL 8,000& x120= 960
—gsAE U CHY ABE
70,000& 122 840
R =N 100, 000& 2004 2 2,000
-—SY¥3¥ A 1,000, 000& =171 1,000
—&ot=ER3 36,383
-NHIIRS 116,204
e R=3=1Fa = 89,927
- UBIMESIAIEZ 26,963
-228sANEZ 20,0003 2L =12& 480
-0ISHIANEZ 50,0003 x16CH = 12& 9,600
—SZMNEREZ 13,435
= 881,454 3 x23] 1,763
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- o= T ° - (= (=3 =5 0:”/.:"%
- X=Xt 5,835,753*23] 11,672
- XNLMESHEBI(ES, 2, 2AH)
1702 +7,405H =0l & 1,259
—&JIZHIetdE A= 1,900
- 2A, MM 150,000 & *9IH 2 1,350
BN 50,000 = 11CH 550
-DERURYI(2M,22)
3503 +6,329M =01 & 2,216
=P el PSS ReE R = 220,000& 128 2,640
-SINFINBAE 150, 000& *13] 150
—&ojerM el = 315,370~ 128 3,785
~BIBHI BIH2A 42
330,000 7CH 2,310
Od=H| 120,390
-22d 1,325& 1102 *x22. 2L 10CH 32,357
- Xauz 1,309 x 110 15, 47L*17CH 37,868
— At A D]
1,309 x 110 x17.45L+13CH 32,665
- FUAE FHAAZHI 13,500
- 2M 250,000& x12& 3,000
- QM HIEH 125,000 *7 I A 12 10,500
== P W= INL: ] 100, 000& *40CH 4,000
OAl& &I XYl 100,423
- IRRZEHY| 23,000 *110CH 2,530
- sE A YA 110,000 *14CH 1,540
-SHEE 350,000 =4CH 1,400
- 1197 A T &H| 1,000,000 *5H E 5,000
-3 =EdA, SIIEEDI
300,000 *12CH 3,600
- RHEIIFXHI(275=2) 17,160
&K= 1,500, 0003 *22= *6% 1,980
-0l , J5U= 1,000, 000& *253= *6% 15,180
- SN LE Z2 R Y| 300,000& *10JH & 3,000
- 24HO0IE RX2tel
100, 000& *769CH *6% 4,614
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SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
—wEsx el 50,000, 0003 *6% 3,000
—2UgFZAIAE R 2
232,033,330& *6% 13,922
-CCTV SN E=HI(22M .22, 2E &)
5,000, 000 *3H 2= *6% 900
- A= S Al 20,000
—EMHO0IXI= X 2celdl 200,000& x12& 2,400
- =4 4,357
=Xl 3,000,000& = 1CH 3,000
=S4 1,325% %1,024 A1 2t 1,357
— KN EHEAI A F X Y| 12,000
-9 E20I8 S FHI24
250, 0003 204 2~ 5,000
307 QI2t0IA 35,417 31,240 4,177
05 GIZtREZ 35,417 31,240 4,177
OFANEAEH 35,417
2RI EF A2 301,828 258,170 43,658
201 Y2yl 301,828 258, 170 43,658
02 =224 301,828 258,170 43,658
O2223 ¢ HA 25,813
— XS XHAl 470,000& »2CH 940
-NSIUEEE 21,822
A2ESE 211,910 = 1CH 212
=S58 478, 1803 »2CH 957
L2ESE 512,820& *13CH 6,667
=gt 411,580 = 1CH 412
ENS=APNS 277,4003 »43CH 11,929
=40| 145,000 1 CH 145
2N A 1,000,000& = 1CH 1,000
Edgd 500, 000& *1CH 500
- XEASSAZ 2,475
-b5E0l & 25,0003 *36CH 23] 1,800
- 50| et 25,000& »27CH 13l 675
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5 o SIEN
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
S EETE 576
R A 19,800 *21CH*13] 416
REEN 39,8001 #4CH 13| 160
OxFes & Bl 276,015
-r858 6,269,000 +1CH 6,269
-s8s8 7,080,000 *2CH 14, 160
oS-I 2,714,002 20 5,428
—A85E 3,012,0002 *2CH 6,024
-3 4,747 00024 *12CH 56,964
R pIEE 4,980,002 %3CH 14,940
~shet 8,318,0002! *2CH 16,636
—moy 3,983, 00024 +34CH 135,422
~PEx 4,980, 00021 #2CH 9,960
~PEXFHA 7,200,00024#1CH 7,200
—Ed 2y 3,012,00024 *1CH 3,012
AYHAS Y 20,300 13,200 7,100
201 LPr2y| 16,300 9,700 6,600
01 AFR2elt] 3,700 3,400 300
Oger4gY| 3,000
—STAUTY OHF L 4o
00,0002 %1074 2 3,000
O2Y+y 700
—EXASA AARIRSY
70,0002 +22 x50 £ 2 700
03 A2 12,600 6,300 6,300
OBHH 0210l AoIEDA 29 6,000
O119£42EQ0Hs] L HEHMAR 5,000
01194 24 1,600
01 YsrBAZ 4,000 3,500 500
10 BAAHIZ A3 2,000 1,500 500
OAgold A I 24
5,00024+150% * 141 750
ONONER &IIXH B4 5,000 %1502 14 750
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SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o bRz
SEEETT] 400
2 400
sy el 508,950 497,717 1,233
IETEIN 508,950 497,717 1,233
olgay 508, 950 497,717 11,233
ORI =8 60, 100
-nss 1,200,00024 10 12,000
— Cyst Ay 1,300, 00021372 48, 100
Oss+% 33,0002 ¥940% #1235 372,240
o= 81, 50021 425 +0402] *25% 76,610
g ABKR 31,490 31,490 0
307 I2t0lH 31,490 31,490 0
02 QIHFARE 31,490 31,490 0
OoBAYN HESZ 31,490
HEESsY 149,694 136,899 12,795
201 L2yl 144,894 132,099 12,79
01 AR el 112,974 107,111 5,863
Ogersgt| 1,000
~ ASEHOHL BRI 1,000
O2gsg 2,080
~ ARG 2,080
EEmE 130,000% x224 43| 1,040
AYRT Y SIHILS
1300009 224 43| 1,040
OEET 22,064
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—ANNY e ERY 30,0002 162 4,860
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SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
405 XH&HESH| 16,500 15,400 1,100
01 XA ESESH=HI 16,500 15,400 1,100
OMEII(E2) 400,000 = 1CH 400
O=2&IIHIS 5,000,000& *1ANIE 5,000
OHAI(BL,E2) 200, 000& »2CH 400
ONEdHte) (Y S22, 29, 2HA)
2,500,000 4 Al E 10,000
OgaitId (2N, 22) 350, 000& »2CH 700
Ay B2 264,660 260,430 4,230
EALAIE E HI 17,990 82,800 A64,810
401 AIEHIZSOHI 17,990 37,800 219,810
01 Al&HI 17,990 37,800 219,810
OUSEELZLEX(ER) 2,500,000& =14 2,500
OREAHIIXZ0IH (312, 2HA)
2,000,000& *204 2 4,000
Oth=2 &XI3AH(U=) 6,490,000 * 104 2 6,490
O AICCTVAXI (22]) 5,000,000& = 1CH 5,000
LY AIE 2 51,460 41,350 10,110
201 Lt 6,460 6,350 110
01 AtR2teld 6,460 6,350 110
OAlEEbBI= Xl 6,460
—AYE 2L 20,0002 64601 A +1/2 6,460
401 AIEHIZ =0 45,000 35,000 10,000
01 AlI&HI 45,000 35,000 10,000
OastdAH 3,000, 000& *5J4 A 15,000
OAstdE 2,000,000 * 1504 2 30,000
LU EH EE 141,510 136,280 5,230
206 THZHl 62,420 60,700 1,720
01 Xz 4l 62,420 60,700 1,720
O3St & & A 3t 2F Al 1,100,000& x20= & 22,000
OgAU=0tAT 200,000 *304 6,000
Ogstzds 15,000& 100 1,500
OFsSktELS 20,0003 *12CH x24 3] 5,760
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ODHFZ A HE 80,0002 *30K| E 2,400
OFSHBULEHR 15,0002 *12CH 43] 720
OT19ENT(8) Dets 22
1,000,000 %574 2 5,000
OMARMSI T 20,0002 * 12CH 1,440
401 AlEHIL 20 3,000 26,000 £23,000
Al bl 3,000 26,000 223,000
OFLADH AL S &5 3,000
—20 PERY| 22 600, 00024 *57H £ 3,000
405 XrarE S 76,090 49,580 26,510
R LS EH S| 76,090 49,580 26,510
O A L& b 34,450
—ARR UE BAAY 4,400,00021 274 8,800
—gy REFY 242,0002 1074 4 5} 2,100
-~y &2 77,0002 1074 A *5H 3,850
—AgsA 77,0002 %100 7,700
— Q1| S AIRHE 200, 0002 *10CH 2,000
ORZEFY| 9,000
-SHE BL=(S72.271)
3,000,000 x34! 9,000
OF2FY| 2,780
- FSANE(PSIH20)
40,0002 * 12CH *4 K| € 1,920
-EFA 208 B00(22)
860, 00024 +1CH 860
ONBISAPZUHSYSE 1,760
Sk 44,0002 #4001 1,760
OAAIE FAFUI(FAA)
2,000,0002+1 I € 2,000
OPDA(LZZAIE) 500, 00024 #1CH 500
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S A
X XH .
(=

chel:

S CRI(SH) - HRAY - B sl e HlRE2
OFUHERHEIFY 800,000 154 12,000
ONNBSEdMH(XE) 5,000,000& = 1CH 5,000
OUSESAZIN(LE) 1,000,000& 1Ml E 1,000
OFUE2AIH2 (%) 100, 000& 364 3,600
Ot & 2 o)
200, 000& 204! 4,000
A9 M EIEH JHA 53,700 0 53,700
405 KHeHHE SHI 53,700 0 53,700
AR E S H S 53,700 0 53,700
O=cl 4190 M MY 53,700
i FH(HFES2LUN 10,054,878 9,533,966 520,912
= 600
= 10,054,278
I 9,777,814 9,272,856 504,958
= 600
& 9,777,214
2l 9,777,814 9,272,856 504,958
= 600
& 9,777,214
101 el H] 8,802,914 8,348,946 453,968
=2 4,455,750 4,257,458 198,292
Og=H 4,125,694
— A 4,105,165
LHE 3,320,400 x1H x 123 39,845
E= IS 2,957,200 x3H x 12 106, 460
A 2,518,000 x8ZH 123 241,728
A= 2,246,6002 x13H x 12 350,470
AEE 1,984,300 x54E 123 1,285,827
Eny=Aam 1,622,300 x84 H «12& 1,635,279
DAL 1,160,300& 32 128 445,556
-JlsA 20,529
8= 1,710,700 x1E « 123 20,529
O&2=+¢ 4,125,694,000% / 128 »48%*23| 330,056
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SN HESRASA
B HESAAY (HESRAYUA)
chel: ol 2yl (crol &2
SA BB CR(SH) - NRAY - A S Ol o e 2t
022 =% 2,418,437
Oxz=2F=¢ 1,695,036
—Az2te 224 994,007
-2 Rg 494,206
-5dZ2f=E 206,823
OFus¢ 723,401
-IIE4 186,960
bH < Kt 40,000 x162ZF x12& 77,760
A EHIS 20,0003 455 12 109,200
- NESHIE R 58,134
st (12X) 51,4003 »41%H x43| 8,430
NSstu(1=2Xl) 420,790 26 x4 3] 43,763
nsstu(e= 371,290& 4 #43| 5,941
-S0s&=Y 500,000 x 1«12 6,000
- d2EIH3 185,280
254 0| & 130,000 x22H » 123 34,320
- 20~25 0] 8t 110,000 «36H x 12 47,520
- 15~20E 0] Bt 80,0003 x64H 122 61,440
- 10~154 0] 8t 60,000& 30 122 21,600
- 5~10& 0 ¢t 50,000%34Z «12& 20,400
-2 117,000
=4S 50,000 x195F =12 117,000
- AsxH2dYH = 1,440
1SUHEAK 40,0003 *3H x 123 1,440
—DIAAR G 30,000 x5« 123 1,800
—HMAR G 360
- 1~34 0] 8t 30,000 x1H~ 123 360
-t &t 80,0003 169 122 162,240
—2e| PR 3,321,000 *9%*1H 12 3,587
-QHISRASY 50,0003 1H«12& 600
03 HHZAlH| 305,760
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BESRAUN
HYSS Y (HFSELLA)
o121 2 bl (et9l: &2
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES 0 At of Hlus2
SEEL 130, 0002 *196% * 122 305, 760
04 wWESExH| 292,200 282,000 10,200
022 g 140, 00021 *42 » 12 6,720
OFA== e Iy 130,000 «75H x 123 117,000
O, A 120,000 *116H * 123 167,040
OJIs&(8=0I3t) 120,000& 18123 1,440
05 HEFOHYI 412,570 395,430 17,140
O&=H 4,125,694,000% /12 x120% 412,570
06 JHAIXI&H] 688,991 660, 368 28,623
O&=H 4,125,694,000% *16.7% 688,991
07 SAII2 4| 229,206 219,684 9,522
OEEY 4,125,694,0002! / 122 1/30+202 229,206
203 Y=Y 66,140 59,250 6,890
= 600
= 65,540
01 JI22ggRFd 14,800 12,400 2,400
OxgME 4,400
Ot HIE & 1,300, 000& x8H 10,400
02 FJAINHRFA 7,540 7,070 470
OZ A AL & 2| 6,940
L E PSSR 600
2 600
M SASYYLEIY 43,800 39,780 4,020
OFEg, 29,22 &2l EME
350,000 #44 A% 12 16,800
OASSET WERX HENSH B,
22 U4, QEOEME S22, 22X
250, 0003 94 A % 12 27,000
204 FRLHAY) 908,760 864,660 44,100
01 MMSHR=HAH 20,400 19,200 1,200
OxgME 400,000& 1H«12& 4,800
O 100,000 3 »12& 3,600
OCtEMEH &, 220 100,000 *10H x12& 12,000
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SN HESSAUN
HH: A (BESEAYUN)
el ol 2ol (5 &2
SN EHB . O2(B) - NRAY - BAS Ofl &k o8 e HRZ2
EEEET 291,000 281,940 9,060
OAYH 400,000+ 1% * 122 4,800
O 250,000% +3% * 122 9,000
0239 155,000 %2124 *122 39,060
O2YE 40,0002 ¥542 122 90,720
OAR, A 105,000 *1162f » 122 146, 160
0715892 105,000 %124 +122 1,260
03 SHYULLHBSY| 597,360 563,520 33,840
Otg 2| 50,0002 * 18281 122 109,200
O sy 170,000 * 1942 » 122 395,760
OREPZESH| 100, 0002 +77% + 122 92,400
ol =2 277,064 261,110 15,954
2 277,064 261,110 15,954
201 LPr2y| 113,064 107,440 5,624
01 AFRzelt] 110,064 104,440 5,624
OJl=48H| 29,304
o2gysg 39,180
- Y=y 39,180
STEE] 30,0002 283 11224 6,720
Rl 30,0002 %2 *3652 21,900
HHEREY 20,0002 22§ x2192 8,760
L gREY 30,0002 #1124 +602 1,800
OBIE=ET 41,580
00 ZZ=2YY 3,000 3,000 0
OZZ22 2 AA 3,000
-HEsE 50,0002 * 128 1,800
~SMS2RES MHIA 248
100, 0002 * 128 1,200
202 01l 128,700 121,600 7,100
01 =Lioit] 128,700 121,600 7,100
021 01| 128,700
405 RrAHESH] 35,300 32,070 3,230
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SN BENSAYN
HE: NSRAYNAYALS
ool EEGS A5t (9l &8

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
HENSLYAM 8,340,193 7,585,313 754,880
= 44,027
= 8,296, 166
NS AR5} 1,213,972 1,055,040 158,932
= 43,427
= 1,170,545
SdEUsS 23 986,282 871,985 114,297
= 43,427
= 942,855
AYHA Y FHIRXBE 339,408 312,607 26,801
201 B2y 308,278 281,477 26,801
02 =32gH| 308,278 281,477 26,801
OZ222=2 <2 HMA 182,973
-0eEI| HIIZE A 120,000 *35CH 4,200
—R2&INEA =2 3,090
- I AL 63,000& *30= 1,890
- AP A 40,000& x10= 400
e R 8,0002! *100= 800
~gsAE U SO ABE
70,000& x12& 840
-dSHA 100, 000& 6 2~ 600
-SY3FEAN(2A) 1,000,000& *12| 1,000
- MOl ER23 11,025
&= 38,588
-NEg3H= 51,207
A=l PN == 30,996
-0ls&ESAES=S 50,000& x17CH =122 10,200
-SHENEREZS 9,899
Pt 356, 090& *x23| 713
EPNE=DN 4,592 ,530& *23| 9,186
- XN MHE S M3 I
170& x4, 118.6M = 0l & 701
—MI|EHItMEAHS 1,000
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SN

HEND LA

HE: NSRAYNAYALS
ool SRS st (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
=N, O HME] 150,0002! *5H 2 750
xieioh 50,000 %571 2 250
-DSRYNEI 35024 *4,118.6KI 20/ Ef 1,442
—SYIINEEAR 220,000 * 122 2,640
- SLIFIIBMNE 150,000 %13l 150
Pl R 166,660 * 122 2,000
~SAIARS 12,075
~BIIBFD| BIEEA 242
330, 0002 *4CH 1,320
OI=EL 59,678
- By 1,32521 %1102 *12.81L+ 10CH 18,671
. nIEL] 1,302+ 1102 +12.88L+11CH 20,401
— AR A L) 1,3002 %1102 +13. 78L+6LH 11,906
~ DAY HAH 2| (A FME)
125,000 %474 4 * 122 6,000
LISl 100, 0002 %27 CH 2,700
OA & ZEIS XY 65,627
— Y AEIZHHIRKIYI 23,0002 95L4 2,185
=PI 110,000 11CH 1,210
-2 350, 0002 54 1,750
REEEESTES
1,000, 00021 *5 4| € 5,000
~GIOIZZRIALRIIZRII 300,000 +4CH 1,200
N 2Bl 16,710
28X 1,500, 00021 *692 6% 6,210
MEEE 1,000, 00021 #1752 %6% 10,500
- SUFEANRRT 2L 300, 0002 574 1,500
- REHOIF R 2e 100, 0002! *700CH 6% 4,200
-DEIIRK B 22,000, 00021 *6% 1,320
—ASRENAY R B
232,033, 3302 6% 13,922
—HACCTVRXI 22l 5,000,000 «57H A +6% 1,500
~AS RN 6,930
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SN BENSAYN
HE: NSRAYNAYALS
ool EEGS A5t (9l &8

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
—ZHOIXl ®Xl&2| 200,000& * 123 2,400
- AU 2SEH S XY 80,000, 000 *6% 4,800
~ 19N T20/8 BHIP4
250,000 »4JH A~ 1,000
307 glz2told 31,130 31,130 0
05 QIZtEZ 31,130 31,130 0
OFMNELES 31,130
LIS F A2 203,192 166,959 36,233
201 B2 203,192 166,959 36,233
02 =229l 203,192 166,959 36,233
Oz3g23 ¢ HA 18,746
— Xt XHAl 470,0003 »2H 940
-ANsSIEEs 15,183
- AESE 211,910 »2CH 424
- SEHEE 478, 180& = 1CH 479
CAESE 512,820 = 13CH 6,667
- SESE 369,970& = 1CH 370
- AEEE 319,970 »2CH 640
EAL =N 277,400 =22CH 6,103
- Edgd 500,000 = 1CH 500
- XEAHSAMZ 1,750
- 5EO0 & 25,0003 »28CH 23| 1,400
- 502t 25,0003 *14CH*13] 350
- NHEELHA 873
- P20 AL 19,800 *34CH 13 674
- 25HE A 39,800& *5CH 13l 199
OXt& & Bl 184,446
- AEEE 6,269,000 *2CH 12,538
-SEsE 7,080,000 *1CH 7,080
A =—b= =1 2,714,000& *2CH 5,428
-=gsd 3,195,000& = 1CH 3,195
-A2gst= 3,012,000& *2CH 6,024
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DTN ALA

N PSIEEN

D BES A5 (crol: & el)
- _ _ HEE
SN HA(S) - HRAY - BES ko 0l A o1 Hns2
ER=PN] 4,747,000 «11CH 52,217
- JI=2E 4,980, 000& *2CH 9,960
- &8t} 8,318,000 «1CH 8,318
—EIX 3,983,000 = 18CH 71,694
- XX 4,980,000 *1CH 4,980
-Edgd 3,012,000% = 1CH 3,012
AN2E 18,500 13,700 4,800
2Bt A 14,500 10,200 4,300
At 22l 1,900 1,900 0
2 B4 2 H| 1,200
—2xN Y o B0
300, 00021 <474 4 1,200
A4y 700
—EXAH
70,0002 x2H+5 2 2 700
A2 S H 12,600 8,300 4,300
OstAlOIRI0l & 2
6,000, 000& * 12 6,000
oML s =M X
5,000, 000& *12 5,000
o119 1,600, 000& * 12 1,600
detB 4z 4,000 3,500 500
10 HAMHI2AZ 2,000 1,500 500
Oagoly A ALK B4
5,000 1502 14} 750
ONMOU=EM EIHA 24 5,000 *150H » 14| 750
OBHAl 0210l ABOHHDA 2% FAl
5,000 *100H » 14 500
12 JIEt2 43 2,000 2,000 0
OSZAMAL A&t EZI
80,000& x5F 5 R 2 2,000
IRAHALAZH 22,105 26,379 N4, 274
= 22,105
201 LEHRHH| 21,669 25,799 A4,130
= 21,669
01 At22r2l| 20,804 24,881 4,077
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SN BENSAYN
HE: NSRAYNAYALS

o EEUS 28 (232
- _ _ HNE
SH-EFHHA(FA) - NIRAE - BES 01l A+oH 'oﬂ/'\_FOH Hws2
Oooeigtti2g 20,804
= 20,804
02 2224l 865 918 A53
o2zl 865
= 865
202 (44l 436 580 A144
= 436
01 =Wol 436 580 AN144
O A ¢l 436
= 436
MNI=R2RRAEF 21,322 10,397 10,925
= 21,322
301 et A= 21,322 10,397 10,925
= 21,322
09 SUZRRIVELZ 21,322 10,397 10,925
OAtS 22|l 4,034
2 4,034
o1l =l 4,400
= 4,400
O=gtl 11,070
= 11,070
@XIE=1:] 1,218
= 1,218
Ol 200
= 200
OgRF=&H| 400
= 400
ol At atel 199,275 194,854 4,421
301 getEazg 199,275 194,854 4,421
03 AL LR A 199,275 194,854 4,421
OXH&Es 2 22,600
—NSs 1,200,000& *8H 9,600
—CHsta 1,300,000& 10 13,000
Oss=+¢ 33,000& *370H x123| 146,520
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SN BENSAYN
HE: NSRAYNAYALS

el BEUS 23 (S92l ®el)
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
Ol =t| 81,5003 x4 F *370H *25% 30,155
olgAYH XA 12,395 12,395 0
307 220N 12,395 12,395 0
02 QIZHFAME X 12,395 12,395 0
Oozigtly gs2x 12,395
SYESSEY 108, 170 88,054 20,116
201 B2 103,370 83,254 20,116
01 At=R2teldl 80,084 69,706 10,378
Oget=ZH| 1,000
- A GEHINE S E 1,000
ozg=+¢ 2,080
- LAY 2,080
EESESamE= 130,000 »2H x4 3| 1,040

130, 00024 %23 #43| 1,040
OEET 15,174
~SIHSHEBHILX S4
5,00024+136 2 *1/3+42 +83] 7,254
—SHES A
3,00024+110% +25| + 122 7,920
Ou = 59,430
— S T = 400, 00021 *3%5 +136 % +25% 40,800
-AZRANE 80,0002 *136% 10,880
-~ EE SR Y 30,0002 110% 3,300
~SHEARY IS 100,000 * 15 +6% 600
—24ARA2RT BT P 70,0002 ¥55% 3,850
oYxz 2,400
SHHE =Rl 2t
300, 0002 *2Ch x43] 2,400
2 ZZ2YHI 23,286 13,548 9,738
02222 2 AA 23,286
-P20Y FIIHIE 150, 0002 *41% 6,150
—AYUTLH SHAYAVE
126,000 %1362 17,136
01 YsrEaZ 4,800 4,800 0
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S A

HEND LA

B NRAYN LA
Sel EERGS 23 (S5 @)
_ _ HE T
SN - (3) g - A Aol il b o bRz
TIERErE 2,000 2,000 0
SHEEES N1 MR X2
5,000% 1002 43| 2,000
12 JIEHBAS 2,800 2,800 0
OABHT U WHEE 2T 21210 AT
100, 000! * 102 1,000
O0I20l AYANSH AHIRH
50,0008 +32 123 1,800
AYHHADET 61,915 46,640 15,275
201 sy 45,715 43,190 2,525
01 At el 40,000 39,200 800
ORI PR 38,000
oyxE 2,000
-2oEERY 500, 000! *2CH *23] 2,000
;2 ZZ2Y| 5,715 3,990 1,725
OZ2R3 2 HAl 3,915
-2HNBER 28, 14021113 3,180
P EYEEEIEEEEE
35,0002 %21 % 735
Oz2Y o2y 1,800
~ R AotE 100,0002 ¥} 2 +23] 1,800
203 YREAY) 1,200 0 1,200
SIEEREEESS 1,200 0 1,200
OrgYLET 1,200
405 XHarE St 15,000 3,450 1,550
01 AHNASEFSY] 15,000 3,450 11,550
OUBHMEI (25t NE)
10,000,0002! *1CH 10,000
O=N F2$8E 7Y 2 1A
5,000, 00024 14! 5,000
gret 22y 227,690 183,055 44,635
B A 2T Y| 85,000 76,225 8,775
401 Al&BI L2 85,000 76,225 8,775
01 AIZH| 85,000 76,225 8,775
OSUXISY BBMLS 20,000
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SN EENRL
BB NRALAALRAAG
==}
-/

ool Ag

HE . O (BH) - NRAY - BYS Ak e 2
OARIOtM HIEH Xt HE WX 15,000
OS=2LotMHE HOIA NHE HE = 20,000
O&AL ¢t CCTVA X 5,000, 000 *3H 2= 15,000
ORIANE BEE BHAD &X 15,000
EAE 2t 35,000 27,000 8,000
401 A& HIL 2 OY| 35,000 27,000 8,000
A& HI 35,000 27,000 8,000
Oxstd a4 3,000, 000& x50 2 15,000
Oastd 2= 2,000,000 1074 2 20,000
U&= 107,690 79,830 27,860
206 M=l 37,750 36,880 870
M= dl 37,750 36,880 870
Ot & 2 A 3ok Al 1,100,000& x5= & 5,500
OgAY=0tAT 200, 000& *26H 5,200
ogszes& 15,0003 30 450
OFR=xeE A= 20,000& *11CH*24 2] 5,280
Osdzg oo Z3E 50,0003 * 164 800
O7=xt SSHXES 600,000 *11CH*23] 13,200
OdAMANSII IHXI 120,000 *11CH 1,320
OMOENTE WEES 1,000,000 *5IH &~ 5,000
OH=3d28 217 20, 000& 504 1,000
405 KHeHHE SHI 69,940 42,950 26,990
AL ESH S 69,940 42,950 26,990
OFREEEAETX 3,000,000 & *5CH 15,000
OJfelotM &R Hakgt 200, 0003 *30H 6,000
OPDA(LZZALE) 500, 000& *1CH 500
O MEDI 5,000, 0002 *2CH 10,000
OO0 Z ZdlAF 5,000,000& = 1CH 5,000
O3St & &I 22,680
—AFFAESSAIAE 4,400, 000& *2CH 8,800
- SIS AT 242,000& *6IH 2~ 54 7,260
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fAM: 3
PR
(==l I

el

.S (2AH) - MBAY - BES

r

2
J2

20
R
J2H

77,000 *6IH 2 +5H

77,0008 *302

200,000 = 10K

40,0003 «11CH*4AMI E

9,000, 0003 = 1CH

2,310
2,310
2,000
1,760
1,760
9,000

9,000

W

H

6,978,900
600
6,978,300

6,392,273

586,627

H

in

6,777,592
600
6,776,992

6,127,063

650,529

0zt

H

H

6,777,592
600
6,776,992

6,127,063

650,529

6,084,242

5,511,583

572,659

3,105, 100& x1Z « 122
2,864,700 »3H « 128
2,582,700 x8H 12

2,283,100 9«12

2,022,500 x33&E 122

1,622,300 x56F 123

1,160,300& x26E »12&

1,786,100x1F « 122

2,909,451,000 /122 *46%*23]

3,132,509
2,909,451
2,888,017
37,262
103,130
247,940
246,575
800,910
1,090, 186
362,014
21,434
21,434
223,058
1,595,311

1,130,338

2,880,127

1,389,832

252,382

205,479




SN
X XH .
(=

chel:

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
—A22RY 697,852
- 022 293,733
-5d22dE 138,753

OFA=+H 464,973
A= 110,400
bH < Kt 40,0002 x1098 123 52,320
HAEHIS 20,0003 x242H 123 58,080

- AEHSHIEX S 30,698
=&t 51,4003 »27H 43| 5,552
nsstn 419,090 »15H x4 3| 25,146
-S0s&==g 500,000& »2H «x12& 12,000
S R=l= I 116,880

- 2580l &f 130,000 x12H x 123 18,720

- 209 0l & 110,000 «16F =122 21,120

- 1580l &f 80,0003 »49H «12& 47,040

- 1080l & 60,000& 15 122 10,800

- 5E 04 50,0003 32 «12& 19,200
-FE2R=E 81,600
B 50,000 136 FE « 122 81,600
-NsSiH2d & FHgRE 1,440
1EUHE AT 40,000 *3H « 122 1,440
—RIAAR G 30,0003 x5 «12& 1,800
- AR 600
-3@olat 50,0003 x1H«12& 600
-t & st 80,000 «110F ~12& 105,600
-2 R 3,106,000 9%+ 1H 12 3,355
-RHIRAE 50,0002 x1& 128 600

03 HMHS=AHI 213,720 193,440 20,280
O&=H 130,000& «137&E 122 213,720
04 wWES2xH| 204,240 186,000 18,240

oaxgsd A 140,000& 4 H x 122 6,720
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SN BENRLAYN
HH: HYSARH(BFENRLLN)
CHel: o2 2ot (5l &2
SN -BH - S(B) - MRAY - BES Off &F oA e HRE2
PR 130,000% +502 122 78,000
O28D A 120, 0002 *82% * 122 118,080
OJI5= (82016t 20,0002 +1% * 122 1,440
05 HEEIIH| 290,946 267,298 23,648
ogH 2,909,451,0009 /122 120% 290,946
06 b XI bl 485,879 446,387 39,492
OSH 2,909,451, 00021 *16. 7% 485,879
07 St A 61,637 148,499 13,138
og2H 2,909,451,0002! /122 1/30+202 161,637
203 YREY| 47,510 41,700 5,810
2 600
= 46,910
IEEEEEEEESST 10,900 8,800 2,100
O2NE 4,400
O EHEF 1,300,000 *5% 6,500
02 HRIIMYREZY| 5,830 5,120 710
O AR 2| 5,230
OoARAR ADITEY] 600
2 600
M SASYYLETY| 30,780 27,780 3,000
OASHHY YSAZW BHFUSE U=,
APRIOHR HIE] N 2 R OH
250, 00021 #67H £ * 122 18,000
O, 28T HE 350, 0002 *27H 2+ 12 8,400
OF LA H M 365, 00021 # 10 £ 122 4,380
204 MeLAL) 645,840 573,780 72,060
EEEEEEREET 15,600 14,400 1,200
OLBNE 400,000% *124 %12 4,800
OnE 100,000% 323 #1224 3,600
OUFME, DEUEY 100, 0002 +6% * 122 7,200
02 HZ x| 205,440 191,100 14,340
OLH 400, 0002 %12 %122 4,800
OLe 250,000 +3% 122 9,000
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SN BENRLAYN
HE: HH2AAY (FFEMELYN
Sl Ol 2| (5l &2
SN-EHH S (3H) - HEAY - BES Off &F oA glggi; Hnz2
S 155,000 172/ 122 31,620
oL 10,0009 +332 * 122 55,440
04D, AHIIS8S 105,000 +83% + 122 104,580
03 ST+ S| 424,800 368, 280 56,520
Ot 2 S| 50,0002 1272 +122 76,200
Oz S| 70,0002 %1352 * 12 275,400
ORER2ESH| 1000002 *61% * 122 73,200
LT 201,308 265,210 £63,902
2B (BENRLLA) 201,308 265,210 63,902
201 L2yl 92,658 87, 180 5,478
01 AfRaelt] 89,658 84, 180 5,478
OJl=4+ =t 20,868
Osg+g 39,180
- =yl 39,180
2 =yl 30,0002 %2 * 1122 6,720
SR] 30, 00021 224 #3652 21,900
HHER2A 20,0002 %2 +2192 8,760
o2y 30,0002 *124 %602 1,800
OBl 29,610
;2 T2 3,000 3,000 0
OZZR2 ¥ MA 3,000
—ewwsE 50,0008 * 122 1,800
~SUSBRHES MEIA 242
100,000 * 122 1,200
202 Ofl 91,650 80,000 1,650
01 =LHoit] 91,650 80,000 11,650
O21=0fH| 91,650
405 THEFH S 17,000 98,030 £81,030
01 TMUSEBFHSY] 17,000 98,030 81,030
Ogasioa FIIB 13,000, 0002 * 1 Kl £ 13,000
OBI=ZADI(ESPED) 4,000,0002!+1CH 4,000
HRES(HFNRALA) 147,321 138,000 9,321
|
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=
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X0
Bl
ol
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Ik o & W
= 2 < w0
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= 2 25| |50
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o Wlr 9 |®n x
— X0 | = = 3 <0 | = -
== T |lo 0 = ol 1
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&0 fwl=[s ® I [X|5 &
o KU = — O O —_ O
i R|Ie|sl8 218
1 PAR L]
- H




FA: AN
e S A 521 23
= s 2
CHB G (BH) - MBAY - BAS oy e
s 9,359,674
= 39,395
= 9,320,279
= EN=l= A e 1,539, 181
= 38,795
= 1,500,386
= 23 1,302,026
= 38,795
= 1,263,231
AR EHI S X2 336,484
282 AL 301,414
S=229H| 301,414
O22222HA 201,042
- NEIIEIIE A 120, 000& *20CH 2,400
- &I B A== 2,567
SO Z A 63,000% x25= 1,575
INESEE=DN 40,000& x20= 800
HB LTINS O AL 8,000& *24= 192
-dsAg L ol 70,000 x12& 840
-HSTHA 100,000 * 1504 A 1,500
- Mol ER= 5,884
-&MIIe3 70,000
-NE23H= 44,289
—-NSANEE 30,377
-0IsdsAMEE 50,000& x19CH ~12& 11,400
-SENEREZ 8,998
A2 275,000& *x23| 550
A= Xt 4,224 ,000& x23| 8,448
- X MHESH S I 170& +7, 355X 1 = 0| E 1,251
—MI|IEHIHMEAHS 1,400
=M, oM HIEH 150, 000& 6 2~ 900
- NS 50,000 *100H A 500
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SH: BELYUN
BE: BFAgMLSAYS
chel: = 2t (el =
CHE -GS (B) - HRAY - BaS 01l &t o Soe B RS2
- IERLRES 3503 *4,422 55H =01 H 1,548
-sJIetEEE= 220,000& x12& 2,640
- STINEIIEAMNE 150,000& * 1] 150
—&Jjet el = 151,500& 123 1,818
—EANARS 12,000
-2JIsdI| 2J1E 248 =2
330, 000& »6CH 1,980
@)ak=1:] 40,812
-2 1,325 1102 *9. 4L+ 13CH 17,811
NN ¥ 1,309 110! »4. 75L+6CH 4,104
— AR A HED] 1,309% x 110 7. 550 »8CH 8,697
- TFLHAEHAIAZHI 7,500
- OHMHIEH 125,000 *5H 2 12 7,500
=2 Pl E=PN T Il 100, 000& 27 CH 2,700
OAIE EHIR X dI 59,560
—QHE AR PAZGEH| 23,000 x92CH 2,116
—SgAgE| 110,000 *11CH 1,210
-EHEE 350,000 *3CH 1,050
- 1197 &2 =2 | 1,000,000& * 1M E 1,000
-l ES =M, S1=ED| 300, 000& »4CH 1,200
-2&I|R b 13,950
- DEIIX= 1,500, 000& *19=*6% 1,710
ols.5U= 1,000, 0003 *204= *6% 12,240
—SAEAEZ R 300,000& *6IH 2 1,800
- S&HO0IE RN 22 100, 0003 *718CH *6% 4,308
—waEsx2el 22,000,000 *6% 1,320
— a2 AAE R 2
232,033,330 & *6% 13,922
— E ACCTVSS Xl 2t el 5,000,000 *57H A~ *6% 1,500
- A= S| 9,240
—EHO0IXIR Xl 22| 200,000& *12& 2,400
- 11OMIBC0/8 HUHIES
250, 0003 *4JH 2~ 1,000
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SN BFABA
BE: BFAgMLSAYS
el BEUS A k)
SN HE S (BH) - o . By 01 &t o8 e HlRE2
0 & 24
—-=21| 3,544
=X dl 3,000,000& = 1CH 3,000
et 1,325& *410A1 2t 544
307 QI2t0IA 35,070 12,650 22,420
05 QIZtREZ 35,070 12,650 22,420
OFANEAEH 35,070
AR 2l 338,518 281,671 56,847
201 LEH23H] 338,518 281,671 56,847
02 =224 338,518 281,671 56,847
O2223LHA 46,678
- XS Al 470,000 = 1CH 470
-AASAAEEE 20,641
AESE 212,910 = 1CH 213
EEEE 478,180 »3CH 1,435
L2ESE 512,820& 16 CH 8,206
L2832 319,970 = 1CH 320
EAS=ION] 277 ,400& »30CH 8,322
Edigd 500, 000& »2CH 1,000
2N S HA 1,000,000 *1CH 1,000
=41 145,000 1 CH 145
- XAHAHSAME 2,000
- 5E 01 & 25,0003 »28CH 23] 1,400
- 540 Bt 25,0003 »24CH 12| 600
RS [=tia] 23,567
- 7012 21,511
- 7022 2,056
OXt & et] 291,840
-AESE 6,269,000& = 1CH 6,269
-S8s8 7,080, 000 *3CH 21,240
- 2858 2,714,000 *3CH 8,142
-28s= 3,012,000 = 1CH 3,012
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SN BEAUA
HE: EEAYMAYALS
el ERSE 2 (2t5: & 9)
_ _ SIEN
SN-EHH S (3H) - HEAY - BES 0ff &+ o4 il i~ o Hnz2
-2 4,747,002 +13CH 61,711
bl 4,980, 00021 #3CH 14,940
- shatat 8,318,00024+1CH 8,318
N J=E= 3,326, 00024 *2CH 6,652
~HI3 3,983,00021 *23CH 91,609
= 4,980,0002! +1CH 4,980
=L I 3,012,000 *2CH 6,024
= SEIUES 7,200,00024+1CH 7,200
- A2H(7015) 44,292
- A2H (7025) 7,451
AEALIS Y 19,100 12,300 6,800
201 Lsr2 Yyl 15, 100 8,800 6,300
01 AFR2elt] 2,500 2,500 0
O+ gl 1,800
—EXAATAY OFF L B4
300, 0002 674 A 1,800
O2gy+g 700
—STMBA ML
70,0002 x224 x50 = 2 700
03 A2 12,600 6,300 6,300
OBtH OIRI0] AOIEDA 2% 6,000
O119248SQHsl ¥ HEH X 5,000
O1l94He 29 1,600
01 YsrzaZ 4,000 3,500 500
ETENE 2,000 1,500 500
OAoldBAl &IIX 24
5,00024 +150% 141 750
ON9NZR &IHXH SA 5,000 %1502 »14! 750
OBt HOIRIOl ASAFHDA 2% F4
5,00021 *100% * 14! 500
12 JIEt2AE 2,000 2,000 0
OSZHSA AMERT
80,0002 x5 x50 = 2 2,000
PPNy 8,671 22,825 A4, 154
= 18,671
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SN EFAYA
Hal: SFRAGNALAYS
ol B@ENS 23 (£ &)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
201 L2yl 18,283 22,313 A4,030
= 18,283
01 At 22l 17,543 21,515 £3,972
OcleAag 2| 17,543
2 17,543
02 ZZ2YY 740 798 A8
SEEE] 740
2 740
202 Oidl 388 512 2124
= 388
01 =Uhord 388 512 At24
OoASAZH ot 388
2 388
NEEEE-EEY 20, 124 14,602 5,522
= 20, 124
301 LerBA3 20, 124 14,602 5,502
= 20, 124
09 Zo22ARND 20, 124 14,602 5,522
OArR 22l 3,936
2 3,936
Ou =l 3,600
2 3,600
o3| 10,800
2 10,800
Oelzy| 1,188
2 1,188
Oo1H 200
2 200
oYL= 400
2 400
ojgrymel 372,675 364,430 8,245
01 YerEaz 372,675 364,430 8,245
038 28AUHAZY 372,675 364,430 8,245
OXtAFE S 43,200
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SN BFALA
M EFsUMLLALE
ool EEUSY 25 (9 &)
- _ _ ME
S BB RA(BH) - HRAY - B Ofl &+ o 0l ot o HimE2t
-nsstd 1,200,000 * 10 12,000
— st 1,300,000 x24% 31,200
Ozs+¢ 33,0002 *690% 123 273,240
Ooml = 81,5001 *4Z *690L *25% 56,235
Slg AU 23,115 23,115 0
307 @20IH 23,115 23,115 0
02 SIANEX 23,115 23,115 0
OQABLUUHESEE 23,115
sugssalY 115,016 102,044 12,972
201 Ypr2oy| 110,216 97,244 12,972
01 At=R2relt| 85,844 80,752 5,092
OYpt+gH| 1,000
~AEHINLEHR 1,000
o2g+¢ 2,080
- YASE 2,080
CHBDS 130,0002 *2 *43] 1,040
UYAE A SSHIUS
130,0002 *22 *43] 1,040
OEEL] 16,264
-SHSEIHIRX 24
5,0002 * 147 +1/3+x4 2 +85] 7,840
-SHHES Al
3,0008 x 117 %28| x 128 8,424
Oonl = 64,100
-SHHRL SIS
400,000 *3Z+ 1472 %25% 44,100
- AYI2ANS 80,000 x 147 11,760
- sEsyY 30,0008 117 3,510
~SEARQEY 1= 100,000 *6 600
—2AANA2RX PR 70,0002 *59 4,130
ogxa 2,400
—SHHSZ SR AR
300,000 *2CH +4 3| 2,400
02 332l 24,372 16,492 7,880
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1,065
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5,850

18,522

4,800
2,000
2,000
2,800

1,000
1,800

58,323
46,323
40,000
38,000

2,000

2,000
6,323
4,323
3,518

805

2,000

2,000

1,200
1,200

1,200
10,800
10,800

1,400
800

1,100

5,000

150,000& *39H
126,000 147

no
<0
T4
oJ
oll

301

3

=

%100 *4

5,000&

s

0
H

12 JIEt
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SN EFAUN
M EEAGMAYAYS
chelr BETSS 23 (SHol:®el)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OM&E eI 2(2M) 2,500,000& 1M E 2,500
Ags 22 237,155 663,205 N426,050
EALAIE ZHI 17,000 40,000 A 23,000
401 AIEHIZL =0 17,000 40,000 A23,000
01 Al&HI 17,000 40,000 A 23,000
O2s&IANE &X 5,000
OFACCTV & Xl 5,000
OFAMEM 5,000
OM9dt&AX EXE &X 400,000& *5H 2,000
LY AL 2 52,180 58,120 25,940
201 ZEH2EH] 4,180 4,120 60
02 2323l 4,180 4,120 60
OAEEHBIS XL 4,180
— Ao 20,0002 x4180 A +1/2 4,180
401 AIEHILROY| 48,000 54,000 26,000
01 A&l 48,000 54,000 26,000
Oastdad 3,000, 000 *8H 2~ 24,000
OxstdE 2,000,000 #1290 2 24,000
L2 STH S 85,975 127,210 A41,235
206 THZHl 43,320 42,320 1,000
01 MZ 4l 43,320 42,320 1,000
O3St & 2 A 3t ok Al 1,100,000& x10E& 11,000
FHAL=S0tAT 200, 000& *25H 5,000
gtz s 15,0003 100 1,500
OFRaxELS 20,0002 *13CH x24 3 6,240
OsdEdY Z3E 50, 000 204 1,000
OF=2NSSHIUES 600, 000& = 13CH*22] 15,600
OxsI|= 15,000& *80H 1,200
OFSXESMLASH 15,000 » 13CH +43] 780
OH=sZ228 2] 20,0003 x504 1,000
405 XH&HFSHI 42,655 45,890 N3,235
01 XML EEHSHI 42,655 45,890 A3,235
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SM: BFLYAM
HH: SxAUALgAS
CHel: Age B2 (St &H)
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
OSHH & & & H 29,355
—ARRAREAAHY 4,400,000 *2CH 8,800
= Bl 2420002 74 2= 5N 8,470
—UEAEA 77,0002 79K A *5H 2,695
—AYSA 77,0002 702 5,390
-2 200, 0002 *20JH 4,000
OPDA(L A ALE) 500,000 *1CH 500
OL AL A 2,000,000 * 1K E 2,000
OBHH & AFEHH 2,000,000 * 1Al E 2,000
OsUHE2A 800,000 11CH 8,800
SFAYUN MF 82,000 437,875 A355,875
401 AlZH Y20 82,000 317,875 N235,875
01 Al&t] 82,000 317,875 NA235,875
OUsSH ks Al 50,000
OAEZA 22 252 25X 32,000
HYSHBH(BFLLAM) 7,659,076 7,284,526 374,550
= 600
[ 7,658,476
ol 29y 7,440,446 7,061,186 379,260
= 600
< 7,439,846
ol Ayl 7,440,446 7,061,186 379,260
= 600
< 7,439,846
101 el24] 6,688,986 6,342,296 346,690
01 Jl=z 3,450,653 3,270,753 179,900
Og3H 3,199,987
— A 3,180,458
ENEIps 3,320,400 *1H x12& 39,845
ENElE= 3,004,600 3% * 122 108, 166
ENele! 2,582,7002 »8% x12& 247,940
=1 2,350,100 11« 12& 310,214
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SH: BFAUN
HH: HHSARL(EFAYA)
&Rl el 2| (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
LE 1,984,300 x40 128 952,464
22 1,666,400 x58H «12& 1,159,815
D REAL 1,160,300& x26E x12& 362,014
-JIs& 19,529
8= 1,627,400 x 1H x 123 19,529
O&dZ=¢ 3,199,987,000& / 12& +47%*23] 250,666
02 =¢ 1,754,118 1,656,065 98,053
Ozl 1,251,305
—ANZ2te 2R+ 749,620
—orRt2eE 350,254
-5dZ2R=E 151,431
OFSEL RS, 502,813
-IIE=4 126,000
i < Kt 40,0003 x114H 122 54,720
A EHIS 20,0003 x297H 122 71,280
- ANESHIEXE 27,266
S (12X) 51,4003 x18& *43| 3,701
LSSt (1=2X) 420, 7903 14 x4 3] 23,565
R = I 136,680
- 2530l & 130,000 *16H * 12 24,960
- 20~25 0] et 110,000 *24H » 12 31,680
- 15~20= 0] et 80,0003 x54H «12& 51,840
- 10~15= 0] et 60,0003 20 122 14,400
- 5~10= 01 ¢t 50,000 x23E «12& 13,800
-FE2R=E 88,200
B 50,0003 147+ 122 88,200
- NSXH2HLEHPR+H 960
C1SUHE AKX 40,0003 x2H 123 960
- QAR 30,000 x4« 122 1,440
—dug R 50,0003 x1H«12& 600
- St &S5 80,0003 123+ 12& 118,080

_58_




SH: BFAUN
HH: HHSARL(EFAYA)
chol: o2l 2ot (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
-2 AR 3,321,000 Q%+ 1H « 123 3,587
03 HMHSAHI 230,880 223,080 7,800
O&=H 130,000& 148 122 230,880
04 wWESExH| 221,160 212,520 8,640
o4agd. g 140,000 *4H x 123 6,720
Oxgtd & 130,000& «59H x 123 92,040
O A 120,000 *84H » 12 120,960
OJls8=s 120,000 18123 1,440
05 HESOHYI 319,999 303,786 16,213
OE=2H 3,199,987,000& /128 *120% 319,999
06 JtAHXI&HI 534,398 507,322 27,076
O&=H 3,199,987,000& *16.7% 534,398
07 AII2 4| 177,778 168,770 9,008
O&=H 3,199,987,000& /122 »1/30+20 177,778
203 YRF&d| 50,780 47,790 2,990
= 600
& 50,180
01 JI22dIRFL& 10,900 10,000 900
OxgME 4,400
Ot MIE & 1,300, 000& x5H 6,500
02 FJAIHRFEY| 6,100 5,690 410
OZX A A &I 2| 5,500
O2AR A LA I & 2| 600
= 600
04 REA2ELRFIH 33,780 32,100 1,680
OSLoEHH 4,380
OF4 , 2dotd iy 350, 0003 #2JH A % 12 8,400
OAg@I ST EHUSH , E2,
AOHBOIEME , BEEPEY, AL DA
250,000 *7H 2o+ 12 21,000
204 AP AH| 700,680 671,100 29,580
01 HAMSHRAAH 16,800 15,600 1,200
OLYNE 400,000& x1H«12& 4,800
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SN
X XH .
(=

chel:

r2 02 Of

UM
NP (SZLYN)
=2 |

N EE - SI(3) - HEAY - BES 01l &t o Soe B RS2
O, =& 100,000& »3H 122 3,600
OtEHHE, 2 100,000& «7H x 12 8,400
02 Az=2x| 223,440 216,060 7,380
OFEN=S) 400,000& x1H«12& 4,800
OFE-1= 250,000 3 x12& 9,000
Ooaxgrad. 9 155,000& «19H x 123 35,340
OFES-155, 140,000& *40H » 12 67,200
OA2uw AL JIS8= 105,000 85 « 122 107,100
03 SZYR-H& =4 460,440 439,440 21,000
Oale sl 50,000 *x137H 122 82,200
OYsa=tl 170,000& *146H » 123 297,840
ORx=F=gsl 100,000& +67 H 122 80,400
=34 218,630 223,340 A4,710
=34 218,630 223,340 A4,T710
201 ZEH2EH] 95,880 92,140 3,740
01 Atf2teld 92,880 89, 140 3,740
OJl2+=&Hl 22,200
Oo=2d+d 39,180
— =AY 39, 180
22 30,000 x2E « 112 6,720
= 2| 30,0003 »2H x365 21,900
sy 20,0003 »2& +219 8,760
g8 30,0003 »1H 60 1,800
OJl== gl 31,500
02 =294l 3,000 3,000 0
O3==4HA 3,000
—-RuYs= 150,000& * 122 1,800
- MSEXNES MHIA =3
100,000& =122 1,200
202 Od4Hl 97,500 93,000 4,500
01 =LHAHYI 97,500 93,000 4,500
OJI=20dHl 97,500

_60_




od
’J
oF
oJ

3g SNIENEREE ~
8|S SARARARAL N
i el b °lela|2|B R
Ko | <|<
E
D
m m () (@) (e} O o o
88
H3r
uiled!
KIS
B8 8 88 8 8 Z|IEIEIEIEIE 8 & &
N o S8 S S o | ¥|Yllvd & & &
ME DA clolalal8 8 R R
3
<
=
i 55 T 5 O
" Toxo2 ¥ X
o % B g B
- o o o o o o
%0 S & S g & o
) 3 288 o 8 3 L
. o © © g S © W
< < — B <0
2 =
o
I - m .
= =~ M o ™ w
. {€ K m./_ i <0
— K — —
— ol [+ — = K . K
— —_ = oJ o = oy =
= — o o = - o - >
D= ¥ @ < w2 <0
Gl U © £ = = Bl & R
= T _ 0 —~ V= z =5 =z
ok |s|® RO A 2 R N R =2 < = <
S I T T R S7J SRNNAUP o e Klsr T M =
u Wiow w0 = o L2 qu :OD = B0 ol
oS o wo oW oo T A | % el 1V R
o1 dln o = wooor oWl [ ol K m K
R [=x = 0o H @0 730 M= # = K
. o O O o O O O MR - O O
= = b= WwIR[&R|»]|2 8
I+ ol | K| H
O |
=

_61_



A HEAEA
M HEASM A% T3
chelr BEGSS 23 (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
M & A 8 A 10,741,227 9,062,772 1,678,455
2 40,739
& 10,700,488
MEAA Lot st 2,712,289 1,603,264 1,109,025
= 40,139
= 2,672, 150
dyUsS=E 23 1,403,854 1,253,504 150,350
= 40, 139
= 1,363,715
AYHA L FUIRK B 367,458 315,534 51,924
201 B2y 341,658 289,734 51,924
02 =32gH| 341,658 289,734 51,924
O22222HA 189, 865
- NEIIEIIE A 120,000 *30CH 3,600
- &I B A== 5,550
SO Z A 63,000& *50= 3,150
INESEE=DN 40,000& *50= 2,000
HALTHS Ot Al 8,000& »50= 400
-dsAY L CHAASE
70,000& x12& 840
-dSHA 100,000 * 190K A~ 1,900
-S283 A 1,000,000& *12| 1,000
- MOl ER2= 9,923
&= 67,725
-NEg3H= 41,543
-&IANES 27,720
-0ls&ESANES 50,000& =18 =122 10,800
-SHENEREZS 13,026
A= 570,200& *x23] 1,141
xh&f 5,942 ,400& *23| 11,885
- XN MHE S M3
170& *5,968.76 Ml = 0| & 1,015
—MI|EHItMEAHS 1,450
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SA G HEAA

B HEAUA AU U3
ool EESY L3t
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
=AM, A A 150,000& *5J4 2 750
- NS 50,000 » 1474 A 700
-DERLELD 3502x2,414.28H SOIE 845
—F@JloE BRI E 106, 4802 122 1,278
-2IBHINBI AR LA
330, 000& »5CH 1,650
O =l 91,515
-2ge 1,3253 110 %25 . 6L 10CH 37,312
- Xz 1,309 «110! *12.92L»10CH 18,604
— At A D] 1,309& 110! x20. 66L*8CH 23,799
- FUAEHAMHAZYI 9,000
=N 250,000& x12& 3,000
OHM Ml E 125,000 #44 2 12 6,000
i =a-"PIPIE=IN 100, 0002 =28 CH 2,800
OAl& EBIR X dI 60,278
—QE AR AZGEH| 23,000 x92CH 2,116
- S A& 110, 000& = 10CH 1,100
-Z2HEBEESX 22 350,000 *3CH 1,050
- 1197 &2 =Zdl 1,000,000& *1MIE 1,000
- SEAAZSIISHED| 300, 000& »5CH 1,500
-2&I|KR X b 14,940
- DEIIXN= 1,500, 000& *30=*6% 2,700
ols,50= 1,000, 0003 *204= *6% 12,240
—SAEAEZ R 300,000& *504 2 1,500
- S&HO0IE RN 22 100, 000& *680CH *6% 4,080
—wasx2el 22,000,000 *6% 1,320
—ZdaeRXAAE R 22
232,033,330 & *6% 13,922
— E ACCTVSS Xl 2t el 5,000,000 * 19 A *6% 300
- A= S Al 11,550
—EHOIXIS Xl &2 200,000& 123 2,400
—11OMIEC0/8 HUHIE=
250,000 * 144 2~ 3,500
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SN HEAYA

M HEASM A% T3
chelr BEGSS 23 (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

307 QIZ+tol A 25,800 25,800 0
05 QIZIFE= 25,800 25,800 0

OFMEAEY 19,800

OLL+HSA LR E 22 6,000
EAR=UDN = PN R el 297,215 244 411 52,804
201 2Bt2AH| 297,215 244 411 52,804
02 32494l 297,215 244 411 52,804

O=2222 ¢ MA 297,215

— XS XHA 470,000& = 1CH 470

-NEXNEE S 22,021

- AEHSEE 211,910 = 1CH 212

- SEHEE 478, 180& *30H 1,435

- AYSE 512,820& = 15CH 7,693

- 58sE 369,970& *2CH 740

- AYEEIE 319,970& = 1CH 320

- S 411,580 = 1H 412

BEAE= DN 277 ,400& *35CH 9,709

PEXBIHA 1,000,000 *1CH 1,000

- Edlgd 500, 000& = 1CH 500

- XHHSSAZ 2,600

- 5E 0 & 25,000& *44CH *23] 2,200

- 5E 0] B 25,000 x16CH*13] 400

— Xt & BHH| 272,124

- AEHSEE 6,269,000 = 1CH 6,269

- SEHEE 7,080,000& *3CH 21,240

- AESE 2,714,000 *2CH 5,428

- AESIE 3,012,000 =2[H 6,024

=N} 4,747,000 *15CH 71,205

- I=E 4,980,000 *3CH 14,940

otak Xt 8,318,000& *2CH 16,636

] Ry 3,326,000 *2CH 6,652
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SA
X XH .
(=

eel o

HE AN

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS e HlnE2
3,983,000% «26CH 103,558
7,200,000% *1CH 7,200
4,980,000 x2C} 9,960
3,012,000% «10H 3,012
AYBARSY 18,800 2,000 6.800
201 el 14,800 8,500 6.300
01 AR 2,200 2,200 0
oget 1,500
-= 2 40
300, 0002 +57H £ 1,500
osg+ 700
-=
70,0002 x2% +50H 2 2 700
03 A 2,600 6.300 6,300
Ot azy 6.000
01194 EH X 5,000
01194 1,600
01 e 4,000 3,500 500
10 A 2,000 1,500 500
Oag PIIVR=IN
5,000 * 1502 *141 750
OISR &K 2 5,000 *150% *141 750
OGIH 02101 A YO N DA 2 ZA|
5,000 * 1002 *14] 500
12 JIEHBAS 2,000 2,000 0
OZZNSA AIYERL
80,0008 +52 x5} 2 2 2,000
oAl 19,451 22,680 N3,229
2 19,451
201 Yyl 19,063 22,044 A2,981
2 19,063
01 AR 2l 18,333 21,259 £2,926
o9 8,333
2 8,333
2 B 730 785 NG
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A HEAEA

o REAYA Aged 23
ol HEHSH 23 (Eto: &8l
- _ = HEE
SN HABA) - MRAMY - BES Off 4k 04 0l At o HnE2
SEEN] 730
= 730
202 O 388 636 N248
= 388
01 =2UWdHI 388 636 A248
O2l 2 2 2004t 388
= 388
ANEE2RQeed 20,688 14,815 5,873
= 20,688
301 EIEA S 20,688 14,815 5,873
= 20,688
CIENEETEEPCE) 20,688 14,815 5,873
OAr222It] 4,100
2 4,100
Oul=sl 3,500
= 3,500
Oz gl 11,250
= 11,250
oozl 1,238
2 1,238
O0dbl 200
= 200
OgRF=&l 400
= 400
o zaglietel 470,225 459,829 10,396
301 dEt2a =3 470,225 459,829 10,396
03 AESAYHXEB4 470,225 459,829 10,396
OoXtH&st=s 54,800
-nSs 1,200,0008 %112 13,200
—-sr 1,300,000& »32H 41,600
OBS+¢ 33,0002 <8702 * 123 344,520
Ol =] 81,500 x4 & +870LH +25% 70,905
SIEALUXE 29,145 29,145 0
307 212t01d 29,145 29,145 0
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SN
X XH .
(=

eel o

HE AN

5 o HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K loﬂ/i\_Fo” Hlw &2
02 2AAEX 29,145 29,145 0
O satifgsExX 29,145
sEsgssAWY 123,739 105,976 17,763
201 Y29l 118,939 101,176 17,763
01 ArR22lH] 91,981 83,928 8,053
Oo=2d+d 2,080
- ZAeY 2,080
ES SIS 130,000 *2H *43] 1,040
EAX & SESMHAWNS
130,000 *2H *43] 1,040
o2&t 17,571
—SIHSEZAHIEX 24
5,0002 158 *1/3+42 +83| 8,427
—-SIHES 2t
3,0002 127 23] » 122 9,144
Ol =] 68,930
- ELI =
400,000 *35 1582 +25% 47,400
—AUIRANR 80,0002 158 12,640
R P ESRelg=2-"2=F =k 30,0002 %127 3,810
—SHEAQHIS 100,000 6% 600
—24ANA22 Y 70,0002 644 4,480
oUxtz 2,400
- SIS E=2AEHI X
300,000 *2CH *43] 2,400
OEIIER =% 1,000
— AN 2 E WA 1,000
02 =329 26,958 17,248 9,710
OZ=222 ¥ HA 26,958
-IPSUAFIARZ 150,0009 *47 % 7,050
—AURIRAEHTZIE
126,0002 * 158 19,908
301 YerEAZ 4,800 4,800 0
10 SAIAHIEAS 2,000 2,000 0
O EEdL M EEHILAAIA
5,000 * 100 43| 2,000
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S MEAYA
M MELAEN A2 25t
2

Hel EdiUsSE

_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
12 JIERAD 2,800 2,800 0
OAHMY U HLEZKZOI20I A
10,0002 %102 1,000
ORIZHIABAAQE A A
50,0002 *3% *123] 1,800
AYHHARET 57,133 49,114 8,019
201 er2g| 46,633 44,714 1,919
01 At2tel| 40,000 44,714 A4TIA
OYery a4 S| 38,000
ogxtz 2,000
SR 500,000 *2CH x23] 2,000
02 22| 6,633 0 6,633
OZzZe=2 ¥ HA 4,633
—2ENEEE2 28,1402 %1362 3,828
—HNBABR WHEEREE
35,0002 x23% 805
ozed 9zl 2,000
- E Y| MR 10,0002 107 4 x23] 2,000
203 AR=FY| 1,200 0 1,200
03 NHEZMYL =Y 1,200 0 1,200
OAYHREX 1,200
405 X+t S| 9,300 4,400 4,900
01 XAUSEHSH] 9,300 4,400 4,900
OFSEIIHIE 5,000
Oz 550,0002! *2CH 1,100
O etatd| 2 2,500,002 1Kl € 2,500
o1V 350,000 *2CH 700
Ags 2 1,308,435 349,760 958,675
AN & F | 164,400 240,000 A75,600
401 AN&HLLHY 164,400 240,000 AT75,600
01 AZ6] 164,400 240,000 75,600
O#™ADEI| DA 80,000
OS2 A B2 30,000
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SN HEASA
BB JEAYN A% A5

Chol: Ags P (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O2M &4 WXS3A 20,000
OsS119otMHIEH Ol E &X 20,000
OSSN Molal AX| 10,000
O1198H 2 X E X2 & X 400, 000& 54 2,000
O HEC-220|8 AX| 1,200, 000& 24 2,400
AEE 4 AL 22 39,060 25,000 14,060
201 B2y 4,060 0 4,060
02 =32gH| 4,060 0 4,060
OAE&HIK XY 4,060
—AgZEa22 20,0002 #4060 2~ +1/2 4,060
401 AIEHIZ 204 35,000 25,000 10,000
01 Al&H| 35,000 25,000 10,000
OASAE AlA 3,000, 000& *5JH &~ 15,000
OAstd H= 2,000,000& *x 1021 &~ 20,000
A BHANH| B = 75,745 84,760 N9,015
206 M =4I 41,250 40,250 1,000
01 THEHI 41,250 40,250 1,000
O & 2 A SF2EH| 1,100,000& x5 = & 5,500
ogtder=atA3 200, 000& *25H 5,000
OgsZsE 15,0002 100 1,500
O3 A= 20,0002 1501 x243] 7,200
O=ggda Z3& 50,000& *20H 1,000
OF2x SSHIIES 600,000& *15CH *23] 18,000
A3 B 15,0003 *30H 450
OOHFESBF=AMIINE 80,000& *20M E 1,600
OcsaEd 2RI 20,000& 504 1,000
405 RAHAHF SHI 34,495 18,510 15,985
01 XAANLEEFSHI 34,495 18,510 15,985
O3 M & & 27,815
—agSA 77,000& x50 3,850
-2 & 200, 000& =101 2,000
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SN HEASA
BB JEAYN A% A5

ool Awe BY Rk
S CRI(SH) - HRAY - B sl e HlRE2
—SAZtEE 200,000 * 104 2,000
—AFRZAFZA 4,400, 000& *2CH 8,800
- SIS AT 242,000& *7IH 2= *5H 8,470
—ggEEA 77,0003 +7H 2= x50H 2,695
O7=Zl 2,180
—12lel(D14) 100, 000& *5H 500
—oloe 840, 000& 2Nl E 1,680
OYSAIEIDI 4,000,000 = 1CH 4,000
OPDA(A A AR ) 500, 000& *1CH 500
& 119 EMIE Ol Y &S 1,029,230 0 1,029,230
401 A& BI04 1,029,230 0 1,029,230
01 Al&HI 1,017,545 0 1,017,545
O=tat1190t MY S XI0H 970,900
O3staH19Qt M EIH I 22 A AIE A LI 46,645
02 Zcltl 11,685 0 11,685
OstaH19QHEEIH A= 11,685
BHSAZH (MELLN) 8,028,938 7,459,508 569,430
= 600
& 8,028,338
ol 2| 7,793,986 7,245,488 548,498
= 600
= 7,793,386
el | 7,793,986 7,245,488 548,498
= 600
L= 7,793,386
101 el 6,993, 176 6,499,748 493,428
01 JI=s 3,548,272 3,327,346 220,926
O&=H 3,295,608
— AR 3,295,608
L2E 3,181,000& x1H x12& 38,172
Eg= 3,005,000 x3E 123 108,180
L2283 2,518,000& x8H 12 241,728
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A HEAEA
B SRS (WAL M)
&Rl el 2| (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
C A 2,247,000« 12+ 123 323,568
LHHE 1,985,000& »40H «12& 952,800
En=1am) 1,623,000& x58H x12& 1,129,608
2 2EA 1,161,000& x36E «12& 501,552
O&dZ2=¢ 3,295,608,0003 / 12& *46%*23] 252,664
02 =g 1,881,237 1,705,591 175,646
OxlIZR=E 1,339,553
A2t 2R 789,529
-0t 2R 390,457
—RL2FR=E 159,567
OZFdH 541,684
- &= 139,440
- B At 40,0003 123 x 122 59,040
- HAEHIS 20,000 335 « 128 80,400
I E =t e = 32,688
Esn(12X) 51,4003 x28% *43| 5,757
NSst(1=R) 420,790 16 *43] 26,931
—d2=Eoets 136,920
- 2530l & 130,000& «14H x 123 21,840
- 208 0] & 110,000 *25H 12 33,000
- 154901 & 80,000 x50 123 48,000
- 1080l &f 60,000& 24 H x 12 17,280
-5E0| & 50,000 x28F x12& 16,800
-FE2R=E 50,0003 158 12 94,800
—otMzte|lE Y 10,0003 18123 120
-AsSiH2d € FHgRE
40,0003 «3F ~12& 1,440
—RIAAR G 30,0003 x4 «12& 1,440
—HAMP PG 50,000 x1Z « 123 600
- St &St =5 80,0003 133+ 12& 127,680
—2elgR=g 3,181,000 »Q%x1H 123 3,436
- S22 +Y 3,120
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M HEASA
A SYLSAAL(MELLA)
col: olt2gy (el @)
SA-E . S(E) - MEAY - BES 0 & 24 e SImE=ET
Sl (&t=) 40,0003 «2F ~12& 960
ST (O14E, B =)
30,0002 x6&H 128 2,160
03 EHZAH 246,480 230,880 15,600
OEZH 130,000& »158H « 12 246,480
04 wWS2AH 235,680 220,920 14,760
OE=ZH 235,680
-4y g 140,000 4 x12& 6,720
—Aagd H 130, 000& ~60EH 128 93,600
— g A 120,000 & 94 « 122 135,360
05 EESOtHI 329,561 309,521 20,040
OE=H 3,295,608,000& /128 *120% 329,561
06 JHAHXIZ bl 550, 367 516,900 33,467
OF=H 3,295,608,000& *16.7% 550,367
07 &It2 4| 183,090 171,956 11,134
OZ=H 3,295,608,0002 /128 x1/30%20 183,090
09 RJlAHA22NHES 18,489 16,634 1,855
Ot=L2a B 17,278
-3 32,3903 1 %253 8,195
-&0=3 8,194,670 /128 *400% 2,732
— A2l 6,070 x15A1 2+ 123 1,093
RPN 32,3903 ~15¢ 486
-5 32,3903 *104< 3,369
-54d22sE 48,5803 «12& 583
-&AI2s+E 8,194,670 x10% 820
OH&ERE= 1,211
-=0=SRY=3 17,282,000 *4.5% 778
- NESEREZ 17,282,000 *1.3% 225
- M EE = 17,282,000 *1.2% 208
203 HEF=4H 51,290 48,480 2,810
= 600
= 50,690
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A HEAEA
B SRS (WAL M)
&Rl el 2| (el =
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 JIZ2ILRFAH 10,900 10,000 900
OxgME 4,400
OetMHIE & 1,300,000& 5 6,500
02 HAIJALDREXY| 6,370 5,840 530
O A E 2| 5,770
ORI ISIF ST 600
2 600
04 RM2IIRFLH 34,020 32,640 1,380
OS2 otH M 385,000 * 10 A+ 12 4,620
O HEHMEMEH 350,000 20 A %12 8,400
OA2gHZI BSAZU . SHHSH. 34,
SYCHHHYH ME SR
250,000 *7H 2 12 21,000
204 XA 749,520 697,260 52,260
01 HMSHSAHAH 16,800 16,800 0
OxgME 400,000 x 1+ 123 4,800
OnH 100,000& «3H x 122 3,600
OUTEEHE, 2EUHE 100,000& »7H 12 8,400
02 ANs==2xl 236,640 222,780 13,860
OEN-19S) 400,000 x 1~ 123 4,800
oagd 250,000& «3H x 12 9,000
Ooxgad. 9 155,000 & +20H « 122 37,200
OF=) 140,000 «40H x 123 67,200
O A 105,000 *94H » 12 118,440
03 SHYR-HESH 496,080 457,680 38,400
OCtHel & sl 50,0003 *147H x12& 88,200
OREF=&sHl 100,000& +73H « 122 87,600
eSS &SI 170,000& *157H x 123 320,280
Jl=2&4l 234,952 214,020 20,932
Jl=&d| 234,952 214,020 20,932
201 Lt 99,102 93,840 5,262
01 AtR2teld 96,102 90,840 5,262
OJlZ2=8Hl 23,532
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SN HEASA
HH: SN AR (HAHLYA)

= o o

@ Jl=2Zl (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

o228+ 39, 180
— =AY 39,180
2 Y| 30,000& x2H 112 6,720
=& H| 30,0003 *2H x365 21,900
SAgY 30,000 x1H x60 1,800
HHMERE4 20,0003 »2H »219 8,760
OJl=22| 33,390

02 22294 3,000 3,000 0
O3s2=2 % HMA 3,000
-uEss 150,000 *12& 1,800

—-SMSEXNESMEIA =2

100,000 = 12& 1,200

202 O44| 103,350 96,200 7,150

01 ZUWdH 103,350 96,200 7,150
@PIE=3¢:1s]] 103,350

405 AHAHR SHI 32,500 23,980 8,520

01 XML SSFSHI 32,500 23,980 8,520
OgEEZTEH 1,200,000 = 10CH 12,000
OYUEI(HAH THZ 2,000,000& *2CH 4,000
QA (A2 200,000& 202+ 4,000
Q9 XHA R A 200, 000& x202¢ 4,000

OHICI2EZME (AYt niy|

4,500,000 ~1CH 4,500
OLES (A A 1,600,000& = 1CH 1,600
OB ALE S| (3H4H, OH 600, 000& *2CH 1,200
O2MMEHI(EL, 3t 600, 000& *2CH 1,200
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SN GSAUA
B GE AU g 2
chel BEGSS 23 (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
ASAEA 8,384,839 7,949,262 435,577
= 24,762
& 8,360,077
ASAEAN At 25 1,496,451 1,398,467 97,984
= 24,162
= 1,472,289
dyUsS=E 23 1,303,603 1,158,037 145,566
= 24,162
= 1,279,441
AYEA 2 EHHISX 22 390,283 315,341 74,942
201 B2y 360,493 291,551 68,942
02 =32gH| 360,493 291,551 68,942
O22222HA 204,193
-0NeEI| HIIZE A 120,000 *30CH 3,600
—R&INEA =2 2,220
- &AL 63,000& »20= 1,260
- AP A 40,000& x20= 800
-HE L FOtE AL 8,000& *20= 160
—-HsAE L T2 AISE
70,000& x12& 840
-dSHA 100, 000& *20H A~ 2,000
-S4 3F A 1,000,000& *12| 1,000
- MOl ER23 9,000
&= 65,100
-NEg3H= 66,301
A=l PN == 26,250
-0ls&ESAES=S 50,000& =16 =122 9,600
-SHENEREZS 8,500
Pt 300, 000& *x23| 600
EPNE=DN 3,950,000& *23| 7,900
- XA Z2H 3 170& x7, 224 Ml = 01 & 1,229
- NI EHIGHMEAHS 1,400
2N, 0N S EH 150, 000& *4JH A~ 600
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SN ES AN
M dEAgM g Y3
Chol: BES 23 (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
- X <= 50,000& * 161 &~ 800
=P el P ee R = 220,000& 128 2,640
-SAINFINBAE 150,000& *13] 150
~Flord BRI E 226,050 122 2,713
~ZIIBEI BIIE 24 242
330, 000& »5CH 1,650
OdzH| 105,517
-29d 1,325 1102 *28. 94L = 17CH 71,707
PN = 1,309 110 12, 85L*4CH 7,402
— At AL 1,309 1102 8. 97L~11CH 14,208
- FUHAEFAIA =Y 9,000
=N 250,000& »12& 3,000
or & I E 125,000 & *4J) 2 +12& 6,000
== W E=INI: ] 100, 0002 *32CH 3,200
OA&EHBIS Xl 50,783
- IH PR A S HH| 23,0003 »83CH 1,909
- S8 A YA 110,000 = 13CH 1,430
-2HEE 350, 000& »3CH 1,050
- 1197 LA T &H| 1,000, 0003 x2AMI E 2,000
-3 EdA,SIEHDI 300, 000& 7CH 2,100
- 2&J|2 XYl 9,600
-0 IIX= 1,500,000 *x20= 6% 1,800
ols,50= 1,000, 000 *130=*6% 7,800
—SHHEMHZ2FT 300, 000& *4JH 2~ 1,200
- SHHOIAEF X 22l 100, 000& *537CH 6% 3,222
—WEIIs X2 22,000,000 *6% 1,320
-2 EANLEF X 22
232,033, 3303 *6% 13,922
— E ACCTVSE Kl 2t el 5,000,000 *4JH 2~ 6% 1,200
- 2A2% Xl 6,930
—ZHOIXI A2 200,000& = 12& 2,400
- 11OMIE 20|88 FHIES 2,500
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SN S AN
HE: HSAYN A% A5
ool SIS Ut (Et9): & 2
SN -EHH . (B) - MPAY - BE2 0 Ak o4 giﬂgfﬁ HRE2

307 glz2told 29,790 23,790 6,000
05 BIZtREZS 29,790 23,790 6,000

OFANEALEH 23,790

O2+=Z3tA4E A2t 6,000
LXE A2l 265,391 218,001 47,390
201 LEr23H] 265,391 218,001 47,390
02 =224 265,391 218,001 47,390

O==22LAHA 265,391

- XS XAl 470,000& *3CH* 13l 1,410

-ANSIAEEE 19,848

AESE 211,910& »2CH 424

EESE 478,180 = 1CH 479

A2ESE 512,820& »15CH 7,693

S = 319, 97021+ 1CH 320

ENSEION] 277, 4003 »34CH 9,432

SESE PN 1,000,000% *1CH 1,000

Edgd 500, 000& 1CH 500

- XEASHAE 2,100

5E0[ & 25,0003 »290H 23] 1,450

50| et 25,0003 x26CH =13l 650

— Xt Bl 242,033

AESE 6,269, 000& *2CH 12,538

EESE 7,080, 000& = 1CH 7,080

A2ESE 2,714,000 *3CH 8,142

L2832 3,012,000 = 1CH 3,012

=Xt 4,747,000 12CH 56,964

b=t 4,980,002 *3CH 14,940

SIESIPN; 8,318,000 = 1CH 8,318

B 01 = 3,326, 00024 * 14 3,326

HIXt 3,983,000& *27CH 107,541

=X 4,980,000 *2CH 9,960
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SH: FELUA
o osSAUN Awe 23
ool BEHSY 2t (£9: @)
_ _ HE T
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
202 01t 316 564 ~248
2 316
01 =LHoit| 316 564 1248
SET PN NE] 316
2 316
NEEEXL 10,246 12,782 ~2,536
=2 10,246
301 Yereaa 10,246 12,782 12,536
=2 10,246
09 BA2RLARAS 10,246 12,782 £2,536
OArS22IHI 1,902
2 1,902
o= 2,000
2 2,000
SEEE] 5,220
2 5,220
OolzH| 574
2 574
ool 150
2 150
oYL 400
2 400
ogagtye 422,450 412,929 9,521
301 YerEaa 422,450 412,929 9,521
03 olgAHXEZ 422,450 412,929 9,521
SYIER-E = 50,000
-DnSst 1,200,0008! *7% 8,400
- Cf st 1,300, 0002 32 41,600
OEs+Y 33,0008 %7802 * 123 308,880
o= 81,5008l *435 7802 *25% 63,570
oS LAY 26, 130 26, 130 0
307 212+0I A 26, 130 26, 130 0
02 SI2FAEE 26,130 26,130 0
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SN S AN
M GSAUA AW L3
el BESE 2 (5l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
OAUHE L MU 23 2120 AT
100, 0002 *10% 1,000
ODI2H0l AAAIRE AHIEA
50,0002 *3% * 123 1,800
AYHHARE 51,965 51,431 534
201 L2yl 44,065 42,031 2,034
01 ARl 38,300 37,500 800
ORI PRS- 36,300
ouxz 2,000
=PRI 500, 0002 *2Ch %23 2,000
00 B2 5,765 4,531 1,234
OZZ2YHAl 3,965
-2dAxgEE 28, 14021+ 116% 3,265
—HABABLY WH2S2H
35,0002 x20% 700
ozed ozl 1,800
L LI 100,000 *97H £ %23 1,800
203 AREXY| 1,200 0 1,200
03 AMFZALFZY| 1,200 0 1,200
OAYAREX 1,200
405 TrarE S 6,700 9,400 A2,700
01 HUUSEF=Y] 6,700 9,400 A2,700
o™ 350,0002 2L} 700
OHMEDI 400, 0002 *5LH 2,000
Oz 550,000% *2CH 1,100
SN ELEPE 2,500,0002 *1 K € 2,500
OB A 200,0002 2L} 400
RN 192,848 240,430 N4T7,582
B AAI 2 F bl 65,000 114,500 49,500
401 AlSHIL 2 O] 65,000 114,500 49,500
01 Al&H] 65,000 114,500 243,500
OBASHEI AL SR 200M+45, 0002 9,000
OME SR Za ALK 8,000
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SN GSAUA
Bu: dsaud Age 2y
ool Awe BY Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OF A2 HCHA X (&2 8,000
Osgdsd &X 100, 000& *50 4 5,000
OOt ™M &M 500Xl = 01 E4*10,000& 5,000
Oat=T ASHEEIZ I T AL 30,000
ASEZLAAE 22 52,570 34,470 18,100
201 LB IH| 2,570 2,470 100
02 =329l 2,570 2,470 100
OAl & &HI KX | 2,570
—agE a2 20,000& #2571 2~ +1/2 2,570
401 Al&EHILL20iH] 50,000 32,000 18,000
01 Al&H| 50,000 32,000 18,000
(@FEAY=I FS P E=] 3,000, 0003 =100 2~ 30,000
OAZNEE > 2,000,000& * 1000 2~ 20,000
AYHHIES 75,278 91,460 AN 16,182
206 M= 31,960 28,660 3,300
01 MNZ=bl 31,960 28,660 3,300
O3 M & A3k 1,100,000& 6 E & 6,600
Ogs2s 15,0002 * 100 & 1,500
ORSX&HEASE 20,0002 1201 x24 3| 5,760
O=ggHa Z3E 50,000& *30H 1,500
OFSXSESHINES 600,000& x12CH *23] 14,400
oAz 15,0002 *80H 1,200
O =adEE 20| 20,000& *50JH 1,000
405 RAHAFR SHI 43,318 36,800 6,518
01 XML SSFSHI 43,318 36,800 6,518
O3S & 2 ZHH| 30, 130
—AIZASSAAE 4,400,000 *2CH 8,800
- S EAREY 242, 000& 61 2 x5 7,260
—SEEA 77,000 *6IH 2~ *x5I4 2,310
—agSA 77,0003 x80& 6,160
-2 & 200, 000& =101 2,000
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SN

chel:

o
B o
EN

= B E(BH) - NIRAY - BAS sl e HlRE2

200,000 184 3,600
8,170
— G0l X H el 30,000 =184 540
330, 0003 *11H 3,630
2,000, 000& 24 4,000
2,880
600, 000& 2= 1,200
40, 000& x20H 800
44,0003 20K 880
500,000 *1CH 500
265, 0003 »4CH 1,060
289,000& 24 578

HHE2H 6,667,388 6,477,718 189,670
= 600
L= 6,666,788

QA2 A 6,465,336 6,275,978 189,358
= 600
& 6,464,736

ol 6,465,336 6,275,978 189,358
= 600
= 6,464,736

5,792,996 5,627,168 165,828

2,933,621 2,863,792 69,829
2,728,949
2,728,949
3,143,800 x 18«12 37,726
2,928, 1003 x2H 123 70,275
2,405,600 x7E« 123 202,071
2,317,600& x9H 123 250,301
1,943,700& 328 122 746,381
1,622,300 x54H «12& 1,051,251
1,104,000& x288 x12& 370,944
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SEPEIYY
UHSABH (YSLLH)
o223yl

SN CR(EH) - NRAY - BES

J

-3z
- 26601 &t
- 208 ~25E 0| 8t
- 158~204 0] 8¢
- 10E~158 012+
- 5E~10= 0 8¢

Ct
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rJ
10
4

_Ol
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r
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o
Pl
Ho
=
He

ISUHE AR

—plR Ay
TR
~ S A A
G- Re
—sSax224Y
03 FUZ Al
OEEY

X
=]

n

RS

o&dz2+¢ 2,728,949,000& / 128 »45%*23]

40,0002 x97& «12&

20,0002 «286F x12&

50,3102 x12H *43
419,000 x5& »43]

371,2903 »3H *43]

130,000& »4H 12
110,000 «11E 122
80,000 *44&H «12&
60,000& 30 123

50,000 x20& «12&

50,0003 x133F « 12
40,0003 x5 123
30,0003 x4 123
50,000& x1Z ~12E

80,000& 1112123

3,181,000& »9%x1H 12

40,0003 «2E ~12&

130,000& 133 122

204,672

1,555, 167

1,132,918

665,123
332,512
135,283
422,249
115,200
46,560
68,640
15,253
2,415
8,382
4,456
96,600
6,240
14,520
42,240
21,600
12,000
79,800
79,800
2,400
2,400
1,440
600
106,560
3,436
960
207,480

207,480
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SN ESLUA
HH: SNSRI (YSAYA)
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
04 wWES2xHl 198,000 192,480 5,520
OFE-" &SI 140,000& *3H *12& 5,040
Ooaxgd & 130,000 *48H » 123 74,880
OLgr Al 120,000& *82H x12& 118,080
05 ZESFOHI 272,895 266,400 6,495
OE=H 2,728,949,000& /122 *120% 272,895
06 JtAHXI&HI 455,735 444,887 10,848
OE=2H 2,728,949,000& *16.7% 455,735
07 SItEAHH| 151,609 148,000 3,609
oHs , E2H
2,728,949,000% /12& *1/30=20 151,609
09 RIAHAZZ2XNE S 18,489 16,634 1,855
Otz E= 17,278
-=2 32,390 2532 x 1 8,195
-d0=3 8,194,670 /128 400% 2,732
— A2+l 6,070& x15A 2t 12 1,093
PN, 32,3903 x 15 486
-5 32,3903 104 3,369
522y 48,5803 12 583
-&A12E+E 8,194,670& x10% 820
OBHIERE= 1,211
-UAHZIREZ 17,282,000& *4.5% 778
EIR=ol=: = = 17,282,000& *1.3% 225
- MM EEZ 17,282,000& *1.2% 208
203 YLEAY| 47,020 44,070 2,950
= 600
& 46,420
01 JI22ggRFL8Y| 9,600 8,800 800
OLENE 4,400
Ot HEHE 5,200
02 HAINMHRFEI 5,620 5,270 350
OZJ AL & 2| 5,020
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SN FSAUN
HE: SH2AAY (FSLYN)
Sl Ol 2| (S5l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
SECETEISIEE 600
2 600
04 SHNSYARZTY| 31,800 30,000 1,800
OZY, S8 22 FMOHUE
350, 00021 #40H 4 * 12 16,800
OAYBHY, YSPEW HBUSH IS,
SEDED 250, 00024 *57H £ * 122 15,000
204 HRLBAY] 625,320 604, 740 20,580
NIEEEEEEYET 15,000 14,400 600
O2YNE 4000002« 12 * 122 4,800
O 100, 0002 %2 * 122 2,400
OQFME , PENE 100,000% 624 122 7,200
SERIVEI=E 50,0002 +12§ x 122 600
02 XXM 197,640 193,620 4,020
OLYH 4000002+ 1% * 122 4,800
PN 250,000% +2 % * 122 6,000
PN 55,0002 * 162 * 122 29,760
P 140,000 +32% + 122 53,760
O28D A 105, 0002 +82% + 122 103,320
03 SHYPLse S| 412,680 396,720 15,960
OtHe 2=t 50,0002 #1238 122 73,800
O sy 170,000 * 1328« 122 269, 280
OREP2ESH| 100, 0002 *58% + 122 69,600
ol =2 202,052 201,740 312
o= 2| 202,052 201,740 312
201 Yeregy) 90, 152 87,240 2,912
01 AF=R2elt] 87, 162 84,240 2,912
OJlz4+ =t 19,832
Osgy+g 39, 180
-yl 29,180
SET: 30,0002 28 1122 6,720
- &= 30,0002 %2 *3652 21,900
UM ER 24 20,0002 22 +2192 8,760
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SN FSAUN
HE: BH2AAY (FSLYN)
Sl Jl2 | (St5: &8 2)
5 o SIEN
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o bRz
gEEY 30,0002 +12+602 1,800
epIEE=H 28, 140
2 ZT2Y 3,000 3,000 0
OZZRILHAl 3,000
-2mHLsE 50,0002 * 122 1,800
~SMSERES MHIA 242
100, 0002 * 128 1,200
202 o1t 87, 100 83,900 3,200
01 =UHoIH 87,100 83,900 3,200
OJ1=01t| 87, 100
405 XH&HF S| 24,800 30,600 5,800
01 HMUSEBFSH] 24,800 30,600 5,800
OLE=(STUSEH) 1,600, 00021 *1CH 1,600
OYLSAEH 1,200,002 * 154 18,000
OANA (AYBHD WE2XD, SH)
400,0002! 34 1,200
ODRIE(YSTEN, SHME SHAXMH)
1,000, 00021 *3CH 3,000
ORYMSI(YSPED SH)
500, 0002 <2CH 1,000
HRES(SS2YAM) 221,000 73,077 147,923
SHEXE 221,000 73,077 147,923
PENE(ISLYN) 221,000 73,077 147,923
311 RYBOIRAE 51,000 73,077 ~22,077
06 JIEIXLS0IXtas 2 51,000 73,077 £22,077
OYSALNUE 51,000
601 MUIAS4E 170,000 0 170,000
ECENEEEEERE 170,000 0 170,000
OYSALMNAS 170,000
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SH BBAUN
Hm: ZHAUA A9 2
chel BEGSS 23 (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SHAEN 6,676,817 6,403,881 272,936
= 25,951
& 6,650,866
SHAYN A A 1,303,665 1,217,512 86, 153
= 25,351
= 1,278,314
dyUsS=E 23 1,057,936 982,802 75,134
= 25,351
= 1,032,585
AYEA 2 EHHISX 22 264,958 247,477 17,481
201 B2y 247,028 229,547 17,481
02 =32gH| 247,028 229,547 17,481
O22222HA 134,743
-0NeEI| HIIZE A 120,000& *15CH 1,800
—R&INEA =2 3,490
- &AL 63,000& *30= 1,890
- AP A 40,000& x30= 1,200
HE L TSI S At 8,000& »50= 400
—-dsAE L T2 AISE
70,000& x12& 840
&g HAE 100,000 * 174 A~ 1,700
-283 A2 1,000,000& *12| 1,000
- Mol = 8,623
&= 55,718
-NEg3H= 23,191
-&I3ANES 17,246
-0ls&ESAIES 50,000& =18 =122 10,800
-SHENEREZS 7,770
A= 35,000 *23| 70
JNE=PA; 3,850,000& *23| 7,700
- XA Z2H 3 170& %2, 261 XMl = 0| & 385
- NI EHIHMEAHS 1,050
2N, 0N S EH 150,000 *2JH1 2~ 300
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SN BHAYA
mu: SHASA AU 23
o HEYS 23
S E O (EH) - MRAY - B Of 4 o e
- o= ° I T ° - (= (=3 =5 0:”/.:"%
- X <= 50,0003 =154 A 750
—LPGAIL] HHAMAUEEHZ 140,000& 12| 140
~BIEHEI BIIE 2H 442
330,000 =3CH 990
OdzH| 60,215
-22d 1,325& 110 37 . 74L+2CH 11,002
- Xauz 1,309& x 1102 10, 32L* 14CH 20,804
— At A e D] 1,309 1102 *16.52Lx9CH 21,409
- FUAE FHAAZHI 4,500
==Y 250,000& 128 3,000
ot & Hl E 125,000& * 104 2 *12& 1,500
== W E=INI:] 100, 0002 *25CH 2,500
OA&EHIS Xl 52,070
- IH PR A S HH| 23,000 *60CH 1,380
- SE A YA 110, 000-& *22CH 2,420
-Z2HEE 350,000 =2CH 700
- 1197 LA T &H| 1,000, 0003 x2AMI E 2,000
—HIHESZY AL, SISED 300, 000& »3CH 900
-2 IR XYl 11,580
- DEIX= 1,500, 000 *20= 6% 1,800
-0ls, 5U= 1,000, 0003 *163=*6% 9,780
—SN,HMEHZ R 300, 000& *3H & 900
- S&HOIE R X 22 100, 000& *493CH *6% 2,958
—WEIIK X2t 22,000,000 *6% 1,320
- 22 EANLEF X 22
232,033, 330& *6% 13,922
— EAMCCTV & Xl22ldl
5,000, 000-& *20H 2~ *6% 600
bak—2= Y] 9,240
- S HOIXI =X 22| 200,000& x12& 2,400
- 1M E 0|8 FHIES 1,750
307 glz2told 17,930 17,930
05 BIZIRIE S 17,930 17,930
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SN BBASA
M SEAGM A% T3
ool BIOS 25 (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O&FAN HASAH| 17,930
= PNE= SN | 227,056 195,463 31,593
201 B2 I 227,056 195,463 31,593
02 22294 227,056 195,463 31,593
OZ2ZSYHA 18,442
— XS XHA 470,000& *x2CH 940
-AsSi BEE& 15,652
- AESE 211,910& *2CH 424
- SEEE 478, 180& *2CH 957
- AESE 512,820 = 10CH 5,129
- AESIE 319,970& = 1CH 320
=N 277,400 *30CH 8,322
- Edlgd 500, 000& = 1CH 500
- XHHASSAZ 1,850
- 5E O & 25,000 x28[H*23| 1,400
- 5E 0] B 25,000 x18CH*13] 450
OXt& A Ety| 208,614
-AESEE 6,269,000 *2CH 12,538
-=853 7,080,000 ~2CH 14,160
= E=ly 2,714,000 *2CH 5,428
- 2852 3,012,000 = 1CH 3,012
-3 Xt 4,747,000 *8CH 37,976
-10J1 =23 4,980,000 *3CH 14,940
- otarxt 8,318,000& *2CH 16,636
— B & Xt 3,326,000 = 1CH 3,326
—HITXx 3,983, 0003 *22CH 87,626
- 32Xt 4,980,000 *2CH 9,960
-Ed e 3,012,000 = 1CH 3,012
AESAIR Y 18,500 11,700 6,800
201 2ErEIH| 14,500 8,200 6,300
01 ArR2t2|bl 1,900 1,900 0
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SN BBASA
M SEAGM A% T3
chel BEGSS 23 (et9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 AtR22id] 40,000 39,200 800
Oget=2H| 38,000
-3 4&+EH| 38,000
OYxt= 2,000
-2J|&d X 500, 000& *x2[H*23] 2,000
02 =224l 4,268 3,491 77
OZ2Z=2YHA 2,868
-2MdNEE = 28, 1403 82 2,308
—SHZHSRH MEESEE
35,000& x16H 560
OZRY oz 1,400
L LIPNE— 100,000 +7JH 2 #23] 1,400
203 YRFEH| 1,200 0 1,200
03 AMF=XAIFZAH| 1,200 0 1,200
OAYAHARE=A 1,200
405 AHAHR SHI 10,750 9,050 1,700
01 XML SSFSHI 10,750 9,050 1,700
OANIE DI 400,000& =5CH 2,000
o4& 550, 000& = 1CH 550
2R HED 1,000,000 = 1CH 1,000
o1V 350, 000& =2CH 700
ool 250, 000& =44 1,000
onelgxs 250,000& =14 H 3,500
oZaty 500, 000& *2CH 1,000
Oggl(ZetAe)o Xt 10,000 = 1004 1,000
Al g2 245,729 234,710 11,019
A AAIE F Y| 135,000 115,580 19,420
401 AIEZHIZLE204Y] 135,000 115,580 19,420
01 Al&H| 135,000 115,580 19,420
OdHXMSWEDI| WH 80,000
O2Md AY SFINH 25,000
O2AM Ua2a &HINA 16,000
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O&AL CCTV Al 2,000,000& 24! 4,000
OSAlA HI&ER W 10,000, 0003 * 1A 10,000
AgtEasAld 2] 32,470 35,190 A2, 720
201 LBHEHH| 1,470 1,190 280
02 =294l 1,470 1,190 280
OA&&Hl = XYl 1,470
Y= A= R gl 20,000 & * 14700 2 %1/2 1,470
401 Al&HIL=HY 31,000 34,000 A3,000
01 Al&HI 31,000 34,000 23,000
OL3td AA 3,000, 0002 *7IH 2~ 21,000
Oastd B 2,000,000& x50 A 10,000
LYY S 78,259 83,940 A5,681
206 M=l 28,890 27,890 1,000
01 M=l 28,890 27,890 1,000
O3 MHA A S 1,100,000& «7E & 7,700
ozt 15,000& 100 1,500
OFRS AL = 20,0003 »8LH «24 3] 3,840
Osdzy E3E 50,000& *30H4 1,500
OAgI| &% 15,0002 904 1,350
O72NESHIES 600, 000& »8CH 23] 9,600
OtFSF=AIINE 80,000& 30Nl E 2,400
Ot=3d8a 2] 20,000 *504 1,000
405 K& SHI 49,369 56,050 A6,681
AL SEFHSHI 49,369 56,050 6,681
OsgLadED 5,500, 000& = 1CH 5,500
Ot & & &t 28,530
—AFFAESAIAE 4,400,000 »2CH 8,800
—HEIRREY 242,000 x4 2 *5I4 4,840
-ggEA 77,000 *4I4 2~ *5 4 1,540
—AYSA 77,000& x502 3,850
-0l 100, 0002 * 104 1,000
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SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
— IS AlE 200, 0002 * 104 2,000
—2& 200,000 =104 2,000
-dgsEdRe 50,000& * 104 500
-SA S2dS 200, 000& * 1094 2,000
-2sE 200,000 =104 2,000
OFRZ=&H| 2,739
-—S=XZE ST 1,650,000& x 1Ml E 1,650
-2 ERH 121,000& =94 1,089
O7=ZHl 3,600
-JIEEBHNE 550, 000& 2Nl E 1,100
-—E2=3)| 130, 0002 * 104 1,300
— ABHAIDHHI A 600, 000& *2JH4 1,200
OsUE R8I 800,000 ~6CH 4,800
OEN=ol Py 1,400,000& *3H 4,200
HY2IHZH(SHAYAM) 5,373,152 5,186,369 186,783
= 600
& 5,372,552
ol 2| 5,195,572 5,015,379 180,193
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& 5,194,972
ol 24| 5,195,572 5,015,379 180,193
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& 5,194,972
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A 2,981,400& «2H 123 71,554
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A=A 2,283,1002 ~8H x12& 219,178
SYE 2,059,000 *30E = 12& 741,240
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2 2EAL 1,104,000 x 144« 12& 185,472
o&2=+¢ 2,251,168,0003 / 12& *47%*23] 176,342
02 =% 1,193,325 1,140,192 53,133
Oz 826,274
— A2t 2RY 502,061
o222 227,634
=1 Fmt =y 96,579
OZAUH 367,051
- F2FEI0H3 100,800
- 25901 & 130,000 *16H x12& 24,960
- 20~25E 0] et 110,000 *24Y x12& 31,680
- 15~20 0/ 8t 80,0003 30 122 28,800
- 10~15 0) et 60,000 x8ZH 123 5,760
- 5~10& 0/ et 50,0003 x16H ~ 122 9,600
-IIE 92,880
bl < Xt 40,0003 x82H 122 39,360
A EHIS 20,0003 x223F = 12& 53,520
- NHEH B 29,650
EsW(12X) 51,4003 x19% x4 3] 3,907
MES=MAGE=DN 420,790& 10 43| 16,832
nSstu(e= 371,290& x6H x4 3| 8,911
-2 60,600
g3 50,0003 *101E =12 60,600
—HRHR G 40,000 x1H 123 480
ot ae e e 120
st 10,0002 1H x 12 120
- QIRAAI Y 30,000 x5H »12& 1,800
—HAMAR G 30,0003 *1H«12& 360
- StMAS =Y 80,0003 +x78H »12& 74,880
- Asxe2d L HHgRsE 1,920
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RETEPSY 40,0009 *4% * 128 1,920
—delgRag 3,297,000% Q% 122 3,561
03 FUZ A 157,560 152,880 4,680
OgSH 130,000 %1012+ 122 157,560
04 DEBEH] 151,560 146,830 4,680
023, 140,000% 32 %122 5,040
029,98 30,0002 #4535 122 70,200
O28D A 20,0009 ¥532 122 76,320
05 YEEIH 225,117 218,754 6,363
LY 2,251,168,000% /122 *120% 225,117
06 It Xl 375,946 365,318 0,628
oA 2,251, 168,000 16.7% 375,946
07 oobB A 25,065 121,530 3,53
SLEN-T=)]
2,251,168,000% /128 *1/30+202 125,065
09 RIHAZZXE2A 18,489 17,519 970
OSteLed 24 17,278
-=23 32,3002 %2532 +1% 8,195
- 4013 8,194,6702! /128 +400% 2,732
— Al2rel g 6,070 * 15A] 24+ 122 1,003
— QiR 32,3002 %152 486
-F549 32,3002 *1042 3.369
-g5239+g 48,5809 #122 583
-Zl244g 8.194,670% «10% 820
OIS 1,211
-=pieigrea 17,278,002 *4.5% 778
L= 17,278,002 *1.3% 225
N 17,278,00024%1.2% 208
203 YREIH] 35,120 31,080 4,040
2 600
= 34,520
IEEEEEEETY 7,000 6.400 600
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HH: HESARL(SEAYA)
&Rl el 2| (ctel &
SN HH G (EH) - MBAY - BYS Ak e 2
OxgME 4,400
Ot HIHE 1,300,000& »2H 2,600
02 HRIMPRFEY 4,600 4,280 320
O&J A& 2| 4,000
OolRAMH ADIREY] 600
2 600
04 REN2IIRFLY 23,520 20,400 3,120
OiLdad@) HSAIN JEUHEH, BE,
a2 EH 250,000 *5H 2 12 15,000
OS2 otH i 350,000& 123 4,200
O AFOHAM HIE 360,000& 123 4,320
204 R AH| 485,880 464,160 21,720
01 ¥ SHSHAY| 12,600 12,000 600
OLEME 400,000& 1H«12& 4,800
Ons 100,000 *2H 122 2,400
OC8Zlsed 50,0003 1Z«12& 600
OCHMMIEHZE, A EUHE 100,000 4 123 4,800
02 Hs=2x2l 155,880 150,480 5,400
OEN -1 400,000 x 1+ 123 4,800
OF-"g= 250,000& 2 x 123 6,000
OFEN- il 155,000& 15 =122 27,900
OLxYH 140,000 *30H x 12 50,400
O, At 105,000 & +53H « 122 66,780
03 EZYSYEsH| 317,400 301,680 15,720
OCtHel g sl 50,000 x93 12 55,800
Ogsasl 170,000& «100H 12 204,000
Oxxz7=gs=tl 100,000 *48H x 123 57,600
PET 177,580 170,990 6,590
=&l 177,580 170,990 6,590
201 Lt 77,980 76,140 1,840
01 At 2eld] 74,980 73,140 1,840
OJI2+=&Hl 14,800

_99_




SN SEAYA
MM HESHAH (SHAYUAN)
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o244 39,180
— =X 39,180
- 2 ZIH| 30,0002 x2H 112 6,720
=X Y| 30,0002 x2H x365 21,900
sy 24 20,0008 x22% %219 8,760
SRS 30,0002 x 12 60 1,800
OJl=2| 21,000
02 2229 3,000 3,000 0
OZ2Z2SYHA 3,000
—REUE2 150,000« 122 1,800
-SMSEXNESMEIA =22
100,000« 122 1,200
202 O] 65,000 63, 100 1,900
01 =2LHOIHI 65,000 63, 100 1,900
OJ1=20H| 65,000
405 KHAHE S 34,600 31,750 2,850
01 XAMYESEFSH 34,600 31,750 2,850
OFXSAD| (SIS, SIal)
4,000,0002! *2H 8,000
OUXNEHAH (M-SR
4,800,000 *1CH 4,800
odidg(gzaused, s¢)
2,000,000 2CH 4,000
OZAESI|(HEUESC) 600,000 =1 CH 600
OgRHEH(LH) 1,200,000 *8CH 9,600
O-ES(LH-AYsHA D) 1,600,000 1 CH 1,600
OZZH(EY, 42X QR X)
1,000,000 *4CH 4,000
OUXEIINeHEEUHE, U SEHRE, 1
AR E) 500, 00024 *4CH 2,000
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6,387,008 5,432,100 954,908
2 23,333
& 6,363,675
EN=l= A e 2,198,303 1,576,319 621,984
= 22,733
= 2,175,570
A2 757,453 701,759 55,694
= 22,733
= 734,720
AR EHI S X2 250,177 227,348 22,829
282 AL 218,877 196,048 22,829
S=229H| 218,877 196,048 22,829
O22222HA 112,124
- NEIIEIIE A 120,000 *20CH 2,400
- R&INEIE A= E 1,350
SO Z A 63,000& *10= 630
INESEE=DNS 40,000& x10= 400
Moot B E SOt 8,000& *40= 320
-dsAY L THAASE
70,000& x12& 840
-dSHA 100,000 8 2~ 800
-S43 A 1,000,000& *12| 1,000
- Mol = 8,820
&= 37,359
-NEg3H= 16,275
-&IANES 26,460
-0ls&ESAE=S 50,000& = 10CH =122 6,000
—S$ANERES 4.520
A= 160,000 23| 320
RPN 2,100,000& *23| 4,200
- XA Z2H 3 170& %2, 011 Ml = 0l & 342
- &I t™EBHEZ 550
2N, 0N S EH 150,000 *2JH 2~ 300
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1,000,000& 1M E

1,500, 000& *9= *6%

1,000, 0003 *94= *6%

100, 0003 *350CH *6%

5,000, 0002 »1JH 2 %6%

50,0002 504 A&
140,000& * 13l
220,000 128
150,000& *13]

151,500 =122

330, 000& »2CH

250,000& 122

125,000 «12&

100,000 «21CH

23,000 =67 CH

110, 000& +20CH

350,000 1 CH

300, 000& »2CH

300,000& =401 2

22,000,000& *6%

232,033, 3302 *6%

200,000 128

250
140
2,640
150

1,818

660
63,312

18,700

10,800

27,212
4,500

3,000
1,500
2,100
43,441
1,541
2,200
350
1,000
600
6,450
810
5,640
1,200
2,100

1,320

13,922
300

7,188

2,400
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CHelr BETISH 2 (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
— &I =Xl 22 1,620
—119MB 20|18 FHIE=* 1,250
307 2IZ2t0lA 31,300 31,300 0
05 QIZtREZ 31,300 31,300 0
OFMNELED 25,300
OL=FstAI &I E 2| 6,000
LRI EF A2 132,251 112,178 20,073
201 Lpt3H| 132,251 112,178 20,073
02 2=29%H| 132,251 112,178 20,073
O3 2 HMA 11,812
— Xt= XAl 470,000& +3CH*13] 1,410
-A=sxEE= 9,352
L2EEE 211,910 =104 212
L2ESE 512,820 =94 4,616
EAR =Rl = 319,970 »2CH 640
DXt 277,400 »14CH 3,884
- XAHHSAME 1,050
5E 0] & 25,0003 *16CH x23] 800
- 5D 25,0002 10CH* 12| 250
OXt&t 4 Bl 120,439
-2dSE 6,269,000 *1CH 6,269
-Z85E 7,080, 0002 *2CH 14,160
-28sE 2,714,000& »2CH 5,428
-Agst= 3,012,000 *1CH 3,012
- 7=k 4,747,000 ~6CH 28,482
- 0Jt=2E 4,980,000 »2CH 9,960
— 3SRt 8,318,000 *1CH 8,318
-8 3t 3,983,000 = 10CH 39,830
- =X 4,980, 0002 *1CH 4,980
AEALIS Y 17,900 11,100 6,800
201 L3 13,900 7,600 6,300
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SH: REAYA
Hal: NEAGNALAYS
ol EEUS Y (5l &2
_ _ HE T
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Rz
SRR ENCERTIE
50,0002 *3% *123] 1,800
AHYARET 46,107 50,557 A4,450
201 er2g| 43,407 41,957 1,450
01 At 22l 40,000 39,200 800
OgergH| 38,000
= L=t 38,000
ouxtz 2,000
-2\ AR S YR 500, 00081 *2CH 23] 2,000
02 ZT2Y| 3,407 2,757 650
OZZRIYLHA 2,207
-2ENRER2 28, 1402461 1,717
—HNBABRAMERERE R
35,0002 143 490
oz 92 1,200
~ X iy AtorE 100, 0002 67} 4 x23] 1,200
203 Y= 1,200 0 1,200
CINEEREEESTY 1,200 0 1,200
OAHLEX 1,200
405 Xtz S| 1,500 8,600 A7,100
01 XAUSEHSH] 1,500 8,600 A7,100
OAIED] 400,00024 #1CH 400
OY=D 550,000 *2CH 1,100
I Tk S 11,095 10,620 475
101 QI2AHl 11,095 10,620 475
10 JIZH22NELS 11,095 10,620 475
OQIsY 39,8802 x2602 * 1 10,369
SER-LI== 726
PR 1,440,850 874,560 566,290
& AN & F | 70,000 75,000 A5,000
401 A&HILRHH 70,000 75,000 A5,000
01 A&H] 70,000 75,000 5,000
OPIR AT T A 30,000
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SN DEASA
B AEAUNAS AL
Chl: AYHAEY (el =
S CRI(SH) - HRAY - B sl e HlRE2
FIESEIMH 25,000
FEA(RELU,AY LE=ZA 15,000
A& 2t 33,200 34,600 21,400
2 et | 1,200 1,200 0
23234 1,200 1,200 0
OAI& EHIR XY 1,200
—AagEsae 20,0003 12000 A +1/2 1,200
ANEHI LRI 32,000 33,400 A 1,400
NE=1:] 32,000 33,400 A 1,400
AN AA 3,000,000& *404 A 12,000
A5HN E= 2,000, 0003 * 1001 £ 20,000
&S 82,335 99,960 A17,625
206 THZ=HI 27,250 26,250 1,000
M = 4l 27,250 26,250 1,000
S &2 A 3t H| 1,100,000 +8= & 8,800
g =0tA3 200,000 * 104 2,000
gL E 15,000& 1002 1,500
=P e 20,0003 +6CH*243] 2,880
SHEHUAEZSH 50,0003 »20JH4 1,000
eSS HXNES 600,000& *6CH 23] 7,200
St X XIS 15,000& 1204 1,800
LI B 15,0003 *18H 270
OOFSFAIIME 80,000& 10N E 800
OH=Z228 20 20,0003 x50CH 1,000
405 KHeHE SHI 55,085 73,710 N 18,625
A= EFHSHI 55,085 73,710 A 18,625
O3St & & &I 26,485
—ADJYEIAAL 4,400,000 *2CH 8,800
- E AT 242,000 *3IH 2 +5I4 3,630
-gEsA 77,0003 *3IH 2 *50H 1,155
—AYSA 77,0003 100 7,700
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SN
X XH .
(=

chel:

M-8 SRI(310) - MRAY - BeS sl e HlRE2
-2 200,000 * 104 2,000
— g3t 600, 000& *5JH4 3,000
ua—==p)| 200,000& 14 200
O7x=ZHl 18,100
— NS AEHXIE HD| 2,000,000& x1MIE 2,000
—SHMARZTEESS 500,000& x9NI E 4,500
— oA ZNH 200, 000& *5MI E 1,000
- RLEHEH 3,600,000 1M E 3,600
-HoS 1,000,000& 1M E 1,000
— Ol Of =4 3,000,000 1M E 3,000
- X=elZE | 2,000,000& x1MIE 2,000
A= 1,000,000& 1Al E 1,000
OPDA(L A ALE) 500, 000& *1CH 500
O3t = AHEHHI 2,000,000& 1M E 2,000
Ol 22s 200, 000& 204 4,000
Oool=& 250,000& 4Nl E 1,000
Ofelz=d 250,000& 8Nl E 2,000
ogld 500, 000& »2CH 1,000
A9 T HIE &S 1,255,315 665,000 500,315
401 AIEHIZSOYI 1,255,315 665,000 590,315
01 Al&HI 1,237,645 660,000 577,645
OAd=H| 950,000
OJI=L A AIZ A 46,645
OsN&EERE= 45,000
OEX =& S At 196,000
02 Zcltl 11,685 0 11,685
O A9t EIH &M= 11,685
03 AlZ=204dl 5,985 5,000 985
OE A9t EIH &= 5,985
HHSAAH (NELUA) 4,043,505 3,706,981 336,524
= 600
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SN AN
HE: B2 AAY (NHLYN)
chel: ol 2| CLRE
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
= 4,042,905
ol 2| 3,894,901 3,565,451 329,450
=2 600
= 3,894,301
ol 2| 3,804,901 3,565,451 329,450
= 600
= 3,894,301
101 Q124 3,494,241 3,205,931 288,310
01 JI=3 1,827,919 1,686,451 141,468
o2 1,700,389
- 4%H 1,700,389
PSIRS 3,320, 4002 1%+ 122 39,845
P 2,792,600% x2 % * 122 67,023
SPSIE 2,518,0002+7% +122 211,512
CAge) 2,350, 1002 +6 % * 122 169,208
AU 1,984,300 %232 « 128 547,667
S AYD 1,602,3008! %262 x 122 506, 158
C A 1,104,000 %12 * 122 58,976
oF-ER= 1,700,389, 000! / 128 *45%+25] 127,530
02 +g 831,811 800,070 81,741
Ozn2L4Y 612,666
—ARS R LY 386,052
—oRI2R4aY 154,413
-gYaRsy 72,201
OZUsg 269, 145
-JtE4g 71,760
VY 40,0002 %598 128 28,320
EpTETIES 20,0002 18124 +12% 43,440
S EETIEE 16,078
- ESD(1ZX) 51,4002 158 *43] 3,084
1SS D(12X) 420,790 +7% *43| 11,783
- DSstn(22) 302, 72091 +12 x43] 1,211
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T A LA
IS AU (NELYA)
el 2| ? A
SN I SRI(S) - NRAY - B sk S 2
0f 4 o8
-S0s&=H 500,000 x 1+ 123 6,000
-2 66,120
- 2530l & 130,000& 7 x12& 10,920
- 20~25 0] et 110,000& «13H x 123 17,160
- 15~20 0) et 80,000 x27H+12& 25,920
- 10~15& 0] et 60,000 x6 % 123 4,320
- 5~10& 0 ¢t 50,0003 x13E «12& 7,800
-2 46,200
B 50,000 +x77E«12& 46,200
- NSXH2dLEHPR+H 1,920
1SUHE AKX 40,000 *4H «12H 1,920
- QAR 30,0002 x4 ~128 1,440
—HMAR G 30,0003 1H«12& 360
—StM& S5 80,000& x58& 123 55,680
—2el PR 3,321,000 *9%*1H x 122 3,587
03 EHZAH 120,120 109,200 10,920
Og=H 130,000 «77H x 123 120,120
04 WE2XH| 115,920 105,360 10,560
OFE -\ Foi- 140,000 38 »12& 5,040
oaxgd & 130,000 *36H * 12 56,160
O, At 120,000 «38H « 122 54,720
05 HESOHYI 170,039 156,516 13,523
Og=2H 1,700,389,000& / 12& «120% 170,039
06 JtAHXI&HI 283,965 261,381 22,584
O&=H 1,700,389,000& *16.7% 283,965
07 AII2 4| 94,467 86,953 7,514
O3 =H 1,700,389,000& /128 *1/30%20! 94,467
203 YRF&dl 29,920 25,800 4,120
= 600
& 29,320
01 JI22dI =& 7,000 6,400 600
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A AELUA
M HEHAH(MELLA)
el el A| (ctel &
A -3 -H2A(SH) - HEAMY - BES O AFH %,‘igﬁ; Hos
OLYME 4,400
Ot HIHE 1,300, 000& x2& 2,600
02 HRAINMARFAY] 3,720 3,200 520
O A A& FH| 3,120
O ALA A& 2| 600
= 600
04 REN2IIRFLEH 19,200 16,200 3,000
OAgHFN, SSsPX, SHUSCH, 20
SUOLEMIE , MAE AR 250,000 «50H A+ 128 15,000
O Yetd ey 350,000& x12& 4,200
204 X AH| 370,740 333,720 37,020
01 HNAZFRaHAY| 11,400 10,800 600
OLdANE 400,000 x1H ~12& 4,800
O 100,000& «2H = 12& 2,400
Ot M, 2EE 100,000 3+ 12& 3,600
OC8Zlsed 50,0003 x1H =122 600
02 Hz=2xHl 121,500 110, 160 11,340
O -1gS 400,0003 x1H =122 4,800
OFS- 4= 250,000 2 x 12 6,000
OF= = 155,000& * 13 123 24,180
OEN=1FS) 140,000 *23H * 128 38,640
OLg Al 105,000& *38H x12& 47,880
03 SZFYRHet=tl 237,840 212,760 25,080
Ol &=l 50,0003 *70H 122 42,000
OxRxF=gsl 100,000 34 = 12& 40,800
OogseEhl 170,000 *76H x 123 155,040
Jl2&dl 148,604 141,530 7,074
Jl2Z | 148,604 141,530 7,074
201 B2y 70,104 66,880 3,224
01 AtE2teltl 67,104 63,740 3,364
OJl2+&Hl 11,544
o2g+¢ 39,180
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SN DELSA
M HHSAAY (NHALN)
Pl J1=2 38l 2 :®Me
SAH-HH . () - MBEAY - BHA2 Ao gggf; HRS2
—d=m Ay 39,180
2 XH| 30,000 »2H x 112 6,720
=& H| 30,000& x2H *365 21,900
ANsR24 20,0003 »2H x219L 8,760
SAgY 30,000 x1H x60 1,800
OPIE==1=1s] 16,380
02 =32ZH| 3,000 3,140 140
O232=2 2 HA 3,000
-EYsa 150,000& x12& 1,800
_SISS X ES MU ALAE
100,000& x12& 1,200
202 O4Hl 50,700 45,500 5,200
01 =2WdbI 50,700 45,500 5,200
OJl20n bl 50,700
405 RKtaHFESHI 27,800 29,150 A 1,350
01 L EEHSHI 27,800 29,150 A 1,350
OFTSA (Z) 4,000,000 ~1CH 4,000
Ot (Atsi ™ ) 2,000,000 =1CH 2,000
OgREZEH 1,200,000& *5CH 6,000
OZgle (Zolld, =) 1,000, 000& *2CH 2,000
OSAMSI(EEUSCSH, 2EH)
600, 000& *2CH 1,200
Oz gHoIS(HEUEH) 400, 000& *3H4 1,200
OAalIN(EAEUEH) 1,000,000& 1Ml E 1,000
OARE 2 At 200, 000& =101 2,000
OAMNRES Xt 200,000& =17 3,400
OAMU(Z6&, 22) 400, 000& *2CH 800
OZAMNESIN(ESY, 2EH) 600, 000& *2CH 1,200
Oyl 200, 000& * 10K 2,000
OUIXIE I A2 T 500, 0002 *1CH 500
O Ml (s x1) 500, 000& = 1CH 500
MPES(XNEAEA) 145,200 148,800 A 3,600
I=PSUNES 145,200 148,800 A 3,600
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SN SHAY
B SHAYUN A% U3
el Y g L8t ? A
SN I SRI(S) - NRAY - B sk e 2
SEAYAN 6,513,197 6,385,697 127,500
= 22,142
= 6,491,055
SEAYN LAY A5t 1,174,889 1,103,184 71,705
= 21,542
< 1,153,347
S =" 23t 937,418 847,964 89,454
= 21,542
= 915,876
ASEA & FHIRX 22 290, 153 253,110 37,043
201 LEH23H] 264,243 227,200 37,043
02 522944 264,243 227,200 37,043
O2223LHA 137,292
-0sEI| EIIEAM 120,000 *20CH 2,400
—S&IIEA =2 1,825
OIS AM 63,000& *15= 945
AE 2 AL 40,0003 x15= 600
HA LIS OtH At 8,000& *35= 280
—dSAEIEHC A EZ 70,000& 123 840
R = 100, 000& *9IH 2~ 900
-SY3FL 1,000, 000& *17] 1,000
—dotER3 15,840
-HIIe=3 57,000
-dE83dz 29,513
- HIMNEZ 14,700
-0ISdsANEZ 50,0003 *11CH~12& 6,600
—EANERES 4,220
a2 240,000& 23 480
EPNE=DN; 1,870,000& *23] 3,740
- XNLMHESHEB(HAIRER)
1702 *1,665M = 0| & 284
—HI|IZHIetE BHEE 850
=AM, HE A 150,000& *4 4 2 600
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SN SHAYN
Mu SHASA AwE 2y
e BE (22 23
SN HB SR (BIH) - A - B S 01l &k o S
- o= ° I T ° - [EEMREECES &= O:H{ﬂ,%
- XS 50,0003 x5 2 250
~ZOIEAED ZIREM 42
30,0002 *4C} 1,320
@)E=1:] 75,662
-2g 1,325% 1102 +38.43L+9CH 50,411
PN 1,309 110! +8. 18L*9CH 10,601
— At A D] 1,309 x 110 +11.69L+3CH 5,050
- FHAEHAIAZ Y 7,500
=AM 250,000& 123 3,000
SRSl =] 125,000& *30H A% 12 4,500
- =KX 100,000 *21CH 2,100
OAl& & HI= XYl 51,289
—QIEAXTAZEHI 23,000 +60CH 1,380
- SE A& 110,000 = 15CH 1,650
-BHEE 350, 000& »2CH 700
- 1197 AL &b 1,000,000& 2Kl E 2,000
-3 =EdA, BI15E0I 300, 000& »4CH 1,200
- 2HI|KFXIHI 10,470
18 IIX= 1,500,000& *13=3 6% 1,170
-0l , J5U= 1,000,000& *155= 6% 9,300
A ESPNFa =N 300, 000& *5IH 2~ 1,500
- SHHOIERX 2] 100, 000& *492CH *6% 2,952
—waJ| s X2l 22,000,000 *6% 1,320
—2ASAAIAE S X2
232,033, 330& *6% 13,922
— & At CCTVS Xl 2tel
5,000,000 *30H A~ *6% 900
iak—2 Y] 10,395
—SHOIXIS Xl &2 200,000& 123 2,400
-1 EER0|8 BHIE+ 500
307 QI2told 25,910 25,910
05 GIZtREZ 25,910 25,910
OFAMNELES 19,910
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SH: SHAUN
M SHABM A% T3
o°e HF UsS™ 25 (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OLL+HSGANELMIHESAIE 6,000
ARSI 2 205,080 173,661 31,419
201 B2 I 205,080 173,661 31,419
02 22294 205,080 173,661 31,419
OZ2ZSYHA 17,167
— XS XHA 470,000& *x2CH 940
-NsSiHEg= 14,427
- AESE 211,910& *2CH 424
- SEEE 478,180& = 1CH 479
- AESE 512,820& *x9CH 4,616
- AESIE 319,970& =2H 640
=N 277,400 x28CH 7,768
- Edlgd 500, 000& = 1CH 500
- XHHASSAZ 1,800
- 5E O & 25,000 x29[H x23| 1,450
- 5E 0] B 25,0003 x14CH*13] 350
OXt& A Ety| 187,913
-AESEE 6,269,000 *2CH 12,538
-=853 7,080,000 = 1CH 7,080
= E=ly 2,714,000 *3CH 8,142
- 2852 3,012,000 =2CH 6,024
-3 Xt 4,747,000 ~7CH 33,229
-o=24 4,980,000 *2CH 9,960
- otarxt 8,318,000& *2CH 16,636
-Hi =y 3,326,000 =2[H 6,652
—HITXx 3,983, 0003 *20CH 79,660
- 32Xt 4,980,000 ~1CH 4,980
-Ed e 3,012,000 = 1CH 3,012
AESAIR Y 18,500 11,700 6,800
201 2ErEIH| 14,500 8,200 6,300
01 ArR2t2|bl 1,900 1,900 0
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SN SHABN
HE: SHAUN A% L
ool Y (1S Ast (£ @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot Hws2
OYery a4 S| 36,300
ouxtz 2,000
-20|EY HTYR 500, 0008 *2CH 23] 2,000
02 ZT2YH| 4,587 3,796 791
OZZRIYLHA 2,987
-2ENRE2 28, 1402 +85% 2,302
—HHBHBRY WHEE2E
35,0002 *17% 595
oz 92l 1,600
~ X iy AtorE 100, 0002 x87} 4 x23] 1,600
203 Y= 1,200 0 1,200
CINEEREEESTY 1,200 0 1,200
OAYHLEX 1,200
405 XtorE S| 10,000 8,500 1,500
01 RALSEFSH 10,000 8,500 1,500
oy EEEPE 2,500,0002 14| £ 2,500
OFSEIIHIE 5,000,000% « 1Ml £ 5,000
OW=D 550,0002!*1CH 550
O& Al 200,000 *3CH 600
o1V 350,0002!*1CH 350
ol 500,000 *2JH 1,000
PR 237,471 255,220 A17,749
AN F Y| 140,600 138,920 1,680
401 AZHI L2 140,600 138,920 1,680
L 140,600 138,920 1,680
OB 22U (HBUSTHAIL, DIAA) 18,000
OXstal &AMWH(2A) 20,000
OSAY+TA(SH) 14,000
O#™ASDEI| DA 80,000
OXD JHIE =25 ¢ 2
1,700,000 %304 2 5,100
ORI NS &x 1,750,000 %204 2 3,500
ABESALB 26,390 36,390 210,000
I
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SH: SHAUN
M SHASM A% T3
Chol: gty (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
201 LBHEHH| 1,390 1,390 0
02 ==29gtl 1,390 1,390 0
OAI&E&HI= XYl 1,390
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A 2ASAIR A
H

HH: HH2ABHI(ASIARH)

Col: olet2 o] CLEE
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2

-== 32,390& *2532 x2H 16,390
-&03 16,389, 3403 / 12& *x400% 5,464
-&3l2s5+Y 16,389, 3403 x10% 1,639
— A2t =4 6,070 x15A| 2t+2H x12E 2,186
PN 32,390& 15 x2H 972
-5 32,390 104 «2Y 6,738
-sed22Y 48,5803 x 12 x2H 1,166
SEELIC 2,524
-IAZI RS 34,555,000& *4.5% 1,555
- 18P RES 34,555,000 *1.30% 450
— AN EE 2 34,555,000& *1.5% 519
O&ElA3 8,194,670 /128 »74 4,781

208 Y=Y 34,600 31,800 2,800

01 J|22F PRI 11,000 10,000 1,000
OMEXE 11,000

02 HRAIAHRF=ZAHI 5,600 5,600 0
O A A& Z Y| 5,600

04 BA2LEHRFEI 18,000 16,200 1,800
Ossggay 350,000& x12& 4,200
GEIPNI=g= gz PN 350,000 = 12& 4,200
O3 2ZdEZRAAA 250,000 x12& 3,000
OHFAHHMZRAA 250,000 = 12& 3,000

QUSAS MAAM, HE 2322 A

100,000 #3412 3,600

204 X HH| 226,980 232,560 25,580

MMZHRH A 36,600 36,600 0
OMBHE 600,000& x1H =12 7,200
gga, d2AH 350,000& 7 +12& 29,400

02 &z 154,380 160,560 26,180
o232 650,000 x1H «12& 7,800
O4= 400,000 x8H = 12& 38,400
Ob53 250,000& 9 x12& 27,000
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R HEENESS
M HE2HAH(ASIAIRH)
chol: o2l 2ot (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OL= 155,000 x 16 * 123 29,760
or= 140,000 *18H x12& 30,240
O8~92 105,000 *15H * 123 18,900
OJ1s103 95,000& x2H x12& 2,280
03 SZYR-HE =Y 36,000 35,400 600
O g sl (520135t) 50,0003 +x60H 122 36,000
Jl2&dl 229,640 231,300 A 1,660
JlE2Z | 229,640 231,300 A 1,660
201 L3 72,440 70,650 1,790
01 AtE2teldl 67,190 65,400 1,790
OJl2+&Hl 29,540
OJIZ2=&Htl 36,750
OIl=tHl(REsa2e=s) 300,000& x3H 900
02 2224l 5,250 5,250 0
OoRER 1,750 2500 = 12 5,250
202 Oidl 154,700 154,700 0
01 =Wobl 154,700 154,700 0
OJI20Hl 154,700
405 K SHI 2,500 5,950 A3,450
01 T =SSHSHI 2,500 5,950 3,450
OHB N (A, 2Y) 600,000 & «2CH 1,200
OZAESI(MHA) 600,000 = 1CH 600
Oddbl & (H&EA) 700,000& = 1CH 700
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SA RpRICISE
Y S=S HEE OHYY
Chol: sHAIOIZ oY (E9): & @
_ _ - HEc
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
XX 0 4 & 4,924,160 4,754,934 169,226
=2 304,800
= 4,619,360
=2 W AL 2,046,474 1,338, 101 708,373
=2 279,000
= 1,767,474
salolH oy 935,413 763,644 171,769
=L kS 810,381 752,496 57,885
101 Q12| 38,728 26,753 11,975
10 JIZHIZNSES 38,728 26,753 11,975
OBt = ™ arsf 10,057
-y 39,8808 *235% 9,372
-—YHERL3(20, 08, 41)
9,371,800%!7.3% 685
OFUE20| 17,973
—ol=y 39,8802 <4209 16,750
-—HERL3(20, 08, 81)
16,749,600 +7. 3% 1,223
SV EIES 10,698
- ol 39,8802 +250% 9,970
-HE2L3(20, 08, 81)
9,970,000 +7. 3% 728
201 Y2l 738,353 684,413 53,940
01 AtRZ2lH| 659,330 612,910 46,420
ogetgH| 169,300
RNt 35,000
- QA A 134,300
CDFOHA R 100, 000! %1207 12,000
CDSDY PY Y ME 90,000
WIIWSM =28 Y 294D
A g2 5,800
RMEE DI FDE
13,0008 %1, 50004 19,500
LDEE2ME T 29
700,000 * 1074 7,000
Ot nsH| 132,500
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SN R 4
MM E2S MTY ATHYN
Sl BA0I 2y (S5l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
- MBI (ARGEE) 5,000,000 +25] 125,000
— AR 1,500,000 57| 7,500
O2Y+y 337,530
-FEDE 2Y 319,190
CBARY 262,560
N2 DR HE 5,200,002 67| 31,200
He DR HE 1,380,000 %977 133,860
JIEI DR HE 1,500,002 57| 7,500
AN BH 90,000,008 * 17| 90,000
@2 EY A0 75,0002 %7003] 52,500
BN BH4Y 4,130
NS DS HE
3,500 +40 Tl +2bH 4+77) 1,960
eI DT
3,500 +602 Ml <28} 4-x3) 1,260
I u=10E
3,500 * 1302 M »2§ %17 910
~AOIHRS 29 18,340
HRHIDENE BALY
80, 000! x4 217 6,720
AZTOIDY BAAE
80,0002 %65 147 6,720
OISR EM4Y
3,500 %202 H| «2tH 4+357)| 4,900
OEET 2,000
~SH4RITH(RVAHE) 2,000
ouxg 18,000
-ENAS S HPAX 400, 00021 *45CH 18,000
;2 Bz 62,523 65,203 A2,680
OZZe2 ¥ WA 35,520
~DSS LN MB3E2(10N)
2,800,000% 122 33,600
-8XAS S 2EE 8002 *2, 400% 1,920
ON&ZHI S| 27,003
—NEANLTY RR2S 6,000
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SA: XA
HH: Z22 HCE QWYY
Crel: sHalolad ory (EH2l:®el)
- _ _ HEE
SN -BH - S(B) - MRAY - BES 0f &k il i~ o Hn=2
-LS2AEH FNLS 15,000
X4 SHOIK R4
49,000,0008! 12.25% 6,003
03 A2 16,500 6,300 10,200
O T8 eNAZLS
10,0008 1,400 14,000
OAl - 2 DSYYl 938
2,500,0008! «13] 2,500
202 oiHl 14,000 14,000 0
01 =U0itl 2,000 2,000 0
ORIINSUF 02 2,000
- 25y 400,000 x2 800
-OIEEE s 600,000 x2% 1,200
04 =RIStoit| 12,000 0 12,000
ORIINSHY 0 4,000,0002 +3% 12,000
303 Za3 11,300 19,330 18,030
01 =2 11,300 19,330 18,030
OB2ANSEY A4 11,300
S-EE R 5,900
XSRS 4,600
- HEEI Y 800
405 THabFE S| 8,000 8,000 0
02 TATPHI 8,000 8,000 0
ONSMATTA 8,000
222 RNESA 1,200 1,200 0
303 Za3 1,200 1,200 0
01 =&2 1,200 1,200 0
ORH RAQAAEUS A4 1,200
-3 24 500,0002* 1% 500
4 300,0002+ 12 300
-3 100,0008! x4 400
2lolna 29 1,982 1,548 384
301 LerEaz 1,932 1,548 384
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SN XRG4
HH: 222 MTE TS
chol: Aol oy (St5: &8 2)
_ _ MNuE o
SN EB -GS - MBAY - BES 0 & 24 e HRE2
10 SAAHIZ A3 1,932 1,548 384
OFATH SARY
3,7002 *302 +3 +2 0} F 27| 1,332
OBAT J19E 5,0002! %30% *2 2+ & +27| 600
T2ADE AL N 121,900 8,400 113,500
405 RArFESH) 121,900 8,400 113,500
T EEEET] 121,900 8,400 113,500
SEYENNE! 200,0002!* 10JH 2,000
O S 0013 50,0002 * 1071 1,500
ORSSARE A 1,200, 0002 *53CH 63,600
OLFEESHMA(2218) DX 400,000 *27)H 10,800
OLEE AR RA 200,000 *53)H 10,600
OZo/4 LOZZHME| DM 8,350,000 *4CH 33,400
FREUs T YN 116,314 101,130 15,184
coloAng 77,920 73,570 4,350
201 L2yl 64,320 57,645 6,675
01 AFR2elt] 62,520 56, 145 6,375
O+ Y| 33,000
R LIE=PX = 20,000
= P=Tt] 11,600
DY L M 10,0002 *900 % 9,000
DS % E22 R
100, 0002 +267 2,600
~LEZRME YT 7l 700,0002! *24 1,400
O2gag 29,520
- COIQADSHE BALY 23,070
- ELELIEE] 6,450
0 B2 1,800 1,500 300
OA&ZYIS Y| 1,800
— S S EHAE ST 50,0002 * 1201 2 1,800
01 YsrBAZ 13,100 15,425 A2,325
10 BAAHIZAS 12,580 14,735 A2, 155
OZRIo A DS AY| 12,580
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SN XRG4
Hu: S22 HTE ATHYH
Sl AMWHQUE O oY (2t5: & 9)
_ _ _ Muo
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Hnz2
-(12) 3,7002+3,400% 12,580
12 JIEt2 43 520 690 A1T0
ONSMTRAILE 20,0002 %267 520
307 eI2t0IH 500 500 0
NEEEEEET 500 500 0
OnsYSZIE 500
CoDS AEHH 18,000 10,600 7,400
405 THHE S 18,000 10,600 7,400
01 XHAYSEFHSH] 18,000 10,600 7,400
OSPRS2 H2YYA YT
10,000,000%! * 14 10,000
ORLIEIH2 T (H1,22204)
4,000, 00021 #2CH 8,000
SE24 T2V MOISe+ 20,394 16,960 3,434
201 L2yl 15,480 11,560 3,920
01 AtR22lt] 15,480 1,560 3,920
O+ 8| 8,080
= DONETE| 8,080
k= SmpUELl 200, 0002 +4 2+ 2 +27| 1,600
CIMEDE 65,0008 %41t = %27 520
nuHeE 65,0002 85 4 3} S #20)| 4,160
- S| 300,000 +12+324 %27 1,800
Osg+g 3,800
~EBAHTLAMOISHS DALY 3,200
- P ELIENIR] 75,0002 42 27| 600
oYxz 3,600
~SXIAS YR 600,0008! *1CH*3L 2] 3,600
01 YsrEaZ 4,914 5,400 A486
CEEEESTT 4,914 5,400 2486
OSELH MOISSIs4 ZAlY)
10,0009 +30% *841 %27 4,800
OSE22AH MOISS+4 XA LBE
1,90021 %30 18] %2 114
cl4e 29 994,747 473,327 521,420
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SN XRG4
M 222 MTE YA
ool oi4R 2Y CEEED
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Egﬁ Hws2
o4 2Y = 279,000
S 715,747
D82y N 340,913 313,107 27,806
201 L2yl 327,913 300,107 27,806
01 AFR2elt] 49,250 49,250 0
O+ 8| 33,000
LI PN T 33,000
o2gag 15,000
—BEMEXEAY 30, 00021 28 x2502 15,000
On = 1,250
- LCEECE 150, 0002 *3% 450
— oM 100, 00024 2% 200
—sYRN 2R 150, 00024 *42] 600
02 ZZ=2YY 278,663 250,857 27,806
OZZ22 2 MA 80,598
-®I123 60,213
SIS 6, 3002 *220kw+ 122 16,632
- NBE 43,581
02 89.78%75, 000kw=22 13,455
=02 58.32! %47, 000kw+62 16,441
e 62.521 %54, 740kw+4 2 13,685
—AYAIA OHE 22 500,0002! * 122 6,000
~®IIAA orE 2 800,000 +12% 9,600
—ENEE WERY 90,0002 8% 720
~Nsxese 1,000
- BERHES) 150,000 *2CH 300
C A (4501 5) 700,0002 *1CH 700
— RS XA 800
- EEIHEY) 300, 0002 <2CH 600
A (4501 5) 200,0002 *1CH 200
~RSH BALAE 25,0002 #3CH 75
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SN KA Q48
N3 522 HEE XU
CHol: o4l 29 (et9l: &2
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
- A YoM E 3| 100,000& *13] 100
-s2J| HIIZA 150,000& 150
- ESZMERE 2 1,940
-ANEZ2 900, 000& *23| 1,800
I RS NE=DN 140,000 = 1CH 140
Odzdl 118,165
-3J|18¢d 1,325& %92 § 7 Al 2t%91 77,651
-—2s8g 1,325 %26 4 *7 Al 2t%91L 21,945
-2 1,325& 22 § 7T Al 2t%91 18,569
OAl& &8l Kbl 43,500
- HE2RXH[(16,091m") 27,900
-822q A2 1,100,000 =3CH 3,300
-2 M2 2,000,000 =2CH 4,000
-=283 & 250,000 *4CH*23] 2,000
-232H & HHERAX 30,000 *50CH 1,500
—SAEH AR 150,000 = 12& 1,800
-sdJ| RAE* 250,000 x12& 3,000
OXteE& el 32,400
-SEIHEE) 7,200,000 *2CH 14,400
-HA(45015) 18,000,000 = 1CH 18,000
OSRAS UHaez & 2=zl 4,000
-NSY ITAE 4,000
203 HRFZ| 13,000 13,000 0
03 AHEZFAHRFEY| 13,000 13,000 0
Ous=2g94d 8,000
stz & 3288 5,000
A3 Alg 22| 77,800 55,000 22,800
401 A&HIZ 20 71,000 55,000 16,000
01 Al&H| 71,000 55,000 16,000
OXotd=x == A4 WA 32,000
OZu=sa YUstHE WX 9,000
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SN KX AR
M 222 MCE YA
o9 Q4R 2Y k)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o HRE2
O+ AN&ol2at+72l) &5 30,000
405 RrAHFHSH] 6,800 0 6,800
01 MM ESEFH=UI 6,800 0 6,800
OTUAY 257 6,800
—H=HH 2,000
- YEREX 1,000
—=Mal==U 800
-0HHE 3,000
SZMHE A 29,680 23,866 5,814
101 el H] 18,224 14,410 3,814
10 JIZAH2Z2ASES 18,224 14,410 3,814
OFAHE BHFH L TEXHAH 22
39,880& *425H 16,949
Oz2tAald| 3,000& 425 1,275
206 TH=HI 11,456 9,456 2,000
01 M=ol 1,456 9,456 2,000
OF&HM2IAL %47
50, 00024 % 125] 204 £ 1,200
Otol2 EHl € Hg § #¢
48,0003 *8&+93] 3,456
Ostet ZUHSR & SUR Z2XZE F2Y 6,800
-ZXE 8,000& *6002 & 4,800
-2yE 10,0002 200X £ 2,000
HAZE 2I29E 81,354 81,354 0
307 QI2t0IA 81,354 81,354 0
05 QIZtRE 3 81,354 81,354 0
OFANEAEY 61,754
OFAMEAAS 5,000
OB AR Il 5,000
O=XelAld=2dg 9,600
KXo+ EBHSFH A AL 465,000 0 465,000
= 279,000
= 186,000
401 AIEHIZLROY] 465,000 0 465,000
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SN XRG4
MM E2S HMTE TS
ool oi4R 2Y (St5: & 2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
401 AlEHIL =0 2 279,000
= 186,000
01 Al&H] 465,000 0 465,000
OEHSZS A A& 465,000
2 279,000
= 186,000
E2S HEE 5902 ¥y 176,416 140,354 36,062
2 25,800
= 150,616
AU SHO A 176,416 140,354 36,062
= 25,800
= 150,616
=S EmE 75,301 47,810 27,491
201 Lsr2 | 56,350 32,700 23,650
01 AR 2ell 56,350 32,700 23,650
O+ 8| 30,000
~9s=l2 IS K0
20,0002 +1,500%2 30,000
O2Y+y 23,950
—YEIlEREYALY 17,200
- P LEEIR] 75,0002 +00% 6,750
oYxz 2,400
—HN AR YR 600, 00024 #4CH 2,400
206 &I 2,750 2,000 750
INET 2,750 2,000 750
OYsasM2 2,750
01 YsrEaZ 16,201 13,110 3,001
10 BANHENZ 15,661 12,510 3,151
OE-ESIEamE =21t 14,541
— (22432) 3, 7002 +641 4160 3,552
— (1e522) 3, 70021 #441 4802 7,104
- (1) 3,7002 *141%1,050% 3,885
OEPEE=IN 7,0002!%160% 1,120
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SN KA Q48
MM EES M S0 oA
the: ZHHEJUE=E sel 24 (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
12 JIEIEAZ 540 600 AB0
QUSHESZALS 20,000& 27| 540
sg82 sIHN=E 42,015 40,044 1,971
101 @IAH| 5,146 4,941 205
10 JIZR22XELS 5,146 4,941 205
OB+ANBEYYERRA0S
39,880& +120H 4,786
@Fdgays] 3,000& x120H 360
201 B2 23,050 22,825 225
01 At 2eld] 19,300 18,325 975
Oget=ZH| 6,600
-SJH U 52 11,000 *600= 6,600
Osg+g 6,200
-SIAHNERZAMNSY 5,600
—2el =Y 2 A0 Y] 75,0003 x8H 600
o1l =l 6,500
- s Hn2= 150,000& 10 1,500
-—SIHuEsM=ASE 100,000 =50 5,000
02 =229l 3,750 4,500 AT50
OAl&EHl= Xt 3,750
-sJIHAZEEEH =X 50,0003 »75CH 3,750
206 T2l 7,650 6,000 1,650
01 &l 7,650 6,000 1,650
OsJIHEsNE 7,650
301 YEtEaE 6,169 6,278 A 109
10 SAIAHIEAS 5,829 5,948 A119
OsJIHnE 24| 4,485
—(1e2¢) 3,700 x288 % 44 4,263
-(1g) 3,700 x60% 14! 222
O8Xus=4Hl 7,000 x192F » 1Al 1,344
12 JIEtE &= 340 330 10
QUSMHIZZALS 20,000& * 17| 340
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SN XRG4
I B2S HEY 5203 o4
Sl FHBAYE S0l Y (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
S EEEENFEED
3, 70021 +402 x254] 3,700
2 1,850
= 1,850
OB Y S AEE B 2824
7,00021 +4025 * 14! 280
2 140
= 140
OJIHSIGSAIE DRM X2 27
316, 5002 402 12,660
2 6,330
= 6,330
405 RArFESH) 31,600 24,900 6,700
2 15,800
= 15,800
01 XHALSEFHSH] 31,600 24,900 6,700
Os8240 22,000,0002 *1CH 22,000
2 11,000
= 11,000
O=SENTI|(THSE) 9,600,0002 *1CH 9,600
2 4,800
= 4,800
Y=DF ALNH 7,500 7,600 A100
405 TarFE S 7,500 7,600 A100
01 MMUSEFSY] 7,500 7,600 2100
O=E=7(sIMze)
1,600,000 1CH 1,600
O¥sATE(SIHESD)
1,000, 00021 *1CH 1,000
OYIZNE (SN D)
4,900,000 14 4,900
H S YA (NI +2) 2,701,270 3,276,479 A575,209
ol 2| 2,619,645 3,188, 119 A568,474
ol 2| 2,619,645 3,188, 119 A 568,474
101 oIty 2,451,765 2,980,839 £529,074
01 JI=3 1,488,428 1,932,372 443,944
O =X 270,492
-33 6,020,002 1%« 122 72,240
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SN KA Q48
MBS 22| (A 4R
chl: QA2 A (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
= 5,507,000 x3H » 123 198,252
OF-F=p\| 1,125,980
— B 824,203
5= 2,940,600& *10H x12& 352,872
6= 2,363,000 11H*12& 311,916
1= 1,862,700 x5 * 12 111,762
8= 1,213,700& x2F = 12& 29,129
9= 1,543,600 x 1 * 123 18,524
-JIs& 301,777
6= 2,534,500 x 1 x 123 30,414
=2 2,273, 7002 2H x12& 54,569
8= 1,821,700 x8H » 12 174,884
9= 1,336,200& 1E *12& 16,035
10= 1,078, 100& x2H x 123 25,875
O&EZ=+¢ 1,125,980,000% / 12& *49%*23] 91,956
02 =% 317,823 321,427 A3,604
OFSELES =) 196,915
-ItEg 42,000
bl < Xt 40,0003 x47H ~ 128 22,560
HIHEHIS 20,0002 x81H = 12& 19,440
- ANESHIE RS 12,407
Estu(12X) 51,4003 x3H x4 3] 617
E5t (23 X) 50,3103 x2EH 43| 403
VSIS, IH)
420,7903 x5 % 43| 8,416
DSt (22X, 0t)
371,290& »2H x4 3| 2,971
- 2GS 49,320
- 25901 & 130,000 *16H x12& 24,960
- 209 0] &t~254 0] 2t
110,000& 6 E * 12 7,920
- 15801 &f~20E 0| 8¢ 80,000 x8H »12& 7,680
- 1080l & ~15E 0| ¢ 60,0003 x8H x12& 5,760
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10 BAAUZAS 32,000 22,000 10,000
OE2YNTE FH2Y
5,0002 *2, 200% *23] 22,000
OSUYET =078 SeIIE &4
S0l Ba 5,00021+2,000% *15| 10,000

SSM2 FA 22E 29 25,500 12,700 12,800
201 er2o| 20,000 7,200 12,800
03 A2 20,000 7,200 12,800

OSUYBTES SSHBH0Y A 20,000
206 THEH| 2,500 2,500 0
EET 2,500 2,500 0
OSUYBTES SSHBS0Y BAMD
250,0002 * 105 2,500
01 YuBAZ 3,000 3,000 0
10 SAAHIZ A3 3,000 3,000 0
OSYYECES SSHB0IY 2Y2Y
5,00021 *600 1 3,000

YOS OE 2R X 2,325 2,325 0
201 er2o| 1,200 1,200 0
01 AF=arelt] 1,200 1,200 0

o= 1,200
-gE WEYH D= 100, 0002 * 123 1,200
01 YprEaZ 1,125 1,125 0
10 BAAHIZ A3 1,125 1,125 0

5,000% x225% »13] 1,125

MIl=ES At 24t 1,031,550 1,247,500 N215,950
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A sII=

dM: sgsEJI=XE

el ADISESA TR (sl &2
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl &+ 04 Sl ko HRs2
UBIES=EVE=ERY, = 203,000
& 828,550
308 XXEHMSOIE 272,800 212,000 60,800
01 KAHHBLRES 272,800 212,000 60,800
OHEZE22012 XX &
205, 5002 *1,200E %50/ 100 35,300
OISBATWOIR DEE b Mo+ Alg
15,000,000 & *3J4 2 *30/100 13,500
OBAHIS YLUSF HE Al
10,000, 000 & *6IH 2 *50/100 30,000
Ol 2|z 7al Heles
2,000,0002 * 102 *50/100 10,000
OEPIb E P InE= o L
10,000,000 =129 2 +30/100 36,000
O59 DIMS MADIHEY 48,000
403 XXM EX20IH 758,750 1,035,500 N276,750
= 203,000
& 555,750
01 XXISHIH2EEX 758,750 1,035,500 A 276,750
ONEBE & M4 N2SE AZNEY Il
23 AEY 60,000,000& *1J4 A +30/100 18,000
OBSYEH MNEX ZHAY 36,000
OAXR 84 KRIIE P2AH
5,000, 000 *5JH 2~ *30/100 7,500
OBS=&T MATHH AlE
20,000, 0002 *37H 4 *30/ 100 18,000
OYSHIIZAHEIINE
500, 000:& 500K 2 *30/100 75,000
OHBRSAME U GPHIAY ASEZ
450,000 * 15001 2~ *30/ 100 20,250
OANER0 HHNEZ aJI&22
30,000, 0002 *37H 4 %30/ 100 27,000
OE=1% Y= 012 84
12,000, 000& *5J4 2 +30/100 18,000
OFTA THE DHAISSGX AHZMM Al
30,000, 000:& *324 2 *30/100 27,000
OFTA TS DY HEABY SN Al
20,000, 000:& *5J4 A +30/100 30,000
OTHOHCHYI DAIOHEMAID|E AlE
20,000, 000:& *2J4 A +30/100 12,000
OFTATIS SMUHAS S8 Al
40,000, 000 *2JH 2~ *30/100 24,000
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A sII=
dM: sgsEJI=XE

R MII=2S A&

SNBSS - HRAY - BHES 0l &k 24
OSM =tslls 2Bl Al
15,000, 000& *2J4 2 *30/100 9,000
OCRUXMSAILTRA 7 S& AY
10,000, 000:& *5J1 2 *30/100 15,000
OXNSE E=C &8 AM=Hl E22 A
20,000,000 =109 2 +30/100 60,000
O2= 23N L A2SE & AY
6,000,000 * 1071 £ *30/100 18,000
OOIHEH LRMA Z8t)s £ AlY
10,000, 000:& *8IH 2 *30/100 24,000
O2H 2EMY MsEE Hd Al
10,000,000 & *5J1 2 +30/100 15,000
OS2ME 018 SEANR MZE AlY
30,000,000 *3JH A *30/100 27,000
OLNSE Q4 MAH B2 AlY
21,000, 000:& *4J4 2 *30/100 25,200
OZZ ol dollE 22l Al
6,000, 0002 6K 2~ *30/100 10,800
OHA THH SZHe Al
10,000,000 *37H 2 *30/100 9,000
OMEE 28 etk HE sIF =4
10,000, 000:& *4J4 2 *30/100 12,000
OA4EotA AXREW WS D=3 MY
5,000, 0002 *9IH 2 *30% 13,500
OLNSE & Mo HESEXLE MY 35,000
& 35,000
OLgZE2dg 2tH |RJ|ls 22 AY 3,500
= 3,500
ONSZE SN0 dadl= E=5 MY 21,000
=z 21,000
ONEEZE B2230UHX 22 AlY 28,000
& 28,000
OFTALHES = 1DZEZE At MAEHT =4 24,500
& 24,500
OrlstZoisLM NSE UIHE Ma AlH 28,000
=z 28,000
OLNSE SN A AlY 28,000
& 28,000
SiHl 2E0 OE 2H WEEB AlY 35,000
& 35,000
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2 sHII=H

dM: sgsEJI=XE

ol MOISE S A X2 (crel:®e)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OFFXNSSLHES 23 AlY 4,500
sEME s 1Y 2,153,371 3,022,833 869,462
= 1,064,400
z 600,000
= 20,000
= 468,971
AllE ESAMY(SENY HE) 38,800 0 33,800
= 19,400
= 19,400
201 Yer2y| 26,000 0 26,000
= 13,000
= 13,000
01 AR 22l 23,800 0 23,800
Ot 20,000
SRkl S DR 20,000,000 20,000
=2 10,000
< 10,000
osY+g 800
-JINENMESDS 2Y4Y 800,009 800
= 400
< 400
OMNHANMES ST HAYAR
500,000 *63] 3,000
= 1,500
< 1,500
03 A2 ZH 2,200 0 2,200
ONZRANMES N SAE
200,0002 119 2,200
= 1,100
< 1,100
206 Mz 6,000 0 6,000
= 3,000
= 3,000
01 M2l 6,000 0 6,000
OO MES ASHE R 6,000
=2 3,000
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R PIEL]
Hal: sHsE)|EX
ool SEMBEG X (e9: @8
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
= 3,000
01 YsBAZ 6,800 0 6,800
= 3,400
= 3,400
10 BAAHIZAS 6,800 0 6,800
ONFANMESHDS SAS
5,0002 x400% 2,000
2 1,000
= 1,000
OJNBRACMBSB KR FLBY
60,0002 x40 x23] 4,800
2 2,400
= 2,400
SYNE0Y M (SEND, NE) 100,000 10,000 90,000
= 50,000
= 50,000
101 QI8 5,122 0 5,122
= 2,561
= 2,561
B EEN S 5,122 0 5,122
OFESAsD 2ol
39,8809 1% #1202 4,786
2 2,393
= 2,393
OELIEERnE=E- WO - T-] 336,000 336
2 168
= 168
201 Ygr2g| 49,400 7,500 41,900
=2 24,700
= 24,700
01 At 22l 46,400 3,050 43,350
OgergH| 29,400
~MESASD ZRIBATEYN &
EHTY 50,0002 *40% 2,000
2 1,000
= 1,000
-HSSAREY ¥ SENE NX
22,0002 *1,000%2 22,000
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R PIEL]
Hal: sHsE)|EX
o9 SEMEEAG XD (e9: @8
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
2 11,000
= 11,000
~-HESASD 29 ARE 7
50,0002 x9F+12% 5,400
2 2,700
= 2,700
OSiet DS 15,000
~HNUHRSXER BH
1,000,000 * 158 15,000
2 7,500
= 7,500
ogxiz 2,000
~HESASD BAE WAL
500,008 *43] 2,000
2 1,000
= 1,000
03 A2 3,000 4,450 A1,450
O A2 bl 3,000
-HESASD SAE 200,0002 *152 3,000
2 1,500
= 1,500
202 OiHl 9,000 1,000 8,000
= 4,500
= 4,500
01 =Ufoid 9,000 1,000 8,000
ORESAS N2 BXXNE
40,0002 %33 *752 9,000
2 4,500
= 4,500
206 Mzl 7,978 0 7,978
= 3,989
= 3,989
01 M=ol 7,978 0 7,978
OFESASD AEHE 7Y 7,978
2 3,989
= 3,989
301 YB3 2,000 1,500 500
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solad
sol=E)|2X
sEMEsE XY (649l &2
_ _ _ Muo
SN EHH L OR(BH) - HRAY - BYS Ofl &F o4 il i~ o HRs2
301 YeBA3 2 1,000
= 1,000
ETErE] 2,000 1,500 500
OFESASD HFABA 2,000
= 1,000
= 1,000
307 212H0IH 22,000 0 22,000
= 11,000
= 11,000
02 QIAAMBZE 22,000 0 22,000
OFESA AKX BH 12,000
= 6,000
= 6,000
OSMIIBHEN} BHE 10,000
= 5,000
= 5,000
405 XA S 4,500 0 4,500
= 2,250
= 2,250
01 RALSEFHSH 4,500 0 4,500
Ogm2 = 4,000
= 2,000
= 2,000
OCIXg Stoizt 5000002 *1CH 500
= 250
= 250
222 I(NY) 410,000 195,000 215,000
= 410,000
308 XX EHHIS0IA 160,000 75,000 85,000
=2 160,000
01 XASHMBLRES 160,000 75,000 85,000
OSZMENAUERND AE
100,000,000 *27H 4 ¥50/ 100 100,000
= 100,000
ONSsse JIBIcEES
40,000, 0002 *32H 2 +50/100 60,000
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SN sl
Hal: sHsE)|EX
o9 SEMEEAG XD (e9: @8
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 60,000
403 XSS KH=0IH 250,000 120,000 130,000
= 250,000
01 XXCSH=SE 250,000 120,000 130,000
OSZHERSsE
100,000, 0002 * 174 4 %50/ 100 50,000
2 50,000
OSZ0&FASSNH
100,000, 0002 *27} 4 %50/ 100 100,000
2 100,000
OSESAR 5
100,000, 0002 *27 4 *50/ 100 100,000
2 100,000
SR THoH O (X ) 10,000 10,000 0
= 5,000
= 5,000
201 Ygreg| 7,000 5,200 1,800
= 3,500
= 3,500
01 Ar=aelb] 7,000 0 7,000
OgurgH| 1,000
~=XONDE EHE A
10,0008 *100% 1,000
2 500
= 500
O2g+y 6,000
-SHMDE FXY 2
100, 00024 602 6,000
2 3,000
= 3,000
202 OiHl 2,000 3,500 A1,500
= 1,000
= 1,000
01 =Uforb 2,000 3,500 A1,500
OSXANTDE HXXE 2,000
2 1,000
= 1,000
301 YsrEAz 1,000 400 600
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FA sII=R
M sgsEJI=ANE
el SEMEEAG X chel &2
A - HE - S9I(E) - NRAY - BYS sk Soe B RS2
301 YEtEa= = 500
& 500
10 SAIAHIEAS 1,000 400 600
OSHANTISHAT SALA
5,000& x50 »43] 1,000
= 500
= 500
S Mool (X&) 180,000 80,000 100,000
= 180,000
403 XXIEHS 201 180,000 80,000 100,000
= 180,000
01 XXSHHIH2EEX 180,000 80,000 100,000
OSXUYHDY Al (A7)
40,000,000 *x2JH 2~ *50/100 40,000
= 40,000
O=sXHorMDE AlH (24X}
120,000, 0002 *2H 2 +50/100 120,000
= 120,000
OsXAorMDd AlH(3HR})
40,000,000& »1JH £ +50/100 20,000
= 20,000
sEALE=0IE =4 400,000 900,000 500,000
= 400,000
403 XXISHMSKHE01H 400,000 900,000 500,000
= 400,000
01 XXIEHX2EX 400,000 900,000 500,000
OSEAYB20E 84
50,000,000 * 1621 2 *50/100 400,000
= 400,000
sSEXNZIIE 24(HE 200,000 1,000,000 800,000
s 100,000
& 100,000
401 AIEHIZSOYI 200,000 1,000,000 800,000
s 100,000
& 100,000
01 Al&HI 198,700 1,000,000 /801,300
O est2t A ZIs S AL 191,000
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2A: sg0|=3
M sdsE)I=NS
el SEMEEAG X (sl a e
SA-HH O (SIH) - NEAY - BaS 0f Ao Soe HRZ2
ras 95,500
o= 95,500
OMe st A|IEIHE S A & AH I 7,700
s 3,850
== 3,850
03 Al&20iY| 1,300 0 1,300
OME st AEMEZSA A2 1,300
rag 650
o 650
SENMEHI00tE =4 150,000 200,000 A 50,000
g 150,000
403 XXM SKH=E0lH 150,000 200,000 A 50,000
g 150,000
01 XXSHMA=2EX 150,000 200,000 250,000
Os=dEH 00 =&K&
100,000, 000 *3J0 2~ *50/100 150,000
g 150,000
SHASHINLHO|EHl K& 350,000 175,000 175,000
g 350,000
403 XXISHHSA20|H 350,000 175,000 175,000
g 350,000
01 XAXESXMA2SEEX 350,000 175,000 175,000
OsHISHIMNHEEHO| &Y XA
50,000,000 * 140 A x50/ 100 350,000
g 350,000
SEHLINEN B4 40,000 40,000 0
= 20,000
& 20,000
201 LBtEAH| 14,500 17,300 A 2,800
= 7,250
= 7,250
01 ArR2t2|bl 9,300 11,500 A2,200
OYBt=EH| 9,300
- MEFESIHEX ME 6,000& *1,000% 6,000
= 3,000
< 3,000
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A sII=
33 sgsE)l=NE
Cel: sEMBEEG XA (S5 &)
- _ _ ME
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
10 JI2N22NHsSE+ 10,271 9,543 728
Odgistazd f 39,880& 18 »240! 9,572
O=td=z, 128 MHEER 699
201 Bt 37,300 38,790 A1,490
01 At22t2id| 26,800 27,500 AT700
Oget=ZH| 20,000
- PR A (MBS D) 20,000
Ol =] 800
-—ASUSE 2 50,000& *16H 800
Ogxt=z 6,000
-S2EAAS @ AMEAZEAE HAY
Xt 500,000& x122 6,000
03 A2 HI 10,500 11,290 AT90
OSS8HP3 L AMBMIHE 2AZ
200,0002 *40 8,000
OSZIEoH3 & MEAZEAE E2=AH
= 2,500
206 M=l 17,000 17,000 0
01 M=ZHl 17,000 17,000 0
OZIEoA3 & AMEAZEAE WS
20,000& 850 17,000
301 Et2a =3 14,500 16,000 A 1,500
10 HAAHIEA S 14,500 14,500 0
OSIEoA3 XA FA24
50,0003 32 41 3 6,400
OS=SEINZNS MY
50,0002 x318 2 3,100
OS=g8aF3 L AMEAMEHT S22
5,000&*1,000& 5,000
sSEMEEAS JsE23(XE) 60,000 160,000 A100,000
308 AXHMSOIA 60,000 66,000 26,000
01 AXHHMBAEXS 60,000 66,000 26,000
Osz:oaugs Nd
3,000,000& 1074 2~ *30/100 9,000
OMMSEE oIt DHFEAHAIY
10,000, 000& *7 4 2 %30/ 100 21,000
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SN sl
M solsE)| &
o9 SEMEEAG XD (el &2)
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &+ 04 il b o HRs2
OSXAALE WIIX AlH
30,000, 000! %324 2 +30/ 100 27,000
OXHUTHESA & HSAE
5,000, 0002 *22H £ *30% 3,000
SENE ASEH(EE) 15,000 35,000 20,000
307 elztolH 15,000 15,000 0
02 QIABNEZE 15,000 15,000 0
OBESANE J&22
15,000, 00024 *17H A 15,000
SEN ASH(X) 115,500 83,500 27,000
308 KXISASOIH 70,500 61,500 9,000
NI EEENEES 70,500 61,500 9,000
OBESASAAZNY X
20,000, 0002 *57H 4 %30/ 100 30,000
OSMAZIHEZSOIZ 1S09001AIE
5,000,0002 1174 4 *30/100 16,500
OREMEI|SLUCHES XD
20,000, 000! *42H 2 +30/100 24,000
403 XSS KHZO0IH 45,000 27,000 18,000
01 XXCSHG=ESE 45,000 27,000 18,000
OSMTE SAASEHAIY
50,000,000 %374 2 *30/100 45,000
sollaATUAY 2 5,000 5,000 0
405 XharsE S| 5,000 5,000 0
01 KA SEFHSY] 5,000 5,000 0
Osl@=E S 7Y 5,000
HH2AAY (5|2 H) 5,509,471 5,459,896 49,575
2 8,830
= 5,500,641
oIz 2gy| 5,310,367 5,252,016 58,351
3 8,830
= 5,301,537
ol 2| 5,202,707 5,252,016 40,691
101 QI2AHl 4,942,147 4,896,356 45,791
01 =2 2,874,962 2,874,060 902
O H 127,200
-42 5,300, 0002 x22 * 122 27,200
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SN slse
HE: B2 (52IIEH)
&Rl el 2| (el =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
O&=H 2,540,303
— 2 EHA 187,149
=) 2,073,400 x2E 123 49,762
= 1,907, 1003 *4H 123 91,541
- 82 1,273,500 x3H x 12 45,846
-1 1,312,999
o2t 3,757,100 x7H x 124 315,597
- AL 2,246,400 *37H * 12 997,402
-KN&EH 710,986
A& 3,327,300 x6E 123 239,566
- KA 2,182,500& «18H 123 471,420
-JIs& 329,169
= 2,250,500 x3H x 12 81,018
= 1,855,600& x108 122 222,672
= 1,191,400 x 1H x 123 14,297
- 102 931,800& 18122 11,182
O&2+¢ 2,540,303,000& / 123 »49%=*23] 207,459
02 =¢ 713,337 693,281 20,056
Op =t 82,560
— B Xt 40,0003 x84H x12& 40,320
- &AIEHIS 20,000 x176H =122 42,240
OXHstHIEX S 36,963
-E=sW(13X) 51,400& 178 »43| 3,496
A= ImIQF=DND! 420,790& 192 »43] 31,981
-1NS&w(2=X) 371,290 18 »43| 1,486
Os0ts&¢ 500,000& x1H«12& 6,000
OZF2=gIt= 108,000
—-254 0Ol & 130,000 «30H x 12 46,800
—20& Ol 110,000 * 19K » 123 25,080
— 154 0Ol &f 80,0003 x24H 128 23,040
—-108 0l& 60,000& *14H x12& 10,080
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SN 5IIEH
HH: HEL AR (S2|E)
chl: QA2 A (ctel &
SN C(BH) - NRAY - HES O] &k o8 L=t HlmE2
Ol &k
—-54 0|&f 50,0003 x5 x12& 3,000
OfIgz2fsg 30,360
-3 50,000 »49Z x12& 29,400
-3 40,0003 x2H«12& 960
Oll=g*=4 15,480
- Nz 60,0003 x6H x12& 4,320
— X & A 50,0003 x18H x12& 10,800
-6~72 30,0003 *1H«12& 360
OJl=gdRg(Irt3) 9,000
-JlsAt 50,0003 x1Z«12& 600
= JI At 30,000 »22H x12& 7,920
— &FH DAL 20,0003 »2H «12& 480
O R+E 42,240
- 80,0003 x44ZH x12& 42,240
Oootdztelgds< 120
-fIg=erd ekt 10,0002 1H x12& 120
OS2 LEHHR+E 1,440
- 15UHE AKX 40,0003 x3Y +x12& 1,440
Ooti=z=d=¢ 71,754
- A 79,361,000 4. 8%+ 12 45,712
-N&H 37,225,000 *4.8%*12& 21,442
Js& 7,986,000 *4.8%*12& 4,600
Ozelge=+ 27,427
-4z 04 25,395,000 *Q%x 12 27,427
OMASSA+H 6,000
-==3 2,000,000& *1H *3& 6,000
Oxzuz=2x4e 275,993
—AZ2H22R2Y 275,993
M Z Al 149,760
OFHZAH| 130,000& *96H x 123 149,760
nE2 x| 150,480
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SN 5IIEH
HH: HEL AR (S2|E)
chol: o2l 2ot (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SETIES 17,040
—-4~52 140,000 x2H x 122 3,360
-6~7=2 130,000 x6H = 12& 9,360
-8~92 120,000 x3H x 122 4,320
OdRa K=& 111,600
- (X =)&2(1~33)
200,000& x1H *12& 2,400
(N E) B (452)
140,000 * 13« 128 21,840
— AR (XIZ)AH 130,000 56 * 12& 87,360
OJlsA 21,840
-1~72 130,000 x2H = 12& 3,120
-8~10=2 120,000 *13H x 122 18,720
05 Y&ESIHHI 254,031 252,491 1,540
OY&ESOty| 2,540,303,000€ /128 *120% 254,031
06 JHAHRXI&HYI 424,231 421,660 2,571
OJFAI X & H| 2,540,303,000& *16.7% 424,231
07 HIt24AHH| 145,792 143,851 1,941
O ESH 127,200,000& /122 x66%*1/30%20 4,664
Oz H 2,540,303,000& /128 *1/30%20L 141,128
09 RIAHAZ=ZXES 229,554 216,773 12,781
@l 213,934
- 32,3903 x13Y 253 106,531
-&02 106,530,710 /12& *»400% 35,511
- A2+ 6,070 *15A1 2tx 13- x 12& 14,204
—AXEH 32,390 *13H * 15 6,317
-5 32,3903 x 13 *104! 43,792
-5224 48,5803 x13H 12 7,579
OBHAEAREZ 15,620
-3HAZSEEZ2 213,934,000 %4 .5% 9,628
-8 8H3 213,934,000& *1.3% 2,782
—NMATHEE = 213,934,000 *1.5% 3,210
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SN s2l=
MM HE2HAH| (I =)
el ol dY| (982
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
203 U= 44,680 43,240 1,440
01 JIZ2HH2FAH] 17,600 16,000 1,600
O 11,000
oex 6,600
02 HAIMADEZRY| 3,680 3,840 A 160
OZI A AFI| R ZHH| 3,680
04 BA2IADFIY| 23,400 23,400 0
O E X &t 350,000 122 4,200
OAl 2 XA 350,000 x12& 4,200
O 0laze 250,000 122 3,000
O sA=A 20} 250,000 122 3,000
OXID|& 250,000 122 3,000
OJlz=2=21t 250,000 122 3,000
OsEXS 250,000 122 3,000
204 ZS2LHAH| 305,880 312,420 AB,540
01 AUMZADLMAH 45,600 45,600 0
02~32 (012 %) 650,000 x 1«12 7,800
O42(BEI|H) 350,000 x3%H « 122 12,600
O53 (A S HE) 350,000 x6H x 122 25,200
02 ZZEBXH 208,680 214,020 A5,340
Ogutxl 31,620
-22 650,000 1 122 7,800
= 400,000 x2H « 122 9,600
-6= 155,000 x2H x 122 3,720
-72 140,000 4% « 122 6,720
-8-92 105,000 x3%H « 122 3,780
OeR NEX 157,560
- XE2(43 AY)
400,000 x8H x 122 38,400
- XET2 (52 AtY)
250,000 x5 x 122 15,000
-2 KT AH3EE 0]4)
155,000 «56 % 122 104,160
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SN sY|Ed
HE: B2 (52IIEH)
Sl Ol 2| (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o bRz
0I5 19,500
-72 140, 000! %2 + 122 3,360
-8-92 105,008 112+ 122 13,860
- 102 95,0002 %23 * 122 2,280
03 SZAL+HBSH| 51,600 A1,200
O &= (53 Olat) 50,0002 +86 % * 122 51,600
A2 YH(YHE HAHIR) 17,660 17,660
=2 8,830
= 8,830
101 Q12| 17,660 0 17,660
= 8,830
= 8,830
09 SINAHA2EZX24 17,660 0 17,660
ogx 16,458
-23 32,3009 +12§+2532 8,1%
2 4,098
= 4,097
- 4013 8,194,670 / 12+400% 2,732
2 1,366
= 1,366
— AlZtel A gt 6,070% *15A1 2412122 1,003
2 546
= 547
— QR4 32,3002 %12 152 486
2 243
= 243
-Fgag 32,3002 12§+ 1042 3,369
2 1,685
= 1,684
-gaaesy 48,580% 12 *122 583
2 291
= 292
OEE-EX-F 1,202
S LEEr = 16,458, 00021 4. 5% 741
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SH: 590
XM XH: SHXE
(=R I (=}

(=}
chel: o1

_ _ _ Muo
M- F= - S2(3H) - MRAY - BES Abod e HlnE2
= 371
= 370
-ngRERYa 16,458,000 *1.3% 214
=2 107
= 107
—seNEEE 16,458,002 *1.5% 247
=2 123
< 124
2l 199, 104 207,880 18,776
=2l 199, 104 207,880 18,776
201 Y2yl 86,464 87,890 A1,426
01 At222IH| 82,064 83,500 A 1,436
O+t 20,424,0002 20,424
ofgsy 37,260
-y x4y 30,0002 x22 x2562 15,360
-22Y ¥ 52 YxHLY
50,0002 %22 x2192 21,900
=L 24,380,000% 24,380
02 BB 4,400 4,390 10
OZBZ22 2 MAl 4,400
-ewEez 4,400
=»J 1,5008 %2, 20004 3,300
2= 2201 %5,0000H 1,100
202 o1t 107,640 112,300 14,660
01 =0Tt 107,640 112,300 14,660
OJI1=20 ] 107,640, 0002 107,640
405 RHaHE S| 5,000 7,690 £2,690
01 MALSEFSH] 5,000 7,690 A2,690
O#Z X2 3,250
- AR A ED| 1,850
MRS OIXHHFA) 5000002 * 12} 500
SR Ra) 150,000 12} 150
CRNAEN(EFA) 600,000%!*1CH 600
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SA:

ct

=917
(==}
dM: NEZ

IC=

0
bal
e

OH
i

20
R
J2H

A

in

1,358,314
300,000
1,058,314

971,184

=]

H

877,186
300,000
577,186

488,186

389,000

219,829

221,918

A2,089

90,840

88, 163

2,677

90,840

88, 163

2,677

U

50,000 9
20,000& x9H
20,0003 9

30,000& x9H

50,000 122

4, 4403 +30KW+ 122
64.10&*16,000kWh*2&
48.40&+10,000kWh*4 2
51.90& %10, 000kWh+6E

300,000& 1 CH
300,000 =1CH
50,0003 = 1CH
30,000 »1CH
187,000& x1=*122]
200,000& 120K

1,000,000& *13]

6,080
5,000
5,000
1,080
450
180

180
270
79,920
28,903
600
8,701
1,599
2,052

1,936

300
300
50

30
2,244
2,400

1,000

6,060

77,263

20

2,657
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SN SIS BEARA
Hu: DEN IC MBS MAIIS Y
tl: TESSTHHHSAF
SA BB CR(SH) - NRAY - A S Ol o e
—gst2el Xkl 70,000& * 13l 70
- SEESREZ 14,000 *122] 168
—-RUSES 1,500 *300= 450
- SFMNERE S 400
- AsXE 30,0003 *43| 120
CAEESE 70,0003 *43] 280
—CIHAAIE = 797,500& *123] 9,570
el 150, 0003 *5IH A 23] 1,500
—-sha|§0s 120,000& *13] 120
- d2s=l7Y 100,000& *105 1,000
Od =zl 1,645& * 150 =411 10,117
OA&EHIS Xl 37,500
- A=Al 1,000& x3,000 £ 3,000
—sIASXEI(2AI|IZLE)
800,000& x5CH 4,000
- 24otRAE 2| 2,205,800 = 10CH 22,058
= =-PIPIE=IN 440,000 = 10CH 4,400
-=SEH2ERX 242,000 = 1CH 242
-2=F3RX 1,400,000 = 1CH 1,400
-AsS322LEZ 200,000 * 123 2,400
OXt&E& Bl 3,400,000& = 1CH 3,400
03 A2l 4,840 4,840
OXTHME=It &3S 2,620
— Xt 500, 000& »2CH 1,000
-89 60,000& »23| 120
— AT 5,000& 200 1,000
—HASS X2 250,000& 25 500
OEE=33 MdEZU= 2,220
A=A 60,000& *23] 120
-t EES 7003 #5009 x23| 700
—dANFEHEEZ Y 100, 000& x2& 200
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SM: SR ZEena
MM DEN IC AHY M
Zes|

chol ZTHHH 7 (649 & 2
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES Ol &+ 9K Ol AF o8 HwsZ
—ECMHE SRS TAIR
120, 0002 %424 x23] 960
- DS DR 120, 0002 %23 240
TESHUDNEIMMISHY 100,789 103,755 A2,966
101 Q1244 57,289 53,755 3,534
10 JRIHN2ENER+ 57,289 53,755 3,534
OECSETMMAZESE 39,8802 *1% #2602 10,369
OsIIHSH 43,6802 2% %1702 14,852
O24UHILtRAZE 39,8802 x2% * 167 13,320
oaMgEIoR 39,8801 38 * 1202 14,357
020z, NELH MRER
52,898,0002! *8.3% 4,391
207 1Ryl 43,500 50,000 6,500
03 Algoi 7] 43,500 50,000 26,500
OMgERBHE 50,0002 %500 25,000
OZC NIRRT 185, 0008 1005 18,500
T AEH IR 28,200 30,000 A1,800
401 Al&HIL=CHYI 16,200 30,000 A 13,800
01 AZH] 16,200 30,000 13,800
OSSP E-InFIER-=PS 50,0002 x324m 16,200
405 THaHE S| 12,000 0 12,000
01 MALSEFSH| 12,000 0 12,000
O B0l AR H D] 12,000,0002! * Iset 12,000
ECEA0RHT 657,357 266,268 391,089
7 300,000
= 357,357
EERBZ MM SN 57,357 51,268 6,089
101 Q1244 14,357 15,268 A911
10 JAM2ENER+ 14,357 15,268 A911
OagILFOIL 39,8802 +3% * 120 14,357
207 1Ryl 43,000 36,000 7,000
03 AlgoI 7yl 43,000 36,000 7,000
OANEEE2E 60,0002 *400m 24,000
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SN SYIlER TELDL
pN| Al

H

(==}
HM: NE
e

CHel: BT EA0EAT (&9 da)
SA BB H(BH) - MBAY - B2 Ofl &+ 04 gg;ﬁ; HRs2
SNEEELET] 50,0002 100% *25] 10,000
OZECISHSREA
60,0002 54 2430 = 9,000
NP8 ZH(ZCHT) 600,000 215,000 385,000
= 300,000
= 300,000
401 AlEHIL 20| 600,000 0 600,000
2 300,000
= 300,000
01 A& 567,040 0 567,040
OECELRAE 567,040
bl 293,520
= 293,520
02 22l 11,340 0 1,340
OEGELANE ZelHl 1,340
2 5,670
& 5,670
03 A&yl 1,620 0 1,620
OESER2ME AE20 1,620
- 810
= 810
HHSAAY (SYU|eY HEHRL) 481,128 482,998 A1,870
oz 2| 466,215 468,198 A1,983
ol 2 gy 466,215 468,198 A1,983
101 oI21t] 439,695 441,678 A1,983
01 =3 249,178 254,042 A4,864
OEEY] 230,720
— o 194,052
Nk 3,455,7002 %12 *122 41,469
LA 2,119,2002 62 *122 152,583
—Jls= 36,668
- 82 1,977,5002 184 x 122 23,730
103 1,078, 1002 12§ x 122 12,938
OF-ERN- 230,720,0002! / 122 *48%+23] 18,458
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SN SIS BEoRA
HE: BFSEAY(SYISY TEHTL)
ch: QA2 A
SA BB CR(SH) - NRAY - A S Ol o e
02 =% 69,423 66,886
OFHH 42,636
-IIEx4 8,400
- BH < A 40,0003 x9H x 123 4,320
- AAHELS 20,000 *17H =12& 4,080
- ANESHIE RS 5,667
EA=lm 51,4003 x3E 4= | 617
e 420,7903 x3H x4= | 5,050
-2t 9,600
- 25 0| & 130,000 2 x 12 3,120
- 2080l & 110,000& «2H x 12 2,640
- 154 0] & 80,0003 »2H «12& 1,920
- 1080l &f 60,0003 x1H«12& 720
-5E0| & 50,0003 »2E «12& 1,200
i =t = 5,280
4B 50,0003 x8E x12& 4,800
- 40,0003 x1H~12& 480
-tz 6,369
BRSEES 11,057,000& *4. 8% 122 6,369
- Rd 6,720
A1 A 80,000& x7H«12& 6,720
—otdzte|gE g 120
- RESotd Al It 10,0003 18123 120
- NSH2HYLEHE RS 480
1BUHE AT 40,0002 «1H 122 480
Oxzu=z=2=¢ 26,787
—Az2te 224 26,787
03 ZFAHZAH| 14,040 14,040
OF-1=\| 130,000& 9 »12& 14,040
04 WSS xH| 13,920 13,920
Og2H 13,920
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M sgI)I=d ZEAAA
By SN2 AAY (SIS EEARL)
ch: QA2 A (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
- 140,000 1H x 12 1,680
— A 130,000 6 H *12& 9,360
—-Jl=8=0l|at 120,000& x2H x 123 2,880
05 ZEFIHI 23,072 23,596 A524
OCE=H 230,720,000 /122 120% 23,072
06 JFAHXIAHI 38,531 39,404 AB73
OF-F={0:| 230,720,000 *16.7% 38,531
07 HII2 4| 12,818 13,109 A291
OCE=H 230,720,000 /128 1/30%20 12,818
09 RIAHAZZXE=S 18,713 16,681 2,032
Ote.=Rd 17,278
-3 32,3903 253 8,195
-3 8,194,670& /128 »400% 2,732
— A2t g 6,070& x15A 2tx12& 1,093
- P == 8,194,670 *10% 820
- xt=sg 32,3903 x15 486
-5 32,3902 104 3,369
- 5dZ2f=E 48,5803 x 12 583
ogI=d3 1,435
- REZ 17,278,000& *4.5% 778
- NEBE2YZ 17,278,000& *1.3% 225
- MHEER 17,278,000& *2.5% 432
203 YRE=FY| 3,360 3,360 0
02 FRAItHRFEY| 360 360 0
O A A& FH| 360
04 BENM2IIRFLEH 3,000 3,000 0
OEXEEAHAFA 250,000& ~12& 3,000
204 XA 23,160 23,160 0
01 HMSHSAHAY 1,800 1,800 0
OFE S, 150,000 1 x 122 1,800
02 Hs=2xHl 16,560 16,560 0
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SN sYIlEE TEoRA
M U A (5YIIEE EETL)
chol: ol 2| (5 &2

A BB ER(E) - HRAY - BAS Aro B 2t
0l &
Oo¢ 2 250,000 18123 3,000
O% A 155,000 «6H 122 11,160
OJls8=s 105,000 18123 1,260
OJIs102 95,0003 1H«12& 1,140
03 SZYR-HE =4 4,800 4,800
OtHel g =l 50,000 x8Z 123 4,800
=&l 14,913 14,800
224l 14,913 14,800
201 ZBH2EH| 4,383 4,300
01 AtE2teldl 4,383 4,300
OJl==8Hl 1,998
OJIZ2=&Htl 2,385
202 O4dl 10,530 10,500
01 SLHAHbI 10,530 10,500
O=3UHbl 10,530
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e EE-PIEL NI P
HE: ObsY BT

ct

Pl Dt=SSHEHE P

L RE-E

- SHRI(EAH) - NEAY - BE=

20
B
2

sgJl=d Otsg3a 871,914 907,433
s 143,000
S 728,914
Olsg¥ 337 432,533 416,314
[ 143,000
= 289,533
Ot=sSSTHEH + 114,302 129,909
Ots224 65,973 60,868
201 gt 61,973 56,868
01 AtR2 3,920 3,980
Og gt 3,500
ou= 420
—AIEAHE 40,0003 «7H 280
- 20,0002 +7& 140
02 =329 58,053 52,888
OZ23R= 23,579
-&Ilz 9,572
- | 2,345
- 1,485
C 3, 2,772
; 2,970
RPNE=P| 65,0003 *22 130
—-Fg3etd 2l el 50,000& * 12 50
- 60,000& * 12 60
- 5,500& 122 66
RAR=PN} 51,000& %12 51
=J| 20,0002 122 240
- ¢l
725,000& /1 #1238 %11 9,570
- &3 60,0003 *35 *23] 360
-5 1,200,000 1A 1,200
-8 800
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A SII= Otsd7A
g =g 3stA
el Ol=sSSMH A2

_ _ _ Muo
SNBSS - HRAY - BHES Aboy e 2
NsSAEEZ 500,000& *13] 500
SIEE= 300,000& 12| 300
—HojotM 2|l = 100,000& *12& 1,200
- SFMNERE S 280
NEE2Z 110,000& *23| 220
s 30,0003 *23] 60
oozt 10,068
SpgE 4w
1,645 x512| EH *120 10,068
OAl&Z = XYl 21,606
-4 ¢ AMES /A 2cld
1,897& 1,233m 2,340
-SIARXN ¥ SFH 4,000
- A&J|0| R 200,000 *108 2,000
- Xot+==2H =Xl 1,200,000 = 1CH 1,200
—HI&EMI| 7Y 300,000 = 1CH 300
- J|& 2= FHl || 600, 000& *1CH 600
- &d==A4 |XHl 470,900& x12& 5,651
—-=240] |X 22l 2,315,0002 = 1CH 2,315
—ZFH 2 MR KX
200,000 =10CH 2,000
-2 F3t == 600,000& 23| 1,200
OXt& & B 2,800
-Ags= 2,800,000& *1CH 2,800
405 XH&HF SHI 4,000 4,000 0
01 XML EESHSHI 4,000 4,000 0
Olts =271 4,000, 000& *1CH 4,000
ZTSH L M I g 20,000 19,000 1,000
207 Ao 20,000 19,000 1,000
03 AlE& 3l 20,000 19,000 1,000
O0t=Z&s4d & MHHAIE 100, 0002 *120a 12,000
Oll=Z&=s4d S43 & 500,000& *108 5,000
OASHE #& IS
200,000 *15a 3,000
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o9 DHSSEH AP (chel: &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
=& gA L MAH| A2 28,329 34,391 N6,062

101 214 d| 22,329 19,391 2,938
10 JI2ZtHIZ2EXNSE S 22,329 19,391 2,938
OAMEZHEOIZR! 39,880& x4H « 120 19, 143
O=20dZ2, 12888 , MIEE=
38,374,000 x8. 3% 3,186
207 AR INEHI 6,000 15,000 A9,000
03 A& 2HI 6,000 15,000 A9,000
O=24 & 3I2A 29 100, 000& *30a 3,000
OZAUIAA Al 2 =X
150,000& 105 *23] 3,000
Ols&tdosH 318,231 286,405 31,826
g 143,000
= 175,231
ZEA MH £ JIEHE s 19,261 18,862 399
101 Q14| 9,261 8,862 399
10 JI2ZtHIZ2E2XNSES 9,261 8,862 399
OsJHSEEH 43,6803 x1H «212 9,261
207 AR 10,000 10,000 0
03 A& HH| 10,000 10,000 0
Ostgdole4s AF2MEH]
100,000 x20= x53| 10,000
&= 22| L 2IOX S 12,970 12,543 427
101 1A H| 9,970 9,543 427
10 JIZHZ22XANSES 9,970 9,543 427
OAEZHEOoIF! 39,880& x5H 50 9,970
207 AR INEHI 3,000 3,000 0
03 A& b 3,000 3,000 0
O0ts Jlsd 22&EH 150,000& 105 *23] 3,000
NEHARI|EE XL (OFsHPR) 286,000 255,000 31,000
g 143,000
= 143,000
401 AIEHIZL=204H] 286,000 115,000 171,000
g 143,000
& 143,000
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e EE-PIEL NI P
HE: ObsH B0

CHol: DS E0I8e R (crel: &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ofl At ot Hws2
01 A& 286,000 115,000 171,000
Obts®RA JI2 & ZREA A A
= 286,000
—oRA AE XF A 191,600
= 95,800
< 95,800
- AE 2E A 38,000
= 19,000
= 19,000
—JI| 2t Z A 50,000
= 25,000
< 25,000
- & Al 6,400
= 3,200
< 3,200
HHSHAY (A2 OHseTL) 439,381 491,119 A51,738
ol e | 407,475 458,819 A51,344
olzte oAl 407,475 458,819 A51,344
101 Q124 385,795 434,679 148,884
01 JI=3 193,262 228,105 34,843
O 179,222
- 140, 164
Lot 3,203,500+ 12 122 38,442
- AAL 2,119,200 *42 122 101,722
ST 39,058
.83 1,627, 4002 2 * 122 39,058
oF24y 179,222,0002 / 128 *47%+23] 14,040
02 g 58,644 59,935 A1,291
OF sy 34,438
-tEay 7,200
eV 40,0008 6% * 12 2,880
b B 20,0002 182 » 122 4,320
P UEET e 2,002
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2M: sglI=d 0lsd324A
o HHSAAH(52IISH OsepL)
o9l ol 2| Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
- EBst(12X) 51,400 x1H *43| 206
st (23AXl) 50,310& x1H 43| 202
DNESWZX) 420,790 *1H x4 3| 1,684
- &2 3 6,600
- 250 &t 130,000& x1H 122 1,560
- 20801 & 110,000 1« 128 1,320
- 15 0 &t 80,000& x1H x12& 960
- 100l & 60,000& x3H «12& 2,160
- 5E 0| A 50,000& x1H 128 600
-E2RE 3,960
A 50,000& x5 x12& 3,000
= 40,0003 x2H x12& 960
- RY 4,800
S 80,000& x5H «12& 4,800
- otM 2| &S 120
e SorA 10,0003 *1H x12& 120
-Asi2Ed =1 960
- 1BUHE AKX 40,0003 x2H x12& 960
-HRsRI 4,746
S EES 6,568,300 *4 . 8%+ 12& 3,784
Ils& 1,669,800 *4 . 8%*12& 962
-DHIRAAS 50,000& x1H 128 600
- S22 40,0003 x7H x12& 3,360
OxzU22E 24,206
- A2t 224 24,206
03 HMZAH| 10,920
O ZH 130,000 7« 12& 10,920
04 NS =xH| 10,800
OEZH 10,800
-2 140,000& x1H =122 1,680
— A A} 130,000& x4H = 12& 6,240
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M. HYSHHH(sYII=2 Ol=dRA)
chol: o2l olt| (eH9l: 22
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
-J|=s82 120,000 »2H «12& 2,880
05 Y&ESIHHI 17,923 21,120 N3,197
OEZH 179,222,000 /12 *120% 17,923
06 JHAHKXI & HI 29,931 35,270 AN5,339
OZ=H 179,222,000& *x16.7% 29,931
07 HSItEAHH| 9,957 11,733 N1,776
Oz H 179,222,000 /128 x1/30%20 9,957
09 RIAHAZ=ZXES 54,358 50,556 3,802
OH=L2]8 % 50, 191
-== 32,390& »3Y *253 24,585
-&02 24,584,010 / 12& *400% 8,195
-2 8,194,670 *10% 820
- A2+ 6,0703 *3H x15A 2tx 12 3,278
-AXEH 32,390 x3H « 15 1,458
-4 32,3903 *3H x 104 10,106
-5e22E 48,5803 x3H 12 1,749
OgHE=REZ 4,167
-3 RE3 50, 191,000& x4 .5% 2,259
-1E288= 50,191,000 *1.3% 653
- NTIHEEE 50, 191,000& *2.5% 1,255
203 YRE=ZFH| 3,320 3,320 0
02 HIAJAHRFF=XH| 320 320 0
OEAFEPNPIPSES Sl 320
04 ENSIHLRFZAHI 3,000 3,000 0
Obts=dH 74 250,000& x12& 3,000
204 XA 18,360 20,820 A2,460
01 AMIHIFHAH| 1,800 1,800 0
OXZ 150,000& x12& 1,800
02 HZEZXH| 12,960 14,820 A 1,860
O&zE x| 12,960
- 250,000& x1H *12& 3,000
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A IR OtsgFA
M NS AAL(SYI|SY BHsARL)
o9l ol 2| (29 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
— A A 155,000& »4H 122 7,440
-Jls8a 105,000 2 x 122 2,520
03 SHYR+-HEZH 3,600 4,200 A600
Oouaresl 50,0003 x6H «12& 3,600
Jl=&4l 31,906 32,300 A394
Jl=3dd| 31,906 32,300 A394
201 B2 I 22,546 22,900 A 354
01 AtR2cldl 22,546 22,900 A354
OJlZ=8Hl 1,776
OJI2=&tl 2,120
Oo=d=+¢ 18,650
-229Y 52 25X 50,0002 *12%2202 11,000
- Eyd=Z 30,0003 »1H x2552 7,650
202 O4dl 9,360 9,400 A40
01 =LAl 9,360 9,400 240
OJl=20dHl 9,360
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D SYIIEE HAHERA
CHAESE I s

A MAsS L HETHEHA R

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES Ol AF o8 HwsZ
=9 WAL 1,004,004 1,058,515 A54,511

s 62,000
[ 942,004
AYEESI|EMHY 473,209 531,100 57,891
=) 62,000
[ 411,209

HASE L HETHHHA R 199,258 164,108 35,150

MARE L Magsa o 48,094 61,243 A13,149
101 o124t 21,256 21,266 A10
10 JIZtH22NSES 21,256 21,266 A0

OLXZF2200L 39,8802 x1H«180L 7,179
OgFsteAzC 2R 39,880 x 1 » 120 4,786
OsJIHSHILE A2t
43,680 x1H 180! 7,863
OR0I3, DZEE AWEER 1,428
201 L2yl 17,088 15,227 1,861
02 332 17,088 15,227 1,861
OelZH 9,788
-SHSLR24 (1) 1,64591 %1192 x50L 9,788
OAEZHIKXIHI 7,300
—otRAANAE R XY 150, 0008 *24 S * 13 3,600
—HAMYH(2EIILANREBEHE)RA
200, 000& *15CH 3,000
- 2L e AIE 24 2 XY
700,000 * 15 700
207 SARINLH] 9,750 24,750 A 15,000
03 AlE& 3l 9,750 24,750 A 15,000
OAlt 50,0002 x40% 2,000
O=xt 250,000& 158+ 13l 3,750
Os X 100,0002 x40 *13] 4,000

AeAMA U2 L EA2pe A7 34,026 35,571 A1,545
101 o124t 6,413 5,726 687
10 JIZHM22UEES 6,413 5,726 687

OgdFstAze| R 39,880 x 1 »150 5,982
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SN sIIEY WAATL
M WABE|SHY

Crol: HASE U oA bl el CLE-ED
A BB O(B) - NEAY - BAS Of o e Hl R =2
O=30d3 NEEE MHBER 431
201 eIy 17,863 10,345 7,518
02 2224l 17,863 10,345 7,518
Od =zl 13,463
—HIgotRA=2ZD]
11,6453 1202 *34 . 1Lx2H 13,463
OAlE&bHIs XYl 4,400
- s HSFdl 200,000& *8& 1,600
- sJ| A =&l 350,000 =8LCH 2,800
207 Sl PoNEL 9,750 19,500 £9,750
03 AlE&2Hl 9,750 19,500 A9,750
OAl 50,000& 405 2,000
O=xt 250,000& *15& *13] 3,750
O=XHH 100,000 & *20& *23] 4,000
MLrd12dg 117,138 67,294 49,844
201 eI 57,138 47,894 9,244
01 AtE2teltl 5,900 5,900 0
Oget=gH| 5,000
— et & =EH| 4,000
- &dEZst=X 7| 100,000 *10& 1,000
o1l =l 900
—HRRAIUF 100,000& x9H 900
02 =329l 47,838 38,494 9,344
OZZQIUMA 24,166
-8z 5, 110 » 180kwhx* 12 11,038
— XS XA 40,0003 x23| 80
—&lletdae| =2 135,000& * 123 1,620
—SAMEREES 110,000& 22| 220
— A YOrME 3| 26,000& * 13l 26
-N3R3 90,000& »12& 1,080
-AsSiHEE=E 400,000& *1CH*13] 400
- EctHolEZ 797,500& 128 9,570
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A SI=Y MHaAHTA

PSRRI
el TH

AHESI SN
ASE L OHETHH AP

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

—RUYSAEZ 11,000& * 123 132
OAl& &bl Xt 7,000
—HIISMeldE=z 250,000& x8E *23| 4,000
SR ENPs = 300,000& 22| 600
-E8334E 300,000& *23| 600
-A=d 27122l 150,000& =123 1,800
Od =zl 13,424
—EANHERFH 1,6453 * 120 *56L 11,055
- SEA LS R F Y 1,645% 120 *12L 2,369
OAl&E &I XYl 548
- SBYHANE RN E S| 548,000 = 1CH 548
OXt&t & Bl 2,700,000& =1 CH 2,700

03 EAI2ZHI 3,400 3,500 A100
ONEsHEESIH /35 1,800,000& * 13l 1,800
OANE=sEEESIH M2 U= 800,000& 22| 1,600

401 Al&HIZ2C04YI 60,000 19,400 40,600

01 A&l 58,000 19,400 38,600
OXIct==0lEZ A& oot 20,000
e 0lBA D (HE1HA, AZ2004) 6,526
—==ZS2HIM (1) 3,135,000 101 & 3,135
- Kot R A1) 10,339
O RAsHEA 2|22 E 38,000
—StEA AIEMA 9,500,000 *4JH 2~ 38,000

03 AlZ=0Hd] 2,000 0 2,000
Ot&EA A& S 2,000
—StEA AlIdId ZAHbI 2,000

HABZIY AT 212,887 366,992 A 154,105
s 62,000
& 150,887

MMATHEHSHZ A Y SEEA 56,772 75,828 A 19,056

101 Q24| 15,391 22,902 AT,511

10 JIZtHZ2Z2NSEs 15,391 22,902 AT,511
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SN sIIEY WAATL
M HABESO| SN

SRl THASZHAATR (el &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OgFsteAze 2R 39,880& »2ZH 180 14,357
ORLHAZzZ  NEEE MMEER 1,034
201 B2 31,631 26,016 5,615
02 =29l 31,631 26,016 5,615
OdzH| 28,031
-8lstrel=24d 1,645 1202 *142L 28,031
OAl&&HI= XYl 3,600
- =MJ|R X E=H| 1,500,000 *1CH 1,500
—HIAZXMII R E2HI 300,000 *1CH 300
- SBYHANE RN E S| 900, 000& »2CH 1,800
207 AN 9,750 26,910 A17,160
03 AlE& 3l 9,750 26,910 217,160
OAl St 50,000& 405 2,000
O=xt 250,000& *15& *13] 3,750
O= Xt 100,000 *20& *23] 4,000
ML =YL M= 32,115 41,164 A9,049
101 el | 13,253 17,559 A4,306
10 JIZHH22sSEs 13,253 17,559 A 4,306
OSA TR 39,880& »1H x150Ld 5,982
O oAz 39,880& »2H »80Y 6,381
o=z, IELE MHEE S 890
201 Letd| 10,362 10,155 207
02 2224l 10,362 10,155 207
Od =zl 862
- 2AXI|REH| 1,325 6501 * 1 CH 862
OA& &= XYl 9,500
—AEIIDIKR XLl 300, 000& *15CH 4,500
—Ja2EILSEFEE FAE 4 5,000
207 Ao 8,500 13,450 A4,950
03 AlE&32dl 8,500 13,450 24,950
OLXNMHASAEZE HE 90,000& *50a* 1%} 4,500
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SN sIIEY WAATL
M HABESO| SN

ool FHABHIHH AP (S5 @)
_ B} _ SIEN
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o bRz
ODZEZEHARAEME  100,0002 *20Z =23l 4,000
WA B E A 124,000 250,000 126,000
2 62,000
= 62,000
401 Al&HI L2 OH| 24,000 36,000 A12,000
2 12,000
= 12,000
01 AI&H] 24,000 36,000 ~12,000
OM4 HEHZAIL &5 24,000
-HEHID(34) 8,000, 0002 *34! 24,000
2 12,000
= 2,000
405 RArFESH) 100,000 214,000 A114,000
2 50,000
= 50,000
R EEEET 100,000 214,000 A 114,000
OMEABIIZCUHE 4,000,000%4 *1C4 4,000
2 2,000
= 2,000
OMEEIIYT 3,000,0002 *1CH 3,000
2 1,500
= 1,500
0440125 X4+0/H 3,000, 00024 * 14 3,000
2 1,500
= 1,500
OFSI==t1-b] 4,000,00024*1C4 4,000
2 2,000
= 2,000
OaEMBHRLZ 4,000,0002 *14 4,000
2 2,000
= 2,000
OslEAIED) 6,000,000%! * 1CH 6,000
2 3,000
= 3,000
OUBEEAN S| 12,000, 00021 *1CH 2,000
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SN sYIEH WAATL
Ha: WAYESI SN
ol HABAHA AR (E+9): &2

_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
2 6,000
= 6,000
OYNUSAZ I 4,000,0002! *1CH 4,000
2 2,000
= 2,000
OEXAXM 1,000,000% *3CH 3,000
2 1,500
= 1,500
OdLre)| 5,000,000% *1CH 5,000
2 2,500
= 2,500
SR 6,000,000% #7CH 42,000
2 21,000
= 21,000
OANBARPRYEEHIRE
5,000, 00024 *2CH 10,000
2 5,000
= 5,000
48 YB35 o7 61,064 0 61,064
S8 BEEY o7 34,449 0 34,449
101 eIty 12,825 0 12,825
10 JIAH2E2NSE+ 12,825 0 12,825
OETNp- & LI 39,8802 +12§ x 1502 5,982
OoiRgeARIR 39,8802 %124 1502 5,982
022, D8LE UHSEE 861
201 L2yl 14,124 0 14, 124
EEEE 14,124 0 14, 124
ozl 13,424
—HlY5tRA 22
1,645 %1202 34L #2CH 13,424
ON&ZEIR bl 700
~NEHRTLAURHIAIAY RXES
bl 350, 00021 25 700
207 1Ll 7,500 0 7,500
03 AlEeiTg] 7,500 0 7,500
OAle 50,0002 405 2,000
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SN sIIEY WAATL
M JABESO| SN

SHol: 48 B3 o7 (S92l ®el)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Ox=Xt 250,000& *10&5*13| 2,500
O= XM 100,000& *30&* 13l 3,000
2=8F OFH MA AR 26,615 0 26,615
101 oAb 11,115 0 11,115
10 JIZtHIZ2ENSESEE S 11,115 0 11,115
OSsA L2200 R 39,880& x1&¥*100 3,988
O RotA22 R 39,880& x2H x80 6,381
O=20d2 D288 MHIEE = 746
201 B2 IH| 8,000 0 8,000
02 2224t 8,000 0 8,000
OA & EBIR X b 2,000
—ANEAHAAGHRA FAE2H|
500,000& x2S 1,000
—ZHIA AR SAE | 500,000& *x2= 1,000
ogxz 6,000
-9 THAIE S E A Xt
1,200m* x5, 000 6,000
207 A IHEH] 7,500 0 7,500
03 A& H2H| 7,500 0 7,500
OA| <t 50,000& 405 2,000
Ox=Xt 250,000& x 105 *13] 2,500
O= XM 100, 000& *305 * 13| 3,000
HH2AAH| (sHI =) WAHRA) 530,795 527,415 3,380
ol 2HH| 501,132 504,815 N 3,683
ol 2HH| 501,132 504,815 A 3,683
101 Q14 d| 474,492 478,175 A 3,683
01 JlE=s 263,560 267,472 N3,912
Oz H 243,286
- 31A 203,210
DRy 3,455, 7003 *1H x12& 41,469
- AAL 2,246,400 x6H x12& 161,741
-Jlsa 40,076
- 82 1,669,800& x2H x12& 40,076
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SA EIEH WAL
H: HYSHAY(5YIISH HAATL)
ch: QA2 A (ctel: &
SN C(BH) - NRAY - HES O] &k o8 L=t HlmE2
Oil &k o8

o&2=+¢ 243,286,000% /128 *50%*23] 20,274

02 =¢ 69,211 69,653 A442
Oz 26,741
—ANZ2H2RY 26,741
Omoisg 42,470
-ItE=g 8,880
- B A 40,0003 x9H 12 4,320
- AAEHIS 20,0003 19 122 4,560
- NESHEEY 3,984
=St (13X) 51,4003 *3Z 43| 617
DSSD(ZX) 420, 7902 x224 x43] 3,367
-FH249M3 9.840
- 25901 & 130,000& *1H x12& 1,560
- 20~25E 0] et 110,000 3 122 3,960
- 15~20 0] 8t 80,000& x3H »12& 2,880
- 10~15& 0) et 60,0003 x2E «12& 1,440
i =i = 4,200
43 50,000 x7H = 12& 4,200
-QHIRASY 50,0003 *x1H«12& 600
NS P 7,766
A 13,482,000 *4 . 8% 122 7,766
—pngeay 6.720
A 80,0003 x7E+12& 6,720
- AsH2HLEFHERE 480
C1BSUHEAX 40,000 x1H 123 480

03 ZFAHZAH 14,040 14,040 0
Og=2H 130, 0002 9 » 12 14,040

04 nE2=H| 13,920 13,920 0
Oo¢ 2 140,000 1H x 122 1,680
OHAFA 130,000& 6 H *12& 9,360
O8=0lat 120,000& «2H = 12& 2,880
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SN slEE WAARL
M S AAH (5YIISE HAUTL)
ool ol 2ol (5 &2

M- B3 a2(3]) - HRAY - a2 Abod e HDE2
05 ZESFOHI 24,329 24,728 A399
O =H 243,286,000 /12& x120% 24,329
06 JHAHIXIAHI 40,629 41,296 ABB7
O =M 243,286,000& *16.7% 40,629
07 HItEAtH| 13,516 13,738 N222
OCZE=H 243,286,000 /128 1/30+20L 13,516
09 RIAHAZ2ZXNES 35,287 33,328 1,959
Ot=L23 B 32,916
-=2 32,3903 2% x253! 16,390
-&03 16,389,340 /12 *400% 5,464
RN
6,0703 x2H x15A| 2+x 12 2,186
PN 32,3903 x 152 x2H qr2
-5 32,3903 * 104 x2H 6,738
-—sY2Rg 48,5803 x2H 12 1,166
ogI3=sd3a 2,371
-IAZI RS 32,916,000& *4.5% 1,482
-8 RY2S 32,916,000 *1.5% 494
— AN EE S 32,916,000& *1.2% 395
203 HRFZY| 3,360 3,360 0
02 HAINMYRFEHI 360 360 0
O&AJ A& 2| 360
04 EN2ILRFLEY| 3,000 3,000 0
OMAHAFA 250,000 x12& 3,000
204 X HH| 23,280 23,280 0
01 H¥SHRHAY| 1,800 1,800 0
OArE 150,000& = 12& 1,800
02 H=SE=HI 16,680 16,680 0
@), 250,000« 1H =12& 3,000
OHA A 155,000& 6 x12& 11,160
OJls8= 105,000& «»2H *12& 2,520
03 SZYRAHESHI 4,800 4,800 0
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2N SlER WAL
Mo HHSAAH (5YISE HATL)
el ol 2| (B9l &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
SFEEED 50,0002 *8% * 122 4,800
=2l 29,663 22,600 7,063
[CEE 29,663 22,600 7,063
201 Y2yl 10,383 10,100 283
01 ARzt 10,383 10,100 283
oY+ gY| 1,998
—J1248H| 2220002 *9% 1,998
o2g+g 6,000
-5 ANy 50,0002 120! 6,000
o3| 2,385
IR 265,0002 x9% 2,385
202 o1l 0,530 10,500 30
01 =Lfoid 10,530 10,500 30
01204t 1,170,000 %9 10,530
405 RAHF S 8,750 2,000 6,750
01 RULSEFHSH 8,750 2,000 6,750
OH0lZ ¥ o 7 8,750
~®XmeE 5,000,0002! *1CH 5,000
—oi48 HolZ 250,0002 * 157 3,750
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FA sEII=3 BAANSE

HE: oIS

ol U D|BHE Y (6o & 8)
_ _ _ Muo
SN EB -GS - MBAY - BES e HRE2
sYII=3 FAMAEZ 626,904 608, 119 18,785
s 10,000
= 616,904
Ea=PlIEe 238,111 214,948 23,163
s 10,000
< 228,111
&gt 118,123 98,247 19,876
s 10,000
= 108,123
AgE & o 25,942 37,108 A11,166
101 el H] 8,208 7,634 574
10 JIZHZ2 8,208 7,634 574
O&ELEUR 39,8803 x2ZH 95 7,578
O=gd= 630
201 ZEH2IH] 2,350 2,350 0
01 AtR2e 2,350 2,350 0
Ooget=&Hl 2,000
Ol =] 50,0002 +7& 350
207 A OH 13,184 9,620 3,564
03 AlIE& I 13,184 9,620 3,564
OZURAIE sl =
18,000& /1,000m *7 & *22,000m 2,772
OZ&AlIE
16,000& /1,000m x6& *22,000 ™ 2,112
O&BZAIE 13,0003 x5&5+205 1,300
ozUZ
250& 20,0002 5,000
OEL=R 28,570kg*70& 2,000
307 g212+0 200 200 0
01 22+ ZHl 200 200 0
O2 =l 20,000 10 200
405 XHeHH SHI 2,000 4,800 A 2,800
01 XA ESESFH=HI 2,000 4,800 A2,800
O4g M=DI 2,000,000 = 1CH 2,000
LT MAL LYK 72,181 36,139 36,042
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SN sIISY AN
RS EPIETEE

Chel: EDIUHEN
SN S(B) - NRAY - B2 O] &k o8 B
0l &
201 Lt 37,181 36, 139
02 232944l 37,181 36,139
Od =zl 12,283
—MAEEdY 1,325% *90 68L 8,109
—asgy 1,325% x902 350 4,174
OA&EHBIS XL 16,388
- ZAES X 1,590& 357 m’ 568
= SE NN 2,520 x298m* 751
— 22| AL X8I 3,000& =169 M’ 507
==E N}l 2,000& 598 m* 1,196
- 25 0A=E S X 2,000& 234 m’ 468
Ui V| RV E=PSE N 2,000& »324m* 648
- SFHMESARXYI 2,000& =172m’ 344
- EMEARIL 2,000& »99m* 198
-SI|HSXBI(6T) 4,500
- 2&I|R XYl 300,000 = 1CH 300
s B VN W =N 1,400,000& = 1CH 1,400
- S0MZBAIEHI = Xl 1,308
- SSoI =S L EHI R X b 1,000
-0l S A EHI 2 X Y] 1,200
-F0MNES & g2esdElRXH 2,000
OXt&Hett| 6,400
-HassEX 3,500
-=8st= 2,900
O2223LHA 2,110
- XS tHA 120, 000& 2CH 240
- NsXHEIEME=TZ2 35,000 »2CH 70
-NsIEEE 450,000 »2CH 900
-SJIBER 400,000& = 1CH 400
- AsXESdNERE S 25,0003 +2CH 23] 100
— & Arst3l | 200,000 *13] 200
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SN SRS FANSE
LRSI

ol FEIIBHEY (S5 &)
_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HIRZE2
S EEEREE 200, 000! *13] 200
401 AlEHILL 0 35,000 35,000
01 Al&H] 35,000 35,000
OSZ3iZ TH L &+ x| 35,000
K PII8E E & (BA 20,000 A5,000
2 10,000
= 10,000
401 AlSHIL 2O 20,000 20,000
2 10,000
= 10,000
01 Al 20,000 20,000
OMT H58 A 110m+109, 0002 2,000
2 6,000
= 6,000
ONF S2EE 150m+53, 3302 8,000
2 4,000
= 4,000
HASK R 119,988 3,287
YHNEESR 4,270 0
201 syl 2,770 0
01 A2l 2,770 0
OHEER=1i] 1,500
~YFIIERE DR 15,0002 * 10052 1,500
Osgy+g 570
-QFIIEDE A 65,0002 x2% 330
~YFADE HXDT AL
120,000% x2% 240
oYxz 700
~oEeIs B Xl o
350, 0002 <2CH 700
01 YsrBAZ 1,500 0
10 BAAHIZAS 1,500 0
OYFIz DIENT 3
5,000 *100% 500
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SN SRS FANSE
=L R ISPIITEES
o9 FFHASTIR (9l & 2

i
x
0

.
o
10
5
x
==
1o
0©
=]
0x
I
=
>
]2

=

R

J2H
==
£l
Ol
0

10,0002 %100 1,000
SR EEL 97,968 97,531 437
101 Q11| 52,420 49,621 2,799
BEFEEEERS 52,420 49,621 2,799
OF0AIS L SOHDRGSEAS
39,8802 *5% %2452 48,853
02012, NELH MHEEE 3,567
201 Yere ol 3,960 960 3,000
01 ARzl 3,000 960 2,040
Oget+2H| 3,000
~ARADBAB L4 50,0002 %3021 +23] 3,000
02 BB 960 0 960
OAN& YR b 960
-NsP2 A8 80,0008 * 122 960
207 PN 34,088 39,450 15,362
03 A& 34,088 39,450 A5,362
OFUASAEEX 2,200%! *50004 1,100
OF0l NAXSAENEZ 1,088
ORSOIM MAZAE ASOHE
350,008 *25 700
OS0A MATHE & 2AHE
26,5002 +830H 2,200
OSDHN ANEHE ¥ %2 1,000
O LZAAIE S0l DX 27,0002 *1,000kg 27,000
OILZAAIE JIXHIH 10,0002 10 *107H 1,000
307 LI2H0IF 7,500 7,500 0
02 SIRAFARE 7,500 7,500 0
OUBEZSI SAUX S 7,500
2SESUNE 17,750 14,900 2,850
307 QI2H0IF 15,750 14,900 850
02 SIRIHARE 15,750 14,900 850
O2SFZUN 15,750
406 JIEFXHZOIH 2,000 0 2,000
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SN
X XH .
(=

chel:

sJI=% FAANSEE

BB DE
ATASTIR

SN HB G (BH) - MRAY - BES Aro e Hlm= 2
01 JIEtRr=201H 2,000 0 2,000
OEd6id &3l 2,000
HY2IHH (s ==& &) 388,793 393,171 AN4,378
229l 377,106 380,883 N3, TTT
ol 2ZH| 377,106 380,883 N3, TTT
101 el t| 356,666 360,443 N3, 777
01 Jl== 184,795 188,652 AN3,857
OR-F=) 170,580
— 2 EHA 76,419
5= 2,961,300 1H*12& 35,536
6= 1,968,600 x 1 * 123 23,624
8= 1,438,200& »1E = 12& 17,259
-KN&H 2,488,400 x1H 123 29,861
-JIs& 64,300
8= 1,786, 1002 x3H x 12 64,300
O&EzZ=¢ 170,580,000 / 128 *50%*23] 14,215
02 =% 39,226 41,453 A2,227
OZFAHH 18,714
- &g 4,800
b < Xt 40,0003 x6H 123 2,880
A ELIS 20,0003 x8H «12& 1,920
—Z2EIet 8,280
- 259 0] & 130,000& 3 = 12& 4,680
- 154 0] & 80,0003 »3H x12& 2,880
1001 & 60,0003 x1H =122 720
-2 1,440
=3 40,0003 x3G «12& 1,440
NIEEE TP 1,434
A= 2,489,000& *4 . 8%+ 12& 1,434
-Jl=gdR=H 1,800
- 55, A A 50,000& x2H 122 1,200
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SA: SIS FANEE
BE: WHSAAH (SLINZ BAAER)
ch: QA2 A (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
= 30,0003 *1H«12& 360
- 82 20,0003 x1H~ 122 240
-Jl=gR=gI3 720
- DI A 30,000& x2H »12& 720
- AsH2dLFH SR 240
1B UHE0IAX 20,0003 1H«12& 240
Oz 20,512
— A2t 2RY 20,512
03 ZFAHEZ A 10,920 10,920 0
OCE=H 130,000 7 x 122 10,920
04 wWE2 x| 10,560 10,560 0
Ob2 140,000 1H x 12 1,680
O =IPNE=UN; 130,000 2 x12& 3,120
O8=0lat 120,000 *4H x 12 5,760
05 ZEFIHI 17,058 17,468 A410
Og=2H 170,580,0002 / 128 x120% 17,058
06 JHAHIXI&HI 28,487 29,172 A 685
OCE=H 170,580,000& *16.7% 28,487
07 SItE 4| 9,477 9,705 AN228
OCE=H 170,580,000 /128 1/30%20 9,477
09 RIAHAZZXNE= 56, 143 52,513 3,630
Ot RAE=> 51,840
-3 32,390%253 x3H 24,585
-3 24,584,010 / 12 *400% 8,195
-&A12E=H 24,584,010 *10% 2,459
—AZ2RE
6,070 x15A1 2tx3H x 12 3,278
PN 32,3903 152 x3H 1,458
-FFE 32,3903 104 3% 10,106
-sY2Ry 48,8503 x12 x39 1,759
ogIE=d3 4,303
-=0=SRE= 2,333
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SN SIS AN
M HNSAAH (SIS BAAEE)
o9l ol 2| Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
-8 32 674
MM EE = 1,296
203 YRFEH| 3,280 3,280 0
02 HIAJAHRF=EH| 280 280 0
OZX & A & &+ 280
04 RNSILRFZAHI 3,000 3,000 0
O&ALAIE & 250,000 x12& 3,000
204 XPHAH| 17,160 17,160 0
01 AMIHIFHZIH| 1,800 1,800 0
OANEEH 150,000 12 = 12& 1,800
02 HZEZXHI 11,760 11,760 0
053 250,000& x1H «12& 3,000
O63, A T At 155,000 x2H =122 3,720
0O8=0l3at 105,000& x4 x 122 5,040
03 SHERHESHI 3,600 3,600 0
O rastsH| 50,0003 x6H x12& 3,600
Jl23Hl 11,687 12,288 A 601
J|22& 4l 11,687 12,288 A601
201 2et2Ad| 3,497 3,488 9
01 AtR22ld| 3,409 3,400 9
OJl12+&H| 1,554
OPIE=r=2=1:] 1,855
02 =224l 88 88 0
OoREess 250& *35001 88
202 O] 8,190 8,200 A 10
01 =2WAbI 8,190 8,200 A 10
OJl20M bl 8,190
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